NEW YORK CITY DEPARTMENT OF TRANSPORTATION
TRAFFIC SIGNAL STANDARD DRAWINGS




INDEX SHEET (1 of 2)

FOUNDATION DRAWINGS

Typical Foundations “S-14A", “S”

[Footing Details for Types "M-2A” and "S-14A” Poles|

Foundation for Ground Mount Controller Cabinet|

18™& 21" Square Precast Slabd

'M-2” Foundation with 32" Dia. X 9" High Steel Cylinder|

Detall of Standard 2" Pipe Conduit Bend

anaar ncnor bolt Assembplies )

an

Foundation Grounding Detall

|[Conduit Installation at "EL" Column

| rm Foundation

{Accessible Pedestrian Signal (APS) Foundation

NYSDOT Region 10 Traffi

ignal Pole Foundation

TRAFFIC SIGNAL POLE DRAWINGS

[M-2A" Pole With Cast Iron Casting & 20" Traftic Signal Mast Arm
NYC Traffic S Pole "S-1a1
" Shaft Extension for "M-2A” Pol ingl Twin T
{5 172" Shaft Extension for "M-2A" Pole
nting AST in n Traffic Signal Pol

Controller Cabinet Mounting Bands tor "M-

Controller Cabinet Mounting Bands for "S-1a" Pole

2A" Pole

ype "B" Modified Poleg

[Transformer Base for Type 10 Lamp Pole|

Details for Shoe and Transformer Base for Type 10 Lamp Pole]

Alllance Downtown New Yor!

- art an ransiormer

ase

Davit Shatt Extension for "M-2A" Pole
NYSDOT Region 10 Traffic Signal Pole

MAST ARM DRAWINGS
5 :

X

ignal Mast Arm

Arrangement Drawing

m_ g

A aff !

ast Arm Assbly DraW|g

T for "S-14A" “S-1a” and “T-1" Pol

reet Light/Iraffic Signal Poles

[Traffic Signal Mast Arm Tie Rod Elbow & Signal Suspension Casting Detaill — Assembly|

(Traffic Signal Mast Arm Tie Rod Elbow & Signal Suspension Cast
raffic Signal Mast Arm Tie Rod Elbow & Signal Suspension Cast

ng Detail - "J2A" & "K2A"
ng Detail - "[2A"

b' Extension for 20’ Traffic Signal Mast Arm

raffic Signal Mast Arm for Wood Pole "MAW-15" Assembly

Mast Arm Traffic Sighal Head "R2" & Concentric Link "K2A™ Assembly|

- ole lransiormer base Detal

- ole Ancnor base -

(6]

overing

pring Nuts betal

SRR

2

T
h
(&)
(e

=)
o

|

Si=

A

i

=[Sl

P

MA-001
A-002

i

MA-007]

MA-009]

TRAFFIC SIGNAL EQUIPMENT DRAWINGS
ehicle & Pedestrian Signals Mounted on Poles

8™ & 12" Vehicle Signals
16"x16" Pedestrian Signals

ast Arm Traffic Signal Mounting Assembly "IMS" — Detalil|

[Mast Arm Traffic Signal ng Assembly "2MS" — Detai
[Mast Arm Traffic Signal Mounting Assembly "3MS" — Detall|
ast Arm _[raffic S iviounting Assemb y "4AMS™ — Detall

gnal
Mast Arm Traffic Signal Mounting Assemblies "ESMS", "E6MS"

<l
2|
=
=

|Serrated Connection for Signal Section Top|
[Serrated Connection for Signal Section Bottom|
[I1/2" Die Cast Alum. Serrated Tee Detaill
1 1/2" Die Cast Alum. Serrated Tee Detall Two Serrated Bosses|
[1-1/2” Die Cast Serrated Locking Ring Detail|
L 1/2" Die Cast Chase Nipples Details
1/2" Die Cast Aluminum Pipe Locknut
L 172" Closure Caps Detalil]
L 1/2" Pipe Nipples
ad Ties for Assemblies “SP”, “SPA”, "MS’
f Pole Signal Mounting Assemblies "1SA”, "2SPA”, "3SPA”, “4SPA"

Slipfitter Pole Signal Mounting Assemb A
pritter Pole oignal iViounting AssembDply

ipfitter Pole Signal Mounting Assembly

ipfitter Pole Signal Miounfing Assem

[Die Cast Slipfitter or Pole Mounted Traffic Signal Hea

[Die Cast Slipfitter "4S” for Pole Mounted Traffic Signal Assemblies "SPA’|
Bracket Mounting Assembly for Vehicle Signals "VB']

[Bracket Mounting Assembly for Vehicle Signals “2VB’]

Bracket Mounting Assembly for Vehicle Signals on Wood Poles "WP
Bracket Mounting Assembly for Vehicle Signals on Wood Poles "2WP'
[Pole Connections for Wood Pole Brackets “WP’]

[L20 Degree Slip ”Y” Fittind
Pedestrian Signal Mounting Assembly "VB-P
Pedestrian Signal Mounting Assembly “VB-2P’|
[Tunnel Signal Head Visors|
[Couvers =3 Degrees)|
[Couvers — 7 Degrees]
[Couvers — 14 Degrees|
[Couvers — Geometrically Programmable]
iqid Mast Arm Traffic Signal Mounting Assembly
ccessible Pedestrian Signa i

Accessible Pedestrian Signal (APS) Mounfing Information
Cord End Connector |

le Symbol for 12" Traffic Signal Cover]
Bracket Mounting Assembly for Pedestrian Signals on Wood Poles "WB-P”
Bracket Mounting Assembly for Pedestrian Signals on Wood Poles "W B-2P"

|||
=




INDEX SHEET (2 of 2)

MISCELLANEOUS DRAWINGS
[Temporary Traffic Signal Concrete Pylor]
emporary Traffic Signal Wood Pylon]
peed Sign Unit Only for American Signal Speed Sign
Speed Sign Unit for Speed Check Displays|
[School Zone Flasher Assembly]|
chool Zone Flasher on Mast Arm
verhead Sign for "M- ole|
raffic Signals on olumn
[Traffic Signals on "EL” Column Detail of Mounfing Brackef|
ush Button Pole Moun
[CCTV Equipment Mounting Defarl
[CCTV Cabinet Wiring and Service Panel Detall

rame and Cover for Type C Handbox Detai
raffic Signa racke
B~SQ. Flange Plate]
[nductance Loop Vehicle Detector Installation Detalls]
[Remote Traffic Microwave Sensor (RTMS) Installation Detalls|
EMA "R"™ Ground Mount Controller Cabinet Equipment Arrangement
[Monotube Overhead Sign Mast Arm
Wireless Sensor Equipment Layouf]
B 0

estoration Areas outside rFrolongate urp Lane

ADDITIONAL INFORMATION DRAWINGS

ignals on "M-ZA” Poles|
Decorative "M-2A" Pole|
Articulated Mast Arm Signal Installation (Spider Assemblies)|
Ig1d Mast Arm Signal Installation
ignals on "S-1a’ Poles
[Signals on Wood Poled
ccessible Pedestrian Signals
[Overhead Sign Installafion Equipment]

Wireless Sensor

School Zone Flasher Installation Equipment

O[T

>
-
AS)



POLE &
FOUNDATION

15" DIA. BOLT CIRCLE

2'-8" (SEE NOTE 2)

A

3-0"
>
I

POLE &
FOUNDATION

PLAN VIEW

2" DIA. x 6" LONG STANDARD PIPE NIPPLES

INSTALL CONDUITS AS PER
NOTE 3 AND SHOWN ON
INTERSECTION DRAWINGS.

FACE OF CURB

21" SQUARE PRECAST CONCRETE
SLAB TYPE "M" (DWG. [E=004)

STD. 2" PIPE COUPLINGS

TOP OF CURB OR SIDEWALK

-

A

N

<
>

f\

UNDISTURBED EARTH

2" CONDUIT BENDS (DWG

(4) 1"-8 ANCHOR BOLT ASSEMBLY
EQUALLY SEPARATED (DWG|F=007)

!
‘\/\,\\// A
N BN d]::;? ﬁ\“
! L :
SECTION "A-A"
TYPICAL "S-14A" FOUNDATION
(FORMERLY F-1 FOUNDATION)
(FORMER DWG LG-126S)
REVISION

03/2011

GPI| REPLICATED IN CADD

1111967

JBC| LG-126S REVISION

05/1967

JBC| LG-126S REVISION

08/1964

JBC| LG-126S REVISION

02/1964

JBC| LG-126S REVISION

o= |lon

06/1963

GS | LG-126S CREATED

NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, December 2013

NO

DATE

BY | DESCRIPTION

NOTES:

1.

3000 PSI CONCRETE TO BE USED.

FOR MIDBLOCK POLE LOCATIONS DISTANCE SHALL BE 36" FROM THE FACE
OF CURB.

INSTALL ONE EXTRA 2" BEND IN ALL POLE FOUNDATIONS THAT ARE TO
HAVE A CONTROLLER OR MAST ARM ATTACHED, OR WHEN DIRECTED BY
THE ENGINEER. THE EXTRA BEND SHALL BE CLOSED WITH PIPE CAPS.
HOWEVER, ANY FOUNDATION MUST HAVE A MINIMUM OF THREE ELBOWS.

FILL OPENINGS AROUND ANCHOR
BOLTS AND CONDUITS WITH GROUT
KEEPING TOP SMOOTH AND FLUSH
WITH TOP OF SLAB, ESPECIALLY AT
CLEAT BEARINGS.

18" SQUARE PRECAST SLAB TYPE "S"
(WG F=004)

FACE OF CURB \

INSTALL CONDUITS AS PER
NOTE 3 AND SHOWN ON
INTERSECTION DRAWINGS.

POLE &
FOUNDATION

8" DIA. CONDUIT CIRCLE

POLE &
FOUNDATION

POLE &
FOUNDATION

I
/= ﬂ

10" DIA. BOLT CIRCLE

CLEAT FOR POLE (TYP.)

PLAN VIEW

4.3/4"

STD. 2" PIPE COUPLINGS

2" DIA. x 6" LONG STANDARD
PIPE NIPPLES

TOP OF CURB OR SIDEWALK

4" MIN.

//\\\K UNDISTURBED EARTH

2" CONDUIT BENDS EQUALLY
g SPACED (DWG

SECTION B-B

(3) 3/4"-10 ANCHOR BOLT ASSEMBLY
EQUALLY SPACED (DWG E=017)

TYPICAL "S" & "T" FOUNDATIONS FOR "S-1a" AND "T-1" POLES

(FORMER DWG LG-170S)

REVISION

34-02 QUEENS BLVD

DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
L.I.C.,N.Y.11101

TYPICAL FOUNDATIONS "S-14A","S" & "T" FOR

3 | 03/2011 | GPI| REPLICATED IN CADD "S-14A". "S-1a" AND "T-1" POLES
NEW YORK CITY | 2 | 0111968 |JBC| REVISED SLAB ADDED NOTE
B <8 B | ' | 07197 [J5C| LG-1705 REVISION SCALE: | OLD DRAWING NO. DRAWING NO.
====== | 0 | 08195 |ADB| LG-170S CREATED 1= 10" LG-1268 £.001
I W B |[NO| DATE |BY | DESCRIPTION LG-170S




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, December 2013

NOTES:

wn =

oo

A

VARIES, SEE STANDARD FOOTING TABLE

-

POLE @

| 2-0"MIN. (FOR _|

SHALLOW
FOOTINGS ONLY)

2'-8" (SEE NOTE|9

w FOUNDATION ¢

450

VARIES, SEE STANDARD FOOTING TABLE
NO.4 BARS AT +6" TOP AND BOTTOM
(WHERE SPECIFIED)

POLE & FOUNDATION G&

15" DIA. BOLT
CIRCLE

(WHERE SPECIFIED)

NO.4 BARS AT 6" TOP AND BOTTOM

PLAN VIEW

2" PIPE NIPPLES
8" LONG

TOP OF FOUNDATION

TOP OF CURB OR SIDEWALK

(SEE NOTE 7) *\

I ’ / /
NEA
ANSANN
/// {/

7

w e /

- a9
2 SN

= e

O]

b4 No. 4 REBAR a
g MAX 6" OFF-CENTER <

(@]

w

VARIES, SEE STANDARD

TYPICAL CROSS-SECTION SHOWING

METHOD OF PREPARING FOUNDATION

FOR PRESENT POLE INSTALLATION

CONCRETE SHALL BE 3,000 PSI TEST CONCRETE

CONCRETE SHALL BE POURED AGAINST UNDISTURBED EARTH

FOOTINGS OVER EXISTING SUBSURFACE STRUCTURE SHALL BE FOUNDED DIRECTLY ON THE
ROOF OF THE SUBSTRUCTURE WITH NO INTERMEDIATE LAYER OF SOIL.

WHERE REQUIRED, ¢ OF POLE MAY BE OFFSET AS SHOWN IN PLAN VIEW IN DIRECTION OF
REFERENCE CURB LINE ONLY.

CAP UNUSED NIPPLES AND PLUG OTHERS WITH OAKUM AND SEAL.

LOCATE DOOR OF TRANSFORMER BASE AS DIRECTED BY ENGINEER.

SIDEWALK FINISH TO BE IN ACCORDANCE WITH STANDARD SPECIFICATIONS OF NEW YORK
CITY DEPT OF TRANSPORTATION.

/ FACE OF CURB

INSTALL CONDUITS AS PER
NOTE 11 AND SHOWN ON
INTERSECTION DRAWINGS.

21" SQUARE PRECAST CONCRETE SLAB
TYPE "M" (DWG. F-004). INSTALL OVER
STUD BOLTS BEFORE NEW CONCRETE
SETS. FILL ALL HOLES IN SLAB WITH
GROUT. (FURNISHED BY CONTRACTOR)

(4) 1 1/4"-7 ANCHOR BOLT ASSEMBLY
(DWG F-007) (SEE NOTE 8)

ROADWAY

/// 3 UNDISTURBED EARTH
7

—

2" CONDUIT BEND (DWG F-006)
OR AS PER SPECIFICATIONS.

3" MIN. COVER (TYP.)

STANDARD FOOTING TABLE

STANDARD PLAN SIZES IN FEET AND INCHES FOR

TWO MAST ARMS & TWO LUMINAIRE

M-2 OR M-2A 5-0" MIN. DEPTH 3'-0" MIN. DEPTH 2'-0" MIN. DEPTH
POLES WITH ’ WITH REINFORCEMENT | WITH REINFORCEMENT
ONE MAST ARM & NO LUMINAIRE o oo o
ONE MAST ARM & ONE LUMINAIRE 3(;\(,');2;)) 5(-'32%2;)4 7(;\(,');;;;
ONE MAST ARM & TWO LUMINAIRES
TWO MAST ARMS & NO LUMINAIRE 4040 7-0'x7-0" 8-9"x8-9"
TWO MAST ARMS & ONE LUMINAIRE (M2-5T) (M2-3T) (M2-2T)

"STANDARD FOOTING TABLE" NOTES:

1. USE ABOVE "STANDARD FOOTING TABLE" UNLESS OTHERWISE DIRECTED BY THE ENGINEER.
2. NUMBERS IN PARENTHESES DESIGNATE TYPE OF FOOTING.

TOP OF CURB OR SIDEWALK

CONCENTRIC WITH ANCHORAGE

SCORE A 2' SQUARE AREA

TOP OF FOUNDATION

STD. 2" PIPE PLUGS IN ALL
CONDUITS (GREASE)

(4) 1 1/4"-7 x 1-3/4" LONG
HEX HEAD BOLT (GREASE)

ROADWAY

(SEE NOTE 7) *\

>/ ‘/ ‘/
\/\\/
UNDISTURBED EARTH JV/X//\/\

No. 4 REBAR
MAX 6" OFF-CENTER

8. FOR MODIFICATION OF STANDARD ANCHOR BOLTS FOR INSTALLATION IN SHALLOW
FOOTINGS; ALL COLD BENDS SHALL BE UNIFORM AND A MINIMUM RADIUS OF 10 INCHES.

9. FOR MIDBLOCK POLE LOCATIONS DISTANCE SHALL BE 36" FROM THE FACE OF CURB.

10. REBARS SHALL BE USED WITH SPREAD FOUNDATION ONLY, PLACED NO MORE THAN 6"
OFF-CENTER TO FORM PERPENDICULAR LATHING PATTERN.

11. INSTALL ONE EXTRA 2" BEND IN ALL POLE FOUNDATIONS THAT ARE TO HAVE A CONTROLLER
OR MAST ARM ATTACHED, OR WHEN DIRECTED BY THE ENGINEER. THE EXTRA BEND SHALL
BE CLOSED WITH PIPE CAPS. HOWEVER, ANY FOUNDATION MUST HAVE A MINIMUM OF THREE

ELBOWS.

<

s

N

(DWG [F-007) (SEE NOTE 8)

—

13

<
4
a

3" MIN COVER (TYP.) f SEE NOTE 11.

TYPICAL CROSS-SECTION SHOWING

METHOD OF PREPARING FOUNDATION

FOR FUTURE POLE INSTALLATION

! (4) 1 1/4"-7 ANCHOR BOLT ASSEMBLY

Y \¥ 2" CONDUIT BEND (DWG F-008))

h v OR AS PER SPECIFICATIONS.

REVISION

34-02 QUEENS BLVD

DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
L.I.C.,N.Y.11101

FOOTING DETAILS FOR

TYPES "M-2A" AND "S-14A" POLES

NEW YORK CITY | 2 | 0222011 |GPI| REPLICATED IN CADD
B <8 B | ' | 05/197 [ADB| ADDED TYPE OF FOOTING DESIGNATION SCALE: ]| OLD DRAWING NO. DRAWING NO.
====——= = | 0 | 1211966 |ADB| LB-1028S CREATED .

———— 112" =10 LB-1028S F-002
I W B |[NO| DATE |BY | DESCRIPTION




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

1. LOCATION FOUNDATION MUST BE APPROVED BY NYCDOT.

2. ANCHOR BOLT PROJECTION ABOVE FOUNDATION SHALL BE 3-1/2" TO 4-1/2"

3. CONDUIT PROJECTION ABOVE FOUNDATION SHALL BE 1" TO 4"

4. CONTINUOUS TINNED COPPER GROUNDING WIRE SHALL BE CONNECTED TO
EACH ANCHOR BOLT WITH BRONZE GROUNDING CONNECTOR BEFORE
CONTINUING DOWN TO THE GROUND PLATE

5. SHALL COMPLY WITH NYCDOT SPECIFICATION 46C UNLESS NOTED

© ! | - [ ]
s _
> / i ' P T = 4 \
o o f L . ‘ "4 . ‘ ‘ . .
o ) & ‘@ = Il | :2@, i
R -] 1 al <l
r—0% 0. (s w—
. . < =
TRAFFIC TRAFFIC AIREXAAST - —— RIEPSR. S e °
:%if?o Q . Q. Qf_fffj
. ] la 4 g
o | 3@-53. R ] :“a@ '
= T4 S v
° ° | . 1 L1,
o o B 5
o . % |5
('R w
EIS
% E - 40 3/4" -
48"
PLAN
6' OF SIZE 4 AWG SINGLE STRAND
TINNED COPPER GROUNDING (4) 3/4"-10 ANCHOR BOLT
ABOVE FOUNDATION. CONNECT ASSEMBLY WITH DOUBLE
i . GROUNDING WIRE TO GROUNDING BREAKAWAY ROD COUPLINGS.
N a POINT. (bwWG E-nnd)
| ¥
2 B } aile I
- . a L .
o BACK VIEW |D] ) < 4
44-1/2" - ’ 49 .
e — . N
[ : | d
SIDE VIEW FRONT VIEW 4 :
i: & % ! <
~ ] : A .
S <
) E 4.
+ o = v —
BRONZE GROUNDING CONNECTOR 4 - o < T
. UL LISTED FOR UNDERGROUND USE ) A °. | |
40-3/4 (ONE PER BOLT) A DT AR " —| Y
BOTTOM VIEW 2" ELBOWS WITH DOUBLE BREAKAWAY
COUPLINGS (DWG F-006) 48"
(2 PCS IN EACH DIRECTION) — -
SECTION 1" CONDUCTIVE
npn npn 28"x46"x1/4" GALVANIZED STEEL CONCRETE
NEMA "P" AND "R" CABINETS GROUNDING PLATE INCASED IN
CONDUCTIVE CONCRETE CABINETS FOUNDATION
NOTES:
REVISION DEPARTMENT OF TRANSPORTATION

BUREAU OF TRAFFIC OPERATIONS

34-02 QUEENS BLVD L.I.C.,N.Y.11101

FOUNDATION FOR GROUND

MOUNT CONTROLLER CABINET

NEW YORK CITY

BB <8 BB | ' | 09201 [GPI| RePLICATED IN CADD SCALE: | OLD DRAWING NO. DRAWING NO.
====== | 0 | 042011 | N/A| GROUND MOUNT CABINET CREATED 34" = 10" F.003
I W B |[NO| DATE |BY | DESCRIPTION




(3) 7/8" DIA. HOLES FOR ANCHOR
BOLT ASSEMBLIES EQUALLY SPACED

7/8" DIA. SEMI-CYLINDRICAL
GROOVES FOR DRAINAGE

(3) 2" CONDUITS EQUALLY SPACED
(NOT PART OF PRECAST SLAB)

—_

18"

A
!

3" 12" 3"

A
!

10" DIA. B.C.

BOLTS

8" DIA.

CONDUITS

12
18"

NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

OPENING
OUTLINE OF POLE BASE
PLAN
N 312" (TYP) 45° CHAMFER
- +’ - ALL AROUND
] I I - —
ol b L a2,
L 2" MESH - #6 GA. WIRES
SECTIONAL - ELEVATION "A-A"
18" SQUARE PRECAST SLAB - TYPE "S"
(FORMER LG-169S)
REVISION
NOTE:
1. 3000 PSI CONCRETE TO BE USED.
2 | 03/2011 |GPI| REPLICATED IN CADD
1 01/1968 |JBC| CONDUIT SLOTS 2 3/8" WIDE
0 | 08/1965 |ADB| LG-169S CREATED
NO| DATE |BY | DESCRIPTION

(4) 1 1/2" DIA. HOLES FOR ANCHOR

BOLT ASSEMBLIES EQUALLY SPACED

1" DIA. SEMI-CYLINDRICAL
GROOVES FOR DRAINAGE

7

A

21"

15" DIAM.

BOLT CIRCLE

— 1 —

Ao

15"
21"

OPENING .
™
Y Y
OUTLINE OF POLE BASE
PLAN
2" MESH - #6 GA. WIRES
9" DIAM. HOLE
:1 45° CHAMFER ALL AROUND
N % {
o
‘ I
2
SECTIONAL - ELEVATION "A-A"
21" SQUARE PRECAST SLAB - TYPE "M"
(FORMER DWG LG-62S)
REVISION DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.I.C.N.Y.11101
3 | 0312011 | GPI| REPLICATED IN CADD 18" & 21" SQUARE PRECAST SLABS

NEW YORK CITY [ 2 | 031963 | AC | LG-62S REVISION :
B 8 B | ' | 07958 | JC | LG62s REVISION SCALE: OLD DRAWING NO. DRAWING NO.
=== | 0 | 08195 |JBC]| LG-62S CREATED 112" = 10" LG-169S F-004
I W B |[NO| DATE |BY | DESCRIPTION LG-628




(4) 1 1/4"-7 ANCHOR BOLT ASSEMBLY WITH DOUBLE
BREAKING RODS COUPLING (DWG E=007)

UPPER PART OF COUPLING FLUSH

WITH TOP PART OF CYLINDER 10 GAGE STEEL

. SPARE CYLINDER

21" SQUARE PRECAST CONCRETE SLAB TYPE "M"

32" DIA. x 9" HIGH #10 GAGE STEEL
CYLINDER. SEE DETAIL ‘A’

A ] |

>

‘ PLAN
'// //'// //'// //'// //\ | - a- //'// //'// //'// //'/K
S ININNININGY B IR ~>/>\//>\//>\/?>\//>\//>\//>\//\,. sUTT WD
UPPER PART OF COUPLING FLUSH 4 4?_ ' 4.' . Y |
WITH BOTTOM PART OF CYLINDER : g4 .:’].: | I
e T 2" CONDUIT | |
n 4 ) 4 -_q ‘a o ‘ ‘ >
R | |
, ¢ a | |
| !

ELEVATION DETAIL ‘A’

M-2 FOUNDATION WITH STEEL CYLINDER
(FORMER DWG LB-14634S) 32" DIAMETER X 9" HIGH STEEL CYLINDER
(FORMER DWG LG-7Sb)

REVISION REVISION DEPARTMENT OF TRANSPORTATION

NOTE: BUREAU OF TRAFFIC OPERATIONS

34-02 QUEENS BLVD L.I.C.,N.Y.11101

1. FOR DETAILS ON M-2 FOUNDATION, SEE DWG|F-002.

"M-2" FOUNDATION WITH 32" DIA. X 9" HIGH

NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

3 | 03/2011 | GPI| REPLICATED IN CADD STEEL CYLINDER
NEW YORK CITY 2 | 0111971 | JV | REVISED AND REDRAWN
1 03/2011 | GPI| REPLICATED IN CADD - ‘ - 1 02/1963 |HSc| LG-7Sb REVISION SCALE: OLD DRAWING NO. DRAWING NO.
0 [ 082008 | JH | LB-14634S CREATED (SUPERSEDES LG-108S) _—= 0 | 111962 | MF | LG-7Sb CREATED NTS. LG-7Sb F-005
NO| DATE [BY| DESCRIPTION I W B |[\O| DATE |BY | DESCRIPTION LB-14634S




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

STANDARD TAPERED THREAD ON BOTH ENDS

9 3/4"

STANDARD 2" STEEL PIPE BEND (GALVANIZED)

REVISION

DEPARTMENT OF TRANSPORTATION

34-02 QUEENS BLVD

BUREAU OF TRAFFIC OPERATIONS
L.I.C.,N.Y.11101

DETAIL OF STANDARD 2" PIPE CONDUIT BEND

5372011 |61 | REPLICATED IN CADD SCALE: | OLD DRAWING NO. DRAWING NO.
0111962 |JBC| LG-97-S CREATED = 1gr LG-97- £.006
DATE | BY | DESCRIPTION




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

1 1/4"-7 HEXNUT \[D]

LOCK WASHER
OCKWASHER ———— o 1

—

|

‘

B

WASHER
&
>
1 1/4"-7 STUD BOLT, FULLY THREADED "
‘ I
A
1 1/4"-7 HEX BOLT COUPLING, FULLY THREADED "
= —
-
|
=
3}

w
~
N
*

ASSEMBLY "B"
(4 REQUIRED PER POLE)
FOR "M-2A" POLE

NOTE:

1. HEXBOLT COUPLINGS SHALL BE GREASED OR ANTI-SIEZE COMPOUNDED

1"-8 HEX NUT \D:D
|

LOCK WASHER T Ty

=
—
j ‘
WASHER

!
1"-8 STUD BOLT, FULLY THREADED / ‘L
I
A
1"-8 HEX BOLT COUPLING, FULLY THREADED / ‘ '
% T
=
I
.
o
‘
E::zi —1
ASSEMBLY "C"

(4 REQUIRED PER POLE)
FOR "S-14A" & STREET LIGHT POLES

3/4"-10 HEX NUT

,_
[}
o)
=
2
>
1)
I
m
Pyl

o

WASHER

3/4"-10 STUD BOLT, FULLY THREADED

3/4"-10 HEX BOLT COUPLING, FULLY THREADED

= %m%é, - l}%

3/4"

TLN

3" 73/4"
~ I

1-6 1/2"

ASSEMBLY "D"

(3 REQUIRED PER POLE)

FOR"S-1" & "T-1" POLES

REVISION

DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS

34-02 QUEENS BLVD L.I.C.,N.Y.11101

STANDARD ANCHOR BOLT
3 | 0322011 | GPI| REPLICATED IN CADD ASSEMBLIES "B", "C" AND "D"
NEW YORK CITY | 2 | 1211967 |xX.| LG-104S REVISION :
B 0 BB | ' | 021964 [XX ] LG-1045 REVISION SCALE: | OLD DRAWING NO. DRAWING NO.
=== | 0 | 061963 | GS | LG-104S CREATED . g
= e — 11/2"=1-0 LG-104S F-007
I W B |[NO| DATE |BY | DESCRIPTION




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

#8 NON-INSULATED STRANDED

TRAFFIC CABLES

COPPER GROUNDING
| STRAP
|
|
“/ SPARE

K-2C STUD

CONTINUOUS #12 NON-INSULATED
TINNED COPPER CONDUCTOR

NI
NN K
NI
0

’ \
-4 <9 \— 2" CONDUIT

GROUNDING DETAIL FOR RETROFIT
(FORMER DWG LB-14005S)

K-2C STUD

CONTINUOUS #8 NON-INSULATED
TINNED COPPER CONDUCTOR

NI,

KK

NI

N

. |
G

#8 NON-INSULATED STRANDED

TRAFFIC CABLES

BONDING BUSHINGS ON CONDUIT

{

T i \
: \
4 SR \
T 2" CONDUIT

GROUNDING DETAIL FOR NEW INSTALLATION

REVISION

DEPARTMENT OF TRANSPORTATION

34-02 QUEENS BLVD

BUREAU OF TRAFFIC OPERATIONS
L.I.C.,N.Y.11101

FOUNDATION GROUNDING DETAIL

B <8 BB | ' | 037011 [GPi| REPLICATED IN CADD SCALE: | OLD DRAWING NO. | DRAWING NO.
======= | 0 | 11/2004 [ JH [ LB-14005S CREATED
N.T.S. LB-140058 F-008
NO | DATE | BY | DESCRIPTION
| A A




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

"EL" COLUMN

2" PIPE, AS PER CONTRACT,
WITH ENTRANCE CAP OR
WEATHERHEAD ON TOP
(LENGTH OF PIPE VARIES)

INSULATING JOINT

CONCRETE GUARD

TOP OF SIDEWALK
OR ROADWAY

2'-0" MAX.
e

2" STEEL
PIPE

STEEL

REAM COUPLING AND CUT DOWN

PVC DUCT TO FIT. CEMENT ALL
AROUND WITH MINIMUM COVERING
OF 2" FOR FULL LENGTH OF PVC DUCT
AND COUPLINGS

COUPLING PVC DUCT
/

STEEL
COUPLING

e

EDGE OF COLUMN BASE

¢

PVC COUPLING FOR
2" DUCT

CONDUIT INSTALLATION AT "EL" COLUMN

REVISION

DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.I.C.,N.Y.11101

CONDUIT INSTALLATION AT "EL" COLUMN

NEW YORK CITY | 2 | 032011 | GPI| REPLICATED IN CADD — e e
B B | 1 | 101962 [JC.[ LG-15SREVISION : : :
=== | 0 | 0811956 ¢LERK LG-15S CREATED 412" = 10" LG58 £.009
I W B |[NO| DATE |BY | DESCRIPTION




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, December 2013

VARIES

, SEE FOOTING TABLE

GALVANIZED
TIES

—— 5/8" NON
COATED
REBAR

w 3 2" CONDUIT
- F
aQ £ 2
= o > C =

Z w
2l 33
= 8 a j
O =5
2 > - =
w
w
[0}
o
w C = =
14
<
>

[ x CURB FACE
G FOUND. AND POLE
5/8" COPPER CLAD GROUNDING ROD PLAN
2" CONDUIT / 5/8" COPPER CLAD GROUNDING ROD
UPPER PART OF COUPLING FLUSH WITH il PRECAST SLAB VARIES,

TOP PART OF CYLINDER

UPPER PART OF COUPLING FLUSH
WITH BOTTOM PART OF CYLINDER

24" SQUARE CYLINDER \

(2) 5/8" REBAR

GALVANIZED TIES

(3-4) ANCHOR BOLTS
ASSEMBLY VARIES,
SEE FOOTING TABLE
(SEE E007 & J-3788)

3,000 PSI MONOLITHIC
POUR CONCRETE,
INCLUDING CYLINDER

(4) 5/8" NON COATED /

REBAR

SEE FOOTING TABLE

(SEE

| [T
| Tl
[
3" " |
— 12" o
i -

INSTALL CONDUITS
AS PER NOTE 1
AND SHOWN ON
INTERSECTION
DRAWINGS.

VARIES, SEE FOOTING TABLE

6" DEEP CONDUCTIVE
CONCRETE

ELEVATION

POLE TYPE FOUNDATION | BOLT CIRCLE | PRECAST SLAB| ANCHOR BOLT
SIZE DIAMETER TYPE ASSY.
TYPE "S-1a" POLE 2x2'%5' 10" 18" SQUARE 3/4" DIA. (ASSY "D")
STREET LIGHT POLE 2x2'X5' 15" 21" SQUARE 1" DIA. x 44" LONG
TYPE "S-14A" POLE 2x2'%5' 15" 21" SQUARE 1" DIA. (ASSY "C")
TYPE "M-2A" POLE 3X6'X5' 15" 21" SQUARE 1 1/4" DIA. (ASSY "B")
TYPE "M-3" POLE 3%9'%5' 15" 21" SQUARE 1 1/4" DIA. (ASSY "B")

NOTES:

1. INSTALL ONE EXTRA 2" BEND IN ALL POLE FOUNDATIONS THAT ARE TO
HAVE A CONTROLLER OR MAST ARM ATTACHED, OR WHEN DIRECTED BY
THE ENGINEER. THE EXTRA BEND SHALL BE CLOSED WITH PIPE CAPS.
HOWEVER, ANY FOUNDATION MUST HAVE A MINIMUM OF THREE ELBOWS.

REVISION

DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS

34-02 QUEENS BLVD L.I.C.,N.Y.11101

COASTAL STORM FOUNDATION

GALVANIZED TIES

T 1022013 |GPI| REPLICATED IN CADD SCALE: | OLD DRAWING NO. | DRAWING NO.
0_| 022013 | DR | NYCDOT CREATED 34" = 10" £.010
NO| DATE_|BY | DESCRIPTION




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

(FACING CURB SIDE)
FACE OF CURB

12 3/4" ANCHOR
BOLT CIRCLE

3/8" REBAR

(EXISTING 4'x4' CONCRETE FLAG)

4" DIA. x 48" LONG PEDESTAL POLE

STEEL FLANGE BASE

3/8" REBAR

w 3/4" CONDUIT

TYPICAL 2'x2' FOUNDATION

NOTES:
1. FOOTING IS FOR SHALLOW DEPTH INSTALLATION ONLY.

2. FORTYPICAL 2'x2' FOUNDATION, DRILL HOLES IN EXISTING CONCRETE
AND INSERT 3/8" REBAR PRIOR TO POURING CONCRETE.

3. MONOLITIC 4'x4' FOUNDATION DOES NOT NEED REBAR.

4-0"
I
‘ 28"
m
a m
%) o
g 3
-] w
O o
V] w
P4 o
Q =
iy
‘B: A== === === By
12 3/4" ANCHOR
BOLT CIRCLE
‘ (NEW 4'x4' CONCRETE FLAG)
I
.
Y i ]
VIEW "B-B"
TYPICAL 4'x4' FOUNDATION
REVISION DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.1.C.,N.Y.11101
ACCESSIBLE PEDESTRIAN SIGNAL (APS)
FOUNDATION
NEW YORK CITY SCALE: OLD DRAWING NO DRAWING NO
_—= 0 | 0422012 | GPI| REPLICATED IN CADD {r=10" E-011
I W B |[NO| DATE |BY | DESCRIPTION




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, December 2013

MAST ARM LENGHT (ft) [ "A" (ft) [ "B" (ft)|"C" (in)
25'TO 35' 7 3 15
40' TO 50" 8 3-1/2 18
g
-— VERTICAL REBAR
"B"-6
FOUND.
2 & POLE

g

HORIZONTAL REBAR
SHALL OVERLAP 6" MIN.

"gn_g"

FOUND.
& POLE

€

(&x
\. v /\‘;/\ |
S

OUTLINE OF POLE SHAFT

~—— OUTLINE OF POLE BASE

(E FOUND.
& POLE

PLAN

OUTLINE OF POLE BASE

A

|

TOP OF FOUNDATION

| — (4) 2" DIAx 81" LONG ANCHOR BOLTS,
1 FULLY GALVANIZED

f REBARS
NOTES:

ANCHOR BOLTS, NUTS AND WASHERS SHALL COMPLY WITH ASTM 307 STANDARD.

/ 1.

WHEN REQUIRED, IT SHALL BE 40,000 PSI AND COMPLY WITH ASTM 615 STANDARD.
VERTICAL REBAR LENGTH SHALL BE "A"-1 FEET. HORIZONTAL REBARS SHALL BE

VERTICALLY SPACED 12" OFF-CENTER. ALL REBARS SHALL BE SIZE 5 (5/8" DIAMETER).
REBAR CAGE SHALL BE CENTERED IN THE FOUNDATION.

ELEVATION

2. REINFORCEMENT IS NOT REQUIRED FOR POLES SUPPORTING MAST ARMS UP TO 35'.
o

2"-11 1/2 x 12" LONG THREAD

12"

,) —
T —— \?mm]? ﬁ'\

2"-11 1/2" x 2" HIGH HEX NUT

2" SPLIT LOCK WASHER

2" FLAT WASHER

2"-11 1/2" x 12" LONG STUD BOLT,
FULLY THREADED

2"-11 1/2" x 6" LONG HEX COUPLING

f 6"x6"x1" PLATE

—J

ANCHORBOLT DETAIL

(4 REQUIRED PER POLE)

3. CONDUITS SHALL BE 2" OR 3" AS PER ENGINEER. INSTALL ONE EXTRA BEND IN ALL POLE REVISION DEPARTMENT OF TRANSPORTATION
FOUNDATIONS THAT ARE TO HAVE A CONTROLLER OR MAST ARM ATTACHED, OR WHEN BUREAU OF TRAFFIC OPERATIONS
DIRECTED BY THE ENGINEER. THE EXTRA BEND SHALL BE CLOSED WITH PIPE CAPS. 34-02 QUEENS BLVD L.I.C..N.Y.11101
HOWEVER, ANY FOUNDATION MUST HAVE A MINIMUM OF THREE ELBOWS. i

NYSDOT REGION 10
TRAFFIC SIGNAL POLE FOUNDATION
NEW YORK CITY SCALE: OLD DRAWING NO DRAWING NO
=== 0 | 112013 | DR | CREATED 1/2" = 10" F-012
I W B |[\O| DATE |BY | DESCRIPTION




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

A
‘ r\
L _
SEE DETAIL "F"
TIE ROD FINIAL, ‘
SEE DETAIL "D" ON .
DWG SEE DETAIL "E!

I

*

N

SEE DETAIL "G" ON DWG |P-001_2

ON DWG|P-001_2

ON DWG|P-001

(2) 5/8" DIA. X 21'-6" LONG LOW ALLQOY - HIGH STRENGTH
STEEL TIE RODS (NOT IN CONTRACT)

4'-9 5/8"+

15"+

\
\\
\

14'-8 13/16"+

13-0 1/2"+

12"+

(2 PIECE WRAP
AROUND CASTING)

!

'

(444 AN\

29"+ DIA.

FRONT ELEVATION

APPROX. WEIGHT OF BASE CASTING
(BOTH HALVES): 300 LBS.
SCALE: 3/8"=1"-0"

\

MAST ARM 3" STANDARD LOW ‘
ALLOY - HIGH STRENGTH STEEL
PIPE (APPROX. 20'-0" ALONG CURVE)
(NOT IN CONTRACT)

CABLE

CABLE OUTLET
65'-0"+ RADIUS

MAST ARM CAPITAL
SEE DETAIL "C"

APPROX. 6 15/16" ACROSS FLATS AT BOTTOM OF CASTING
(APPROX. 7 1/2" ACROSS ROUNDED CORNERS)

OCTAGONAL STEEL SHAFT (LOW ALLOY HIGH
STRENGTH STEEL) 8 1/2" ACROSS FLATS AT
BOTTOM OF SHAFT, APPROX. 9 3/16" ACROSS
ROUNDED CORNERS (0.14" TAPER PER FOOT)
(NOT IN CONTRACT)

MIN. 15'-7"+ FROM FINISH GRADE (WITHOUT DEFLECTION)

REFERENCE DRAWINGS:

M-2 MAST ARM ARRANGEMENT DRAWING MA-007
M-2 MAST ARM ASSEMBLY DRAWING = === === === mmmmmmmmome o me o s A0S
M-2 MAST ARM DETAILS OF PARTS - -- - MA-003
THE ROD ELBOW AND SIGNAL SUSPENSION CASTING DETAILS - --------- MAD04
DETAILS OF "M-2A" POLE TRANSFORMER BASE MA-008
"M-2A" POLE ANCHOR BASE-BOLT COVER AND SPRING NUTS DETAILS - - - -

NOTES:
1. BASE COVER ORNAMENTAL CASTINGS FOR THE "M-2A" SHAFT SHALL BE
CAST IRON.

CONTRACTOR TO CAULK
TOP OF BASE IN FIELD

BASE COVER EXTENSION
SEE DETAIL "B" & NOTE 2

BASE COVER
SEE "DETAIL A"

ACCESS DOOR
SHALL BE HINGED

Za

CABLE
-
w
<C
I
w
|
hy m
© %
) 2
“ 5
(0]
<C
=
Q
o
O]
z
=
0
x
w
STEEL TRANSFORMER

BASE (EXISTING)

EXISTING 21" SQUARE,
CHAMFERED PRECAST
FOUNDATION PROJECTING
APPROX. 1" ABOVE GRADE
(PLEASE VERIFY HEIGHT
AND WIDTH)

—

ACCESS DOOR
(18" HIGH X 12" WIDE)

=

TRAFFIC SIGNAL ASSEMBLY
(NOT IN CONTRACT)

2 PIECE (WRAP AROUND)
CAST IRON ORNAMENTAL
BASE COVER

(4) 1" HALF ROUND DRAINAGE
NOTCHES LOCATED 90 DEGREES
APART AT GRADE LEVEL

x (4) 1" HALF ROUND DRAINAGE

SIDE ELEVATION NOTCHES LOCATED 90 DEG.

SCALE: 3/4"=1-0" APART
&
&8 &
&9
o) v
< R
& &
& o
& Ny
&
& O
&
) &
o 9)
& .9
)
0(<v~ QOQ/
29"+ DIAMETER
&

25 1/2"+ ACROSS POINTS
20 3/4"+ ACROSS POINTS

!

TRANSFORMER BASE (16"+ SQUARE)

(TYPE "M-2A")
SECTON A-A
SCALE: 3/4"=1'-0"
REVISION DEPARTMENT OF TRANSPORTATION

BUREAU OF TRAFFIC OPERATIONS

34-02 QUEENS BLVD L.I.C.,N.Y.11101

"M-2A" POLE WITH CAST IRON CASTING

& 20' TRAFFIC SIGNAL MAST ARM

2. CAPITAL TIE ROD FINIALS & POLE TOP FINIALS SHALL BE ALUMINUM.

3. BASE COVER EXTENSION TO BE OMITTED ON "M-2A" POLE WITH N.Y.C.
TRAFFIC CONTROLLER CABINET.

T 1 052017 |GPI| REPLICATED IN CADD SCALE: | OLD DRAWING NO. | DRAWING NO.
0 | 0311993 | CH | LD-106S CREATED AS NOTED LD-1065 P.001 1
NO| DATE_|BY | DESCRIPTION




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

9 15/16"t
5/16" DIA. OCTAGONAL
THROUGH HOLE “ ~
33/4" J‘
e W)
m \ 5/16"-18 TAPPED

3) 1/4"- 20 TAPPED
E—Ig‘)LES AT 120 DEG. HOLES (1 PER LUG)

.
[

DIA.

2 3/8"

12 3/16"+

17/16"

’ \J
TIE ROD ARM FINIAL 1 Y ;

DETAIL D 5‘7 111/8" + DIA.
| NOTES:

5 112 DIA 2 PIECE WRAP BASE EXTENSION
~ DETAIL B 1. ALL ORNAMENTAL CASTINGS FOR THE "M-2A" SHAFT (BASE COVER,
10 1/4" £ DIA. CAPITAL, TIE ROD FINAL, POLE TOP FINAL, ETC.) SHALL BE CAST IRON.
‘ 2. BASE COVER EXTENSION TO BE OMITTED ON "M-2A" POLE WITH N.Y.C.
1 TRAFFIC CONTROLLER CABINET.
POLE TOP FINIAL

r
13/4"t DIA.

4 3/4"+

12" 1/8"+

10 1/8"+

i
FINIAL FLOWER "t
DETAIL G A
“ g;' 51/2"+ DIA.
; -
7 95/16" + DIA. (:% 3;/§'BLGGTAPPED HOLES
1/2"-13 TAPPED HOLE
(1 PERLUG)
12 1/4" + “
\ ] :g
5/16"-18 TAPPED HOLE
T + (1 PERLUG)
(4) 3/8"-16 TAPPED Z‘g
HOLES AT 90 DEG. >
\ . b Ul -
o
\ 8 7]
A Y 3/8"-16x10" LONG SQUARE OR
\ ] ‘ : HEX HEAD THROUGH BOLT
l § (1 1/2" THREADED)
=) v
T OCTOGONAL
N\
E'{ \ 8 1/2" + OCTAGONAL
L‘] Y
! - BOTTOM PORTION OF POLE TOP FINIAL 2 PIECE WRAP AROUND CAPITAL
DETAIL E DETAIL C
29 5/8" + DIA.
2 PIECE WRAP BASE ACCESS DOOR DETAIL REVISION DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
DETAIL A 34-02 QUEENS BLVD L.I.C.,N.Y.11101
"M-2A" POLE WITH CAST IRON CASTING
& 20' TRAFFIC SIGNAL MAST ARM
NEW YORK CITY .
B 4 B | ' | 052011 [GPI| REPLICATED IN CADD SCALE: ]| OLD DRAWING NO. DRAWING NO.
=== | 0 | 031993 | CH | LD-106S CREATED . g
== 11/2" =10 LD-106S P-001 2
I W B |[NO| DATE |BY | DESCRIPTION -




41/2"0OD

8'-6" CONSTANT TAPER

10'

P

BY

RIBS, 1 PER CORNER
PER SECTION G-G, AND
3 PER SIDE SECTION H-H

0.156" WALL 6063-T52
ALUM ALLOY

STAINLESS STEEL
HINGE WITH

(6) 3/16" STAINLESS
STEEL RIVETS

A-356-T6 CAST ALUM
ALLOY PERMANENT
MOLD BASE

4043 378

Y

8 1/2"x9 7/8"x13 1/4" REMOVABLE
DOOR, A-356-T6 CAST ALUM ALLOY
PERMANENT MOLD 3/8"

A33706, 3/8" THICK GROUNDING PAD
WELD IN CENTER OF SIDE WALL
(ALONG 1" EDGE ONLY) AND

DOSSERT #TGC-8-50-88NT-SN GROUND
STUD WITH BRONZE LOCKWASHER

1/4"-20 ST. STEEL SOCKET
HEAD CAP SCREW

FRONT VIEW OF BASE AND POLE

N.T.S.

13 5/8"

(FOR INSIDE DOOR LATCH)

AN

L TO BE VOID OF ALL SHARP

EDGES ON OUTSIDE OF BASE

NOTE:

COLOR 595B #26373

NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

o -
G| T
b
|
|
TOP VIEW OF BASE AND POLE
N.T.S.
REVISION
2 | 0512011 | GPI| REPLICATED IN CADD
1 | 1012004 | JH | REVISED HINGED DOOR
0 | 0711980 | ML | 10174S CREATED
NO| DATE [BY| DESCRIPTION

SHALLOW
REINFORCING
RIBS AT SIDES

amvamuuns®

DEEP

REI

NFORCING

RIBS AT CORNERS

SECTION C-C

N.T.S.

D

e

5/32

1.  THE NAME OF THE MANUFACTURER.

SECTION A-A
N.TS.

e

SECTION D-D
SCALE: 6" = 1-0"

ADAPTER PLATE
REMOVABLE
DOOR

11 7/16" DIA. OPENING

IN ADAPTER PLATE

SECTIONEE
SCALE: 6" =1'-0"

2. SHALL BE POWDER COATED WITH GRAY FED

21/8"

SECTION G-G
SCALE: 6" = 10"

MINIMUM TELESCOPE 41/8"
OF SHAFT - 1" — -—
SLOTTED HOLE e 23/8" |
21/2"x1/2" STEEL BAR o
GALVANIZED ‘ |1 1178" ! | ‘ P
T T T | &
4043 | I | -
‘i | B| | ﬂ 1 &
~ N
NYC NAME (SEE NOTE 1) AND | ! |
YEAR OF MANUFACTURER
TO BE STAMPED ON PAD \ \
DETAIL OF ANCHOR CLEATS
SCALE: 6" = 1-0"
11/16"
[——————————————
Y -
N P
A NN\
AN
STANDARD ANCHOR BOLT 114"
ASSEMBLY (3 REQD. PER [y p—— ’¢ o
POST) STANDARD STUD BOLT =~ © ~
3/4" DIA., NUT AND PLAINWASHER 5/8" |
HEX. BOLT COUPLING AND — - - 12
3/4""L" BOLT (TO BE SUPPLIED BY ﬂ ’47
THE DEPARTMENT OF TRANSPORTATION) BOTTOM VIEW OF RIBS
SECTION F-F SCALE &= 1.0
ANCHOR CLEAT SCALE: 6" = 1'-0"
3REQD
(SEE DETAIL)
% v “ R1/8" +70
10" DIA. BOLT CIRCLE s #
Q;\\‘b %,
SECTION H-H SECTION J-J
SCALE: 6" = 1-0" SCALE: 6" = 10"
ADAPTER PLATE-A 356-T6 REVISION DEPARTMENT OF TRANSPORTATION

SECTION B-B
N.T.S.

CASTALUM. ALLOY BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD LIC.N.Y.11101
11716 DIA- OPENING 4 | 0522011 | GPI| REPLICATED IN CADD -
3 | 1011970 | PC | REDRAWN AND REVISED NYC TRAFFIC SIGNAL POLE "S-1a

NEW YORK CITY | 2 | 121966 |ADB| REMODIFIED TRANSFORMER BASE

B 8 B | ' | 051985 [N/A| MODIFIED TRANSFORMER BASE SCALE: | OLD DRAWING NO. | DRAWING NO.

===== = | 0 [ 0511965 |DSH| LD 68S CREATED AS NOTED LB-101748 0,002

I W B |\0| DATE [BY | DESCRIPTION LD-68S




FOR TWIN ARM CONSTRUCTION
WHERE REQUIRED

EXISTING BOLT 1/2"-13x1". ALL 4 BOLTS ARE TO
BE PLACED TO THIS POINT PRIOR TO
INSTALLATION OF CAP. AFTER CAP IS IN PLACE,

4 BOLTS SHALL BE TURNED ALL THE WAY IN.
(3) 1/2"-13 TAPED HOLES AFTER GALV

Q

TOP OF WASHER

NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

+0.040 —
5422.9.000 9/16" DIA )
B = (4) HOLES SINGLE ARM 90° TWIN ARM 180° TWIN ARM SEFROCF'{E;BED,L’B:"NOGL%'Q&'EEEEST
CONSTRUCTION CONSTRUCTION CONSTRUCTION ’
o
I ~ - LOOSE WASHER
ORIENTATION OF SEE DETAIL "B"
WELD IS OPTIONAL DETAIL OF EXISTING CAP INSTALLATION INSTRUCTIONS FOR SHAFT
. RELOCATED TO THE TOP EXTENSION FOR "M-2A" POLE
X I : %
@ C C © STD POLE PLATE AS PER OF SHAFT EXTENSION THE PROCEDURE SHALL BE AS FOLLOWS:
o o SECTION C-C STREET LIGHTING STD SCALE 1 1/2" = 1'-0"
SCALE 11/2"=1-0" DWG # E-3728 MILD STEEL . o 1. PLACE SECURE TEMPORARY CLAMP UNDER
' o ps TOP TRAFFIC POLE CLAMP "D2" AND "B2".
| 1 1/4" DIA HOLE IN POLE PLATE & o 2. REMOVE "B2" HALF CLAMP FACING SIGNAL.
" TOP OF EXISTING o ~ 3. RELEASE LOAD FROM POLE BY MOVING BACK
\ 1 1/2" DIA HOLE IN SHAFT EXT TRAFFIG POLE E LC
4) \ ROUNDED EDGES. (HOLES TO BE . CLAMP "D2" AND CROSS ARM TOGETHER WITH
CONCENTRIC) TIE RODS ETC. SUFFICIENTLY TO PERMIT
‘ — SHAFT EXTENSION TO SLIDE ON (USING
SV%TE'NT‘#%US A SUFFICIENT RIGGING).
! (TYP.) 4. SLIDE SHAFT EXTENSION IN PLACE AND DRIVE
G D) . DOWN TO TOP OF TEMPORARY CLAMP.
; IR B o 5.  RELAX BACK CLAMP "D2" AND CROSS ARM
MODIFIED TYPE 6-0"x7"-6" BRACKET 3 4 A A h & TOGETHER WITH TIE RODS ETC. TO ORIGINAL
z ARM AS PER STREET LIGHTING STD 4 @ POSITION.
s DWG # J-3951 (N.I.C.) o 6. REPLACE HALF CLAMP "B2" FACING SIGNAL
s ——— PLATE TO BE .f S D2 il Bo AND TIGHTEN BOLTS SECURELY MAKING SURE
e MOUNTED FLUSH T Y Y SHAFT EXTENSION IS SQUEEZED TIGHT
et AGAINST SHAFT RELOCATED EXISTING CAP USING © AGAINST.
3 EXTENSION EXISTING S.8. BOLTS z 7. REMOVE TEMPORARY CLAMP UNDER "D2" AND
< = " "B2" AND ALL OTHER RIGGING.
©
BOLT BRACKET ARM TO SHAFT 3 DETAIL "A" IN NO WAY SHALL THIS TRAFFIC POLE BE
EXTENSION WITH (3) 1/2"-13 MACH. DISTURBED EXCEPT AS SPECIFIED ABOVE
& SCR. 1 1/2" LONG WITH LOCKWASHERS SCALE 11/2" = 10" :
(N.L.C.)
= SLIDE SHAFT EXTENSION ) auufs;
< IN BETWEEN EXISTING .
& % D2 2 TRAFFIC POLE AND CLAMP NOTES:
o A 7 by
= v 1 1. MAT'L OF SHAFT EXTENSION: LOW ALLOY HIGH
STRENGTH STEEL, CORTEN, NAX, MAYARI, OR
END OF SHAFT EQUAL.
> DETAIL "A EXTENSION 2. HARDWARE: FURNISH 4 WASHERS ( DETAIL "B")
WITH EACH SHAFT EXTENSION, MAT'L: AL-6061
OR AL-1100.
| EXISTING CLAMPS ON TRAFFIC POLE 3. FlgléSH: SHAF; EXTE(;ISION ANDCI;'—’OLE PLATE
SHAFT FOR MOUNTING TRAFFIC MAST ASSEMBLY TO BE HOT-DIPPED GALV. AFTER
ARM FABRICATION.
an SECTION A-A 4, NO HARDWARE OTHER THAN THE 4 WASHERS
< Az LICc2 SOALE 1 12 = 10" IS REQUIRED WITH EACH SHAFT EXTENSION.
5. N.LC.: NOT IN CONTRACT. L.E. NOT FURNISHED
WITH SHAFT EXTENSION.
6. FOR ALTERNATIVE TO DETAIL "A", SEE DWG
J-5255.
ASSEMBLY VIEW SINGLE ARM 7. FOR 15 1/2" SHAFT EXTENSION SEE DWG P-004.
DO NOT WELD
THIS AREA SCALE: 1/2" = 10"
3/8" DIA. HOLE
FOR GALV.
\ / 5/16" THICK .
i . TOP OF WASHER
a
i & s
~ 1 [
® .
~ = &
! ! ) °
\ REVISION DEPARTMENT OF TRANSPORTATION
118" Y BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.I.C.,N.Y.11101

6.360+0'040
- -0-000 | 172" 7' SHAFT EXTENSION FOR "M-2A" POLE,
' ' 11213 UNC-28 SINGLE & TWIN TYPES
2 | 052011 | GPI| REPLICATED IN CADD
ELEVATION OF SHAFT EXTENSION DETAIL "B" ﬁ\(oxc: 7T 112006 | %) | REDRAWN FROM BUR_ GAE. DWG. H5159 SCALE: | OLD DRAWING NO. DRAWING NO.
SINGLE ARM TYPE SCALE: 6' = 10" ====—= = | 0 [ 031973 | cP [ 14347S CREATED AS NOTED LB-14347S P-003
SCALE 112" = 10" I W B |\O| DATE |BY | DESCRIPTION




97/8"

— SIMPLEX PLATE

6 3/4" OCT

A
!

6 1/4"

31/2"

3/4"

L 9/16" DIA. HOLES

(4 REQ'D)

\>/ %,

LOWER SLEEVE

7
Q.
@,

PLATE 5/16"x4 1/2"
BENT AS SHOWN

IDENTIFICATION

oD

STAMPED IN PLATE

5/8"

NYOVAL 2003 ——

\

L SPACER PLATE

17"

ELEVATION

151/2"

!

!

,ﬁ EXTENSION SHAFT
v

N

va Y A A S S S S S S S S S— 4

n

]

S

NN

NN

NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

LOWER SLEEVE

(4) 1/2"-13 UNC x 1" LONG HEX.
HEAD STAINLESS STEEL BOLT

AND LOCK WASHER

SECTIOND-D

41/4"

61/2"

212"

!

\:E €00Z TVAOAN
97
=

1/2"-13 UNC TAPPED
HOLES (4 REQ'D)

SIMPLEX PLATE

3D VIEW
N.T.S.

SECTION A-A

6 1/4"

SECTION B-B

7 1/4"

[\__ 1 1/4" DIA. WIRING ACCESS —1
HOLES (EDGES DEBURRED
Y INSIDE AND OUT)

1

15/8"

Hlo

(3) 9/16" DIA. HOLES
TO MATCH HOLES IN
SIMPLEX PLATE

21/2"

qm

SPACER PLATE

3/4"

SECTION C-C

11/2" DIA. HOLE
ROUNDED EDGES

6 1/4" OCT

8 3/8"

1/4" THICK

;/\
N

5/8"

, ey

N
N

6 3/8" OCT. INSIDE

& 1/2"-13 UNC
3 TAPPED HOLES
) (4 REQD)
& EXTENSION SHAFT
i A |
NOTES:

N

MAT'L STEEL STEEL ASTM A36.
2. SHAFT EXTENSION TO BE HOT DIPPIED GALVANIZED

CAP

AFTER FABRICATION TO ASTM A123.
3. FOR 7' EXTENSION SEE DWG P-003.

REVISION

DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.I.C.,N.Y.11101

15-1/2" SHAFT EXTENSION FOR "M-2A" POLE

T 1 052017 |GPI| REPLICATED IN CADD SCALE: | OLD DRAWING NO. | DRAWING NO.
0 | 1172006 | NJ | LC-524S CREATED 3= 1" LC-524S P.004
NO| DATE_|BY | DESCRIPTION




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

TRAFFIC
SIGNAL POLE

SIGNAL POLE

TAP POLE FOR
11/2" PIPE/CHASE NIPPLES

ENG

x

PARTS LEGEND - (ALL ALUMINUM)
CONTROLLER (FURNISHED BY CONTRACTOR)

CABINET "G"- 11/2" CHASE NIPPLE (DWG BE-009)

"H"- 11/2" X 1 1/2" LG PIPE NIPPLE (DWG BE-012)
"I"- 1 1/2" PIPE LOCKNUT (DWG BE-010)

"K" - NEOPRENE SEAL GASKET (SEE NOTE 4)

"L" - INSULATED THROAT BUSHING

"M" - TOP MOUNTING BAND (DWG P-006 OR P-007

"N"- BOTTOM MOUNTING BAND (DWG P-008 OR P-007)

PLAN
SCALE: 1 1/2" = 10"

]

. ?l

"G

K
w

DRILL 7/16" DIAM. HOLES FOR (4) 3/8" CARRIAGE BOLTS-

1 1/4" LONG WITH LOCK WASHER, HEX NUT, AND ACORN NUT
EACH (ALL STAINLESS STEEL - TYPE 304). FORCE BOLTS

INTO THE HOLES TO OBTAIN COMPLETE BEARING FOR HEADS,
FASTENERS FURNISHED BY CONTRACTOR.

TERMINAL PANEL

TERMINAL PANEL

CABINET

V.
g

SECTION "A-A"

SCALE: 1 1/2" = 1-0"

115/16"

/7 CONTROLLER CABINET
=l

SECTION "B-B"
SCALE: 11/2"=1-0"

NOTES:

1. ALL PIPE THREADING TO BE STRAIGHT MACHINE
THREADING - 11 1/2 THREADS PER INCH (CLASS 2 FIT)

2. ROUND BOTH INSIDE EDGES OF AL PIPE NIPPLES AND
CHASE NIPPLE.

3. CONNECTION STRAPS TO BE 1 1/2"x1/4" OF ALUMINUM
ALLOY 6063-T52.

4. NEOPRENE SEAL GASKET SHALL BE
21/2"0.D.x2"1.D. x 1/8" THICK.

35"

TRAFFIC CONTROL

NEW YORK CITY

TRAFFIC CONTROL

NEW YORK CITY

TRAFFIC ‘
SIGNAL POLE \ !

TOP OF SIDEWALK

TYPE 6 (15"Dx19"Wx35"H)

30"

CURB

CABINET ELEVATION
SCALE: 1"=N.TSS.

TYPE 8 (15"Dx21"Wx43"H)

ASTC CONTROLLER CABINETS

43"

N

TRAFFIC CONTROL

NEW YORK CITY

49"

}A

TYPE 12 (15"Dx21"Wx49"H)

SCALE: 1"=1-0"

CONTROLLER CABINET

REVISION

DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.I.C.,N.Y.11101

MOUNTING ASTC CABINET

ON TRAFFIC SIGNAL POLE
NEW YORK CITY
- ‘- 1 05/2011 | GPI| REPLICATED IN CADD SCALE: OLD DRAWING NO. DRAWING NO.
=== | 0 | 032007 | JH [ LB12395S CREATED AS NOTED LB-12395S 5005
I W B |[NO| DATE |BY | DESCRIPTION LG-49-S




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

1/2" IDENTIFICATION MARKS
TO BE STAMPED HERE

0
1/2"
+ | il
= "l
Y

A 3172 511/16" 8 716" 10716" | 1115M6" | 836"

B 33/8" 51/2" 8 1/8" 10 178" 11 5/8" 778"

c 314" 5" 778" 97/8" 11 378" 75/16"

D 31/8" 415/16" 7 172" 9172 17 71/8"

x SEENOTEIN 5 44160 43/8" 6 1/2" 81/2" 10" 6 1/4"
NOTES:

1. ALL BANDS TO BE FABRICATED FROM 1 1/2"x1/4" TYPE 6063-T52 ALUMINUM ALLOY
2. ALL DIMENSIONS * 1/16"

3. BAND FOR MOTOROLA BOX

REVISION

DEPARTMENT OF TRANSPORTATION

BUREAU OF TRAFFIC OPERATIONS

34-02 QUEENS BLVD L.I.C.,N.Y.11101

06/2011

GPI

REPLICATED IN CADD

02/1976

N/A

LB-1364-S

CONTROLLER CABINET MOUNTING BANDS

02/1976

N/A

LB-1363-S

FOR "M-2A" POLE

03/1976

N/A

LB-1362-S

02/1976

N/A

LB-1361-S

SCALE: OLD DRAWING NO. DRAWING NO.

o|l=INw Ao

02/1976

GS

LB-1360-S

LB-1360-S, LB-1361-S, LB-1

6" = 1-0" P-006

NO| DATE

BY

DESCRIPTION

362-S, LB-1363-S, LB-1366-§




1/2" IDENTIFICATION MARKS
TO BE STAMPED HERE

i

A 5 3/4" 7 3/4" 9 1/4" 25/8"

B 57/16" 77/116" 8 15/16" 21/2"

C 51/8" 71/8" 85/8" 25/16"

D 5 ™ 8 1/2" 2 1/4"
NOTES:

ALL BANDS TO BE FABRICATED FROM 1 1/2"x1/4" TYPE 6063-T52 ALUMINUM ALLOY

ALL DIMENSIONS * 1/16"

REVISION

DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.I.C.,N.Y.11101

CONTROLLER CABINET MOUNTING BANDS
FOR"S-1a" POLE

NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

3 [ 06/2011 | GPI| REPLICATED IN CADD
T T 021976 [NA [ LBA366-S SCALE: [ OLD DRAWING NO. DRAWING NO.
0 [ 0211976 | ov | LB-1365-S CREATED " LB-1365-S ]
6"=1-0 P-007
DATE | BY | DESCRIPTION LB-1366-S




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

TRAKFIC
CONTROL

o BOX

NY CITY

23"

N
N\

60"

31

18" DIA.

A
|

FOR REMOVAL ONLY

REVISION

DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD

L.I.C.,N.Y.11101

TYPE "B" MODIFIED POLE

REPLICATED IN CADD

SCALE:

OLD DRAWING NO.

DRAWING NO.

LG22-S CREATED

DESCRIPTION

11/2"=1-0"

LG-228

P-008




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

8 3/4"

4 3/8"

‘ 25/32" I

‘ R 5/16"

11/4"

4 5/32"

— 127/8"
Sy
& 11 19/32"
<
‘ 8 1/8"+1/32"
Q
- 5 1/4"+1/32 ‘ &
= B
o ‘
_ _ 4q‘ A R1 3/8
&
®
. = 111/16"
o +
g o
e} E —
= w

i
—
[

SEE DETAIL "A"

|

NY. CITY %
1#35

MFR'S|NAME

R15 11/1gn

| —— SQUARE HOLE TO BE

CENTERED IN ROUND
HOLE (TYP.)

<

W«od

27/16"

PLAN VIEW OF SHOE BASE

7/8"

SCALE: 6"= 1'-0"

SYMMETRICAL ABOUT (E

2 GROOVES 1/16" DEEP
EACH BOLT HOLE

1.D. DETAIL ALTERNATE
LOCATION

=

N.Y.J;ITY
1965

MFR'S|NAME

1.D. DETAIL (SEE
NPLANVIEW)
BOTTOM VIEW OF SHOE BASE
SCALE: 6"= 10"
NOTES:

1. ALL UNMARKED DRAFT TO BE 2 DEG. MATERIAL-ALUMINUM
ALLOY A-356-T6 SEMI-PERMANENT OR PERMANENT MOLD
CASTING. FINISH AS CAST. TOLERENCE UNLESS OTHERWISE
SPECIFIED TO BE #1/32." (4) 1"-8 H.D. GALV. STEEL BOLT ASS'YS.
SHALL BE FURNISHED WITH EACH SHOE BASE: BOLT DESIGN AS

| ’ DETAIL "A" SHOWN IN DETAIL.
. (4 PLACES) 2. SEE P-009_1, , AND P-009_3, FOR IDENTIFICATION
4 ~ I SCALE: 2"=1" DETAILS AND LOCATION NOTE.
PN © R , e 3. SEE DRAWING m FOR SECTION "B-B," "C-C," "D-D," & BOLT
o;@g Ne | DETAIL
L@
I
|

X l FOR REMOVAL ONLY

) THIS SURFACE TO BE

0 ’ FLAT SMOOTH AND AT

RIGHT ANGLES TO
316" VERTICAL CENTER LINE.
REVISION DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.I.C.N.Y.11101
3/8" I
— | 15/16" (REF.)
- h 3 | 0512011 | GPI| REPLICATED IN CADD SHOE BASE FOR TYPE 10 LAMP POLE
bl 7 | NEW YORK CITY | 2 | 101964 [N/A| H-5010(10) REVISION :
— 516" B 4 B | | 071963 [NA] H-5010(10) REVISION SCALE: | OLD DRAWING NO. DRAWING NO.
ﬂ % SECTION A-A === | 0 | 05193 | RP | H-5010(10) CREATED AS NOTED H-5010(10) P-009 1
SCALE: 6'= 1-0" I W B |[NO| DATE |BY | DESCRIPTION -




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

1-51/2" ‘

\ 1'-0 3/16" | o

718"

[
y 11 1/4" % .
1-0 7/8" ‘ < T T
7" OPEN | - 0 ‘LDTL‘\\
| 5 3/16"|OPEN \ w
=§ [ \
- ® . R1-5 11/1g" ~ SEE DETAIL "E" |
" mj
(S — & \
— w &
— @ 2 OPEN CAST \
o PLUS 3° DRAFT |
= ALL AROUND
©
— " s I 1/2' - 13x1-1/4" LG. ST. STL. \
% E,ﬁgﬁ);? g,SDE 5/8" | BUTTON HEAD SOCKET .
2 OF FLANGE SCREW WITH UPSET END
51/4" (4 PLACES) 5 l
% @
® u |
2 8 | |
LUG FOR ANCHOR BOLT 9 THIS SURFACE AND @ |- DOOR THICKNESS 5/32"
- 1-1/8" DIA., 4 HOLES MATING SURFACE T EXCECPT 1/4"x1" THICKNESS .
?L 51/4" CAST PLUS 3° ’ 4 5/32" REF. TO BE FLAT BORDER AROUND PERIPHERY .
POSITIONING BOSSES F DRAFT PER SIDE | |
; ‘ 8 5/16" REF.
2 7 \ TOP OF BASE ..
T - |
[
= 1/4" EDGE OF COVER NOTE X: |
| [ ~ ALTERNATE LOCATION
1=t R FOR YEAR AND |
/] N o~y MANUFACTURE'S
y % I NAME (3/16" LETTERS) l
N ~L L ~
L= o l
N %
HF 12 % |
L+ N / 4L_ .
| J . / X l
| \ N .” % T
@, "
" X N // % 1/2
o p /
J SECTION "B-B"
: . /
3 2
3 / NOTES:
o /
= | / 1. SEE DRAWING FOR SECTION DETAIL "E", SHIM DETAIL,
a8 Fl : o //// SECTION THRU POSITIONING BOSS, SECTION AND BEVELED
Zs WASHER AND IDENTIFICATION DETAIL.
///7////////// //////////// 2. MATERIAL: ALUMINUM ALLOY #A-356-T6.
TOP OF LUG TO SLOPE & ////////////////////7/////////////// 3. PERMANENT MOLD CASTING.
UPWARD TOWARD it 4. FINISH AS CAST.
CORNER 12° DRAFT 33/4" 5. ALL DRAFT ANGLES TO PARTING LINE TO BE 3 DEG.
Q‘S‘EE'ESRSE%ETYED 6. TOLERANCES ON DIMENSIONS TO BE #1/32", UNLESS
314" OTHERWISE SPECIFIED.
Eggg (L;’igc’jm F— 7. FURNISH (4) BEVELED WASHERS WITH EACH TRANSFORMER
REST OF TOP OF LUG TO BASE. WASHERS TO BE SHAPED TO FIT SLOPE OF INTERNAL
HAVE 15° DRAFT ~ LUGS.
m BOTTOMS OF LUGS TO BE LUG FOR ANCHOR BOLT SECTION C-C
PLUSDFTAS & FLUSH WITH THE
INDICATEDIN BOTTOMS OF THE SIDES. DRILL & TAP 5/16"-18 THRU
SECTION "C-C" < FOR GROUNDING STUD
3 REVISION DEPARTMENT OF TRANSPORTATION
c ‘ ' C BUREAU OF TRAFFIC OPERATIONS
q—'—[ 6 | 05/2011 | GPI| REPLICATED IN CADD 34-02 QUEENS BLVD L.I.C.,N.Y.11101
ssov ey 1 FOR REMOVAL ONLY + 011973 | A | GLARIFED BOLT LUG & SECTION 85
3/8" : : ‘ 578" :
5 3 | 0471968 |N/A | CHANGED LATCH TRANSFORMER BASE FOR TYPE 10 LAMP POLE
2 NEW YORK CITY 2 | 03/1965 | N/A| CHANGED DOOR RADII & PAD DIMENSION
NO DRAFT ON HALF SECTION "A-A" B 4 B | ' [ 017195 [NA] (4)11/8"DIA HOLES WERE 1 1/16" DIA SCALE: | OLD DRAWING NO. | DRAWING NO.
THIS SURFACE === 0 | 0711964 |JSB| H-5010(11A) CREATED 3r= 1" H-5010(11A P-009 2
I W B |[\O| DATE |BY | DESCRIPTION 1A -




113/16" £ 0.010
RANE | //1>
i <,
X e
(<o}
|
B & U
Ro» S 2 %,
oL s
2
@

1/g*

,1

+0.15"

112"

R1/32"

13/4" DIA. £.010"
SQUARE SINK ON

BOLT SHARP CORNER
AS POSSIBLE

CASTING FLAT IN THIS

ENTIRE AREA FOR
ENTIRE PERIHERY.
THIS SURFACE FLAT

!

SECTION "C-C"

SCALE: 6" = 1-0"
SEE DWG P-009 1 FOR NOTES

1/2"+ .005"

71/4"

5 3/4" CASTING HT.

\

i

[

BOLT DETAIL SHOWN IN PLACE

SCALE: 3" = 10"
SEE DWG P=009 1

REVISION

NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

-

1/8" (REF.)

ﬁ 1/8"x45° CHAMFER

R\

Rz, -

172"

1/32"

A RHIHIITITITITTTESS._|

15/16"

112"

SHOE CASTING DESIGN

1"-8 HOT DIPPED
GALVANIZED STEEL BOLT

—— TRANSFORMER BASE

HD GALV. STL. WASHER

HD GALV. STL. LOCKWASHER

HD GALV. STL. NUT,
TAPPED 1/64" OVERSIZE
AFTER GALVANIZING.

i Ri/gn
R1/32 v *
.030"
.010" STEP
SECTION B-B

SCALE: 6" = 10"
SEE DWG P=009 1 FOR NOTES

SHOE BASE

L F

& TRANSFORMER

1/32" CLEARANCE BASE
K{ | SHARP
CORNER
SECTION THRU POSITIONING BOSS

SCALE: 6" = 10"
SEE DWG P-009_2 FOR NOTES

2" LONG RIBS
ON EACH SIDE

4

3 >

= S
7,
A
(@]

SECTION DETAIL "E"
SCALE: 6" = 1-0"
MAT'L: 1/8" THK. ST. STL.
SEE DWG FOR
ADDITIONAL NOTES

.

|
I
|

118"

D
>
-
%
=X

SHIM DETAIL
SCALE: 6" = 1-0"

MAT'L" HOT DIP GALV. STL. (2)
1/8" THK. & (2) 1/16" THK.

FURN. PER BASE

SEE DWG P-009_2 ADDITIONAL

FOR NOTES

—

SN

DETAIL OF BEVELED

17/32"

NANNN\N

11/4"

21/2"

NN

WASHER
SCALE: 6" = 1'-0"

SEE DWG|P-009_2 FOR
NOTES

MAT'L : ALUMINUM

FOR REMOVAL ONLY

N.Y.CITY'

41965

1/4"

MFR'S NAME

SCALE: 1'-0" = 1"-0"

IDENTIFICATION DETAILS

LOCATED ON SIDE OPPOSITE FROM
DOOR, 1/2" BELOW TOP EDGE.

ON THE SHOE BASE, THE
IDENTIFICATION DETAILS SHALL BE
LOCATED AS SHOWN ON SHEET 10
OF 12 PARALLEL TO MAJOR AXIS OF
SHAFT BETWEEN BOLT HOLES

SEE NOTE X ON DRAWING P-009 2

AT SECTION "B-B" FOR ALTERNATE
LOCATION

5/32"
%\ )& 25/32"

9/32"R

. .

—_—

NN\\\N

1/16"

MR

1/32" R-BREAK
ALL SHARP
CORNERS

21/2"

SECTION D-D ?o

SCALE: 6" = 1-0" <

SEE DWG P=009_7 FOR NOTES - SECTION
SCALE: 6" = 10"
SEE DWG P-009 3 FOR
NOTES

REVISION

DEPARTMENT OF TRANSPORTATION

BUREAU OF TRAFFIC OPERATIONS

34-02 QUEENS BLVD L.I.C.,N.Y.11101

DETAILS FOR SHOE AND TRANSFORMER

BASE FOR TYPE 10 LAMP POLE

1 | 05/2011 | GPI| REPLICATED IN CADD B | 7 [ 052011 [ GPI| REPLICATED IN CADD SCALE: ]| OLD DRAWING NO. DRAWING NO.
0 | 0711964 |JSB| H-5010(11A) CREATED = | o | 05193 | RP | H-5010(10) CREATED AS NOTED H-5010(10) P-009 3
NO| DATE |BY | DESCRIPTION B |no| DATE [BY | DESCRIPTION H-5010(11A) -




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

41/2" OD
—— —————————————
7
<

12 1/8" _ _ _1M12'Bc._ B
= = [ T
3 ‘ | REMOVABALE AL. ALLOY POLE CAP
13/16" z, WITH (3) 1/4"-20 2x3/8" ST. STEEL
R -
93/4"
3

714"
6 3/16"

. \ \ SET SCREWS PASSIVATED.
7
%

8 RIBS 1/4" @ 43°

z
Qo
F =
e ! V. 3
© ]
) z
»n
" = 57/8"
14 172"
HALF SECTION BOTTOM VIEW -
HALF SECTION TOP VIEW Ny
6063-T6 AL. ALLOY ARM
8" 0.D. x 0.188" WALL-TAPERED 8"x4 1/2"
3 25/32" 5/16"-18 TAPPED HOLE FOR <|r
— -— STAINLESS STEEL PIANO o . GROUNDING STUD TYPE BURNDY o
OPENING HINGE WITH STAINLESS STEEL < © K2C20 OR EQUAL WITH BRONZE LOCK
A RIVETS AT TOP OF DOOR N > WASHER 13 1/2" AT CENTER OF SIDE

7/76‘1, ?‘ ‘ WALL “

i — i

6-63210-15,356-T6CAST AL. ALLOY BASE
TYPE SB-2 WITH (4) 360 CAST AL. ALLOY
BOLT COVERS

3/16" z

)

INSIDE LATCH AT 5
BOTTOM CENTER OF 1
DOOR AS PIER NYCDOT 174" 2
SPEC. #28 x
[

=)

o

20"

DOOR 8"x9|1/2"x14 1/8",

18"

14 3/16" COVER

13 11/16" OPENING

4043

12" SQUARE

1/4"

3/4"

N.T.S.

:%L - "S-14A" SHAFT
T

7
%

[ 1) ! > ! NOTES:

1/4" * 1.  SHOE BASE TO BE STAMPED "NYC 83, C-H IN 3/8"

14 7/32" 14 15/16" LETTERS PER 6-63210-11.

2. SUPPLY WITH 4 ASSEMBLIES CONSISTING OF 1"-8x4"
HEX. HEAD BOLT OVERSIZE FLATWASHER, LOCK
WASHER AND HEX NUT (ASS'Y NO.A-81420)

SECTION "A-A" SECTION "B-B"
REVISION DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.1.C.,N.Y.11101
"S-14A" TRANSFORMER BASE
NOTES: "S-14A" SHAFT AND TRANSFORMER BASE
1. ALL MATERIAL TO BE ALUM. A356-T6 NEW YORK CITY 2 | 03/2011 | GPI| REPLICATED IN CADD -
TWO PIECES WELDED TOGETHER. - ‘- 1 1012004 | JH | LC-412S SCALE: OLD DRAWING NO. DRAWING NO.
2. SEEEDM FOR FOUNDATION. ===== == | 0| 190 |NA|LC4125CREATED TS, LC4125 5010
I W B |[NO| DATE |BY | DESCRIPTION




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

ST. LIGHT ARM
(SEE STREET LIGHTING DWG #5317)

TRAFFIC SIGNAL
(NOT IN CONTRACT)

TYPE "S" SHAFT EXTENSION
(SEE STREET LIGHTING DWG #5317)

57/8"

SLIPFITTER 1SA
(NOT IN CONTRACT)

"l:
— =

25
1
|
1
e
§
LN A

~
A‘ﬁ

o)
Z L
_

T

-+
L
Ok

TRAFFIC SIGNAL @
ADAPTER FOR TYPE "P" POLE
(SEE STREET LIGHTING DWG #5316)

Ly
@gf
A~ T
)
L
7
L JL

TRAFFIC SIGNAL ASSEMBLY
(NOT IN CONTRACT)

111"

TYPE "P" SHAFT
(SEE STREET LIGHTING DWG #5316)

19'-10"

TYPE "S" SHAFT
(SEE STREET LIGHTING DWG #5317)

l !

o | o TYPE "P" POLE

REVISION DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.1.C.,N.Y.11101

ALLIANCE DOWNTOWN NEW YORK (ADNY) STREET
' LIGHT/TRAFFIC SIGNAL POLES TYPE "P" & "S"

NEW YORK CITY SCALE: | OLD DRAWING NO DRAWING NO
TYPE "S" POLE =- _‘-=
POLE === | 0| 2013 |GPI| CREATED NTS. P11
I W B |[NO| DATE |BY | DESCRIPTION




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

12'-0

DAVIT SHAFT EXTENSION, 11 GA.

SEE DETAILS "A" AND "B"
| | TRANSITION FORM OCTAGONAL

TO ROUND SHAPE

TWIN ARM DAVIT SHAFT EXTENSION
SCALE: 1/4" = 1'-0"

6.11"

‘ SECTION "A-A" '\ |
TOP OF "M-2A" POLE [
\ ‘ ) SECTION "B-B"
\ | =
J
|
|
| |
|
2 e B 1 de ch 1
®
) | )\\‘L’;
3 ‘ \/ 1/8" GAP. DO NOT WELD
—_—— e ————————————————————————
‘
‘/{ LI ‘ @/f
| | 6.36" +.04"
| \ x - -— BOTTOM OF DAVIT SHAFT EXTENSION
| \ BOTTOM OF DAVIT SHAFT EXTENSION
— SECTION "C-C" DETAIL "B"
SINGLE ARM DAVIT SHAFT EXTENSION = NTS
ON "M-2A" POLE
SCALE: 1/4" = 1'-0"
DETAIL "A" REVISION DEPARTMENT OF TRANSPORTATION
~ NTsS BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.I.C.,N.Y.11101
NOTES:
1. ALL DAVIT SHAFT EXTENSIONS SHALL BE ASSEMBLABLE. DAVIT SHAFT EXTENSION
. . FOR "M-2A" POLE
2. "M-2A POLE", MAST ARM AND TRAFFIC SIGNAL ASSEMBLIES ARE NOT PART OF CONTRACT. NEW YORK GITY :
3. FOR MORE INFORMATION SEE STREET LIGHTING DWG. J-5309B. - ‘ - 1 06/2013 | GPI| REPLICATED IN CADD SCALE: OLD DRAWING NO. DRAWING NO.
=_=== 0 2013 DR | CREATED
——— AS NOTED P-012
I W B |[\O| DATE |BY | DESCRIPTION




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, December 2013

MAST ARM PROJECTION "L"

STRAIGHT MAST ARM SEGMENT "LS"

TAPERED MAST ARM SEGMENT "R"

16"

16'-6"

14'-10" FOR 30' AND 35' MAST ARMS
14'-0" FOR 40' TO 50' MAST ARMS

“

18"

MAST ARM "E"

NOMINAL ANGLE "G"

7 GA. x 1" WIDE

BACK UP RING

o
™

SEE MAST
ARM END
DETAIL

-

g

3/16"

G MAST ARM END DETAIL

\

NOTES:

4"x6 1/2" NOMINAL HAND
HOLE WITH REINFORCED

FRAME AND COVER.

(1/2"-13 NUT WELDED TO
HAND HOLE FOR GROUND

CONNECTION)

ALUMINUM BOLT/NUT

COVER WITH STAINLESS

STEEL SCREWS

N /— POLE SHAFT "A"

/ﬁ POLE BASE PLATE

BASE PLATE/POLE SHAFT SECTIONAL VIEW

1. 3/4" THUR-BOLT ASSEMBLY SHALL BE CONSISTED OF ONE THRU-BOLT, TWO HEX NUTS,
ONE FLAT WASHER AND ONE LOCK WASHER, ALL IN STAINLESS STEEL.

———
} ! POLE SHAFT
SEE MAST ARM i i
CONNECTION DETAIL iy S - N [ | !
! I
6) 1/2" DIA. PLUG WELDS
MAST ARM SPLICE DETAIL | | O OUND EL UoH
(REQUIRED FOR 45' TO 50' MAST ARMS ONLY) =} . T ;
[
|
f ! !
" i t BACK UP
el
2|2
iz
SCHEDULE OF DIMENSIONS 5 =
<2
A" POLE SHAFT D" POLE SHAFT B"x'B" BASE |'BC" BOLT| "L" MAST ARM E'MASTARM |\ avGLE | "RY RADIUS | "LS" o5
0.D. & WALL REINFORC. O.D. & WALL | PLATE SIZE | CIRCLE | PROJECTION 0.D. & WALL olg
zZ
<|E
85/8"0D, 0.322" TH | 73/4"0D,0.375"TH  [153/4"x 153/4"| 15" 30 85/8" OD, 0.250" TH 18° 140 5 518
x| X
o
85/8"0D,0.322" TH | 73/4"0D,0.375"TH [153/4"x 153/4"| 15" 35' 85/8" OD, 0.250" TH 18° 200’ 10 el
z =)
o | =
103/4" 0D, 0.365" TH| 93/4"0D,0.375"TH |18 1/2"x 18 1/2"| 18" 40' 10 1/2" OD, 0.250" TH 15° 200' 15 ~ 2 i SEE BASE PLATE/POLE
N SECTIONAL VIEW
10 3/4" 0D, 0.365" TH| 93/4"0D,0.375"TH (18 1/2"x 18 1/2"| 18" 45' 10 1/2" OD, 0.250" TH 14° 330’ 15 ; ;M s
e =g
103/4" 0D, 0.365" TH| 93/4"0D,0.375" TH |18 1/2"x 18 1/2" 18" 50' 10 1/2" OD, 0.250" TH 13° 400 20 X fr———————c Ll \
ﬁ BASE PLATE
—————
’ 950
POLE SHAFT 8 °
POLE SHAFT "A" 7 f REINFORCEMENT "D" \/
| T~

) @ OUTLINE OF
. POLE SHAFT

/' |,~—— 21/4" DIA. HOLES
ON BOLT CIRCLE

®‘ ] o ! "BC"

g
T

\/-
~ ~.

A
!

BASE PLATE/POLE SHAFT CONNECTION DETAIL

6" DIA. x 3/8" THICK STEEL PLATE.
DRILL HOLE TO MATCH 3" SCHEDULE
40 PIPE INSIDE DIA. AND CHAMFER
SIDE FACING MAST ARM

~—~— 3" SCHEDULE 40 STD. PIPE x 6" LONG

11/2"

16"

5

el

2 1/8" MAX REINF.

/? 1/8" MAX REINF

.

1

30"

|
I
I
il
I
I
1.
| &
I
!
W—E:—:%:—:—*B‘E%
i
|
I
I
i
I
,,,,, I |
\
|
i
i
@ masT
ARM

MAST ARM CONNECTION DETAIL

\
~_

5" NOMINAL
21'-6" NOMINAL MOUNTING HEIGHT

(6) 1/2" DIA. PLUG WELDS AT 60°
GROUND FLUSH

HOLE FOR 3/4" STAINLESS STEEL
THRU-BOLT DRILLED IN FIELD TO
SUIT MAST ARM ORIENTATION.

9 3/4" 0.D. x 0.375" WALL THICK TENON FOR
40" TO 50' LONG MAST ARMS.

7 3/4" 0.D. x 0.375" WALL THICK TENON FOR
30" AND 35' LONG MAST ARMS.

REVISION

DEPARTMENT OF TRANSPORTATION

BUREAU OF TRAFFIC OPERATIONS

34-02 QUEENS BLVD

L.I.C.,N.Y.11101

NYSDOT REGION 10

TRAFFIC SIGNAL POLE

SCALE: OLD DRAWING NO.

DRAWING NO.

12/2013 | DR | CREATED

DATE | BY | DESCRIPTION

NT.S.

P-013




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

57/8"

|

200"

CAP "H2"

213/16"

202"

"KOAY

(2) 5/8" DIA . x 216" LONG .
LOW ALLOY-HIGH LaA
STRENGTH STEEL TIE RODS

\ 2 3/8"
—

_r
— ]

55/8"

13'-3 3/16"

1.8

SEE DWG MAIIIZ—2
(ELEVATION "C-C")
A"

-

ncon

"EDA"

CABLE

CABLE OUTLET

OCTAGONAL SHAFT - LOW
ALLOY- HIGH STRENGTH STEEL -
18'-5 1/2" LONG, 1/4" THICK WALL
- APPROX. 0.14" TAPER PER
FOOT - BOTTOM OF SHAFT IS

8 1/2" ACROSS FLATS (APPROX.
9 3/16" ACROSS ROUNDED
CORNERS). TOP IS 6" ACROSS
FLATS (APPROX. 6 7/16" ACROSS
ROUNDED CORNERS).

ANCHOR BASE

BOLT COVERS "N2A"

TRANSFORMER
BASE

BOTTOM OF
TRANSFORMER
BASE

APPROX. 19'-6"

reg.i

ELEVATION

MAST ARM 3" STD. LOW
ALLOY-HIGH STRENGTH
STEEL PIPE APPROXIMATELY

"J2A"

WHEN A 5'-0" EXTENSION TO THE
MAST ARM IS REQUIRED. SEE
DWG FOR DETAILS. (SEE
NOTE BELOW)

CABLE

WHEN ERECTING USE HOLE IN L2A FOR
BOLT THAT WILL PERMIT SIGNALS TO
HANG MOST NEARLY VERTICAL FOR
BALANCED ASSEMBLIES, USE HOLE
NEAREST CENTERLINE OF SIGNAL
CONNECTION. CASTINGS "K2A" AND "L2A"
MUST SWING FREELY WITH A MINIMUM
OF FRICTION AFTER ASSEMBLING

20'-0"LG. ALONG CURVE  w
2 TRAFFIC SIGNAL ASSEMBLY
g g (NOT IN CONTRACT)
55
Z W
T
z8
[
w2
+ O
NE
: e
3 Z
5 57/8" = 200" |
N —
1 TIE RODS
N —_—
S WASHERS "A" = = _— "J2A"
OF? — — —
I _ — — — — — — — — — — — MAST ARM
5 ( ¢
2 1N _ _ = @ OF SIGNAL SUPPORT
[ — =
|
_ ¢ oF PoLE
8 CROSS ARM - 3 1/2" oA aw
P DIA. EXTRA STRONG PLAN SECTION "A-A
0 STEEL PIPE
REFERENCE DRAWINGS:
7. MAST ARM "M-2" ASSEMBLY DRAWING - MAOM
2. MAST ARM "M-2" DETAILS OF PARTS "A2","B2","C2", "D2", "F2A" & "H2" - A-003
3. MAST ARM "M-2" TIE ROD ELBOW AND SIGNAL SUSPENSION CASTING DETAILS "J2A", "K2A", "L2A" - A-00
4. MAST ARM "M-2" DETAILS OF TRANSFORMER BASE - A-008
5. MAST ARM "M-2" ANCHOR BASE-BOLT COVER-AND SPRING NUTS DETAIL - A-000
NOTES:
CONTRACTOR SHALL INSTALL ONE OF THE FOLLOWING TRAFFIC SIGNAL MAST ARM ASSEMBLIES REVISION
ON "M-2A" POLE AS DIRECTED: DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
1.  TRAFFIC SIGNAL MAST ARM ASSEMBLY 20'-0" LONG - 34-02 QUEENS BLVD LI1.C.N.Y.11101
2. TRAFFIC SIGNAL MAST ARM ASSEMBLY 200" LONG WITH 5-0" EXTENSION - MAZD0Y :
4 | 04/2011 | GPI| REPLICATED IN CADD "M-2A" POLE & 20' TRAFFIC SIGNAL MAST ARM
3 | 1122003 [ NM | REVISED DWG ARRANGEMENT DRAWING
NEW YORK CITY 2 | 051973 |JBC| REVISED DWG.
- - - 1 03/1967 |JBC| REVISED DWG. SCALE: OLD DRAWING NO. DRAWING NO.
=== 0 | 0911966 | CL | LC-302 CREATED W g
S —— — 3/8"=1-0 LC-302 MA-001
I W B |[\O| DATE |BY | DESCRIPTION




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

TAPERED
OCTAGONAL SHAFT

(4) 1/4"-20x1 3/4" LG. HEX.
HEAD BOLTS, WITH HEX.
NUT, PLAIN WASHER AND
LOCK WASHER EACH, ALL
STAINLESS STEEL

BOLT COVER 4 REQ.
(DWG MA-009)

114" PLATE

7/16" DIA. HOLE
IN SHAFT

LLLLLLA

1/2"

CONTINUOUS WELD

ANCHOR BASE
(DWG [MA-008)

TRANSFORMER BASE
_ (DWG [MA-008)

A2 NN 9y \\\)\\

LLLLLLLLLLLLLL L L L L L L L L L

AT BOTTOM
OF SHAFT

(4) 1 1/4"-7x3 1/2" LG. HEX. HEAD
BOLTS WITH HEX. NUT AND
STANDARD WASHER EACH

(ALL HEAD GALVANIZED)

(4) 1 1/4"-7 ANCHOR
BOLT ASSEMBLY
(DWG E=007IN.I.C.)

3/4" TH. CLEATS
(DWGF0m2)

/ ‘
CONT. WELD

DOOR

Q POLE _

@ CROSS ARM

57/8"

20-0"t

!

40"

P TZZZITITI77777T7777727

7777777727727

\ BOTTOM OF BASE

SECTIONAL-ELEVATION "A-A"

61/2"t

41/2°%
[———
rn'

|
SOONNANNSNANNNNANNDN

CONT. WELD
ALL AROUND

STEEL PIPE

WASHER
SEE DETAIL "A"

|

|

|

|

|

|

|

|

‘ \;
} 3 1/2" X-STRING
|

|

|

|

|

(12) 5/8"-11
S.S. HEX. NUTS,

/

SLOTS /
FORTIE

L LE
13'LG.NC 11

THREAD ON THIS
END OF ROD

ch_ .

8

PLAN SECTION "B-B"

TRANSFORMER BASE AND SHOE BASE ASSEMBLY

I \ RODS .
‘ OPEN ENDS/

— @ TIEROD

PART "B2"

3" ST'D LOW-ALLOY
HIGH-STRENGTH
STEEL PIPE

(8) 5/8"-11 HEX. HEAD MACH.
BOLTS, 2 1/2" LG., WITH HEX.
NUT & LOCK WASHER EACH
(ALL STAINLESS STEEL)

(2) 5/8" DIA. x 21-6" LG. LOW ALLOY
HIGH STRENGTH STEEL TIE RODS

9" LG. NC 11 THREAD ON
THIS END OF THE TIE ROD

PART "J2A"

A\\\\\

AT

—_—

-
\u
AR

T —

(2) 3/8"-16x5/8" LG. ST. STEEL SQ.
HEAD CUP POINT SET SCREWS

_Aec

31/2"
SIDE TOWARD
SIGNAL

31/4"

SIDE AWAY
FROM SIGNAL

21/4"

B

—— ]
I

T
S

©

0

\¥

M
‘7
\
|
1

[
T
\

N

| —

|| |

-

g

VIEW "E-E"

(WITH TIE RODS AND
WASHERS "A" OMITTED)

7/16" HOLE IN PIPE

3/4" SLOTS IN CROSSARM
FOR TIE RODS

CHAMFER CORNERS
7/16" HOLE IN PIPE

3/8"-16x5" LG. STAY BOLT
WITH HEX. NUT & COTTER
PIN-ALL STAINLESS STEEL

NOTES:

3/8"

3/16"

3/4" DIA. HOLE

WASHERS DETAIL "A"

(4 REQD)

1. SEE DWG.|MA-002 2|FOR ELEVATION "C-C."

. REVISION DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
. — 6 | 04/2011 | GPI| REPLICATED IN CADD 34-02 QUEENS BLVD L.I.C.N.Y.11101
PLAN 5 | 11/2003 | NM | REVISED DWG
4 | 111970 [JBC| REVISED DWG "M-2A" POLE & 20' TRAFFIC SIGNAL MAST ARM
MAST ARM ASSEMBLY 3 | 12/1968 [JBC| REVISED DWG ASSEMBLY DRAWING
NEW YORK CITY [ 2 | 0211968 [JBC| REVISED DWG. :
B 48 BB | ' | 03187 [JBC| REVISED DWG. SCALE: OLD DRAWING NO. DRAWING NO.
=== | o [ 09196 [ CL | LC-303 CREATED .
——————— 3"=10 LC-303 MA-002_1
I W B |[NO| DATE |BY | DESCRIPTION -




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

(4) 1/2" SPRING NUT
STAINLESS STEEL
(DWG IMA-009)

(4) 1/2"-13x1" ST. STEEL
HEX. HEAD MACH. BOLT

PART "D2"

(DWG MA-003)

-

CAP PART "H2"
(DWGMA-003)

SEE DETAIL "F"

PART "B2"
(DWG MA-003)

1/8"

TOP OF SHAFT

¢ CROSS ARM
\
PART "A2"
(DWG [MA-003)
C—J
W
¢
| A
Enrr il N R =
-
P21 Ny
\/)\\ I~
| =
/\ |

ELEVATION "C-C"

SCALE:3"=1"

PART "C2"
(DWGMA-003)

HINGE: 3/4"-10x3 1/2" LG. HEX. HEAD
MACH. BOLT - WITH HEX NUT - 2
PALIN WASHERS & COTTER PIN (ALL
STAINLESS STEEL THREAD 1 3/8" LG.)

PART "F2A"
(DWG NMAD03)

TIE ROD ELBOW PART "J2A"
(SEE DETAIL DWG. MA-004_2)

WASHERS

WEATHERHEAD PART "L2A"

1 1/4"x1 3/4" CABLE INLET-ROUND

BOTH EDGES, INSIDE & OUTSIDE TO

11/4" SCHED. 80 LOW
ALLOY-HIGH STRENGTH
STEEL PIPE (ROUND
INSIDE EDGES)

CONT. WELD
ALL AROUND

AVOID CUTTING CABLE INSULATION.

¢ TiE RODS

9/16" DIA. HOLE

L UV RESISTANT PLASTIC

BUSHING IN END - SAME AS
IN WEATHERHEAD

UNIVERSAL LINK "K2A"

(SEE DETAIL DWG [MA=004_2)

SIGNAL SUSPENSION ASSEMBLY
(SEE DWG. [MA-004_1

-

3/4"

5/8"

5/16"

OUTSIDE OF SHAFT AT

CAP CONNECTION

SCALE:

=1

= & 1
(SEE DETAIL DWG MA-004_3) == o POLE CAP "H2"
%
= 1
qz MAST ARM 1/2" SPRING NUT '////—
_
VA
//%I ,
V,
V,
PART "J2A" /
- YA
—— ‘ _ll "
EET waseer BETAL-F
I N.TS.
PART "K2A"
SECTION "D-D"
SCALE: N.T.S.
REVISION DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
6 | 04/2011 | GPI| REPLICATED IN CADD 34-02 QUEENS BLVD L.I.C.N.Y.11101
5 | 11/2003 | NM | REVISED DWG
4 | 111970 [JBC| REVISED DWG "M-2A" POLE & 20' TRAFFIC SIGNAL MAST ARM
3 | 1211968 [uBC| REVISED DWG ASSEMBLY DRAWING
NEW YORK CITY [ 2 | 0211968 [JBC| REVISED DWG. :
B 28 BB | ' | 03797 [J5C| REVISED DWG. SCALE: OLD DRAWING NO. DRAWING NO.
_= 0 | 0911966 | CL | LC-303 CREATED
——————— NTS LC-303 MA-002_2
I W B |[NO| DATE |BY | DESCRIPTION -




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

5/8"

5/16" “

. A 3/8"
3/8 4’,@ . 7 % N - |
Y “ N

5/16"

%
41/2

5/8"

11/2" DIA. SPOTFACE
AT 2 PLACES (ON

? P e FORGINGS)
==
X
g |8 \ g :
: '
® |y °
~ |- 2
- N - (4) 9/16" HOLES IN LINE
WITH HOLES IN POLE :
o g
| <
N o
< | M
= | e
X |
< | <
o | o '
|5 |
m (o>}
(=]
RN\N

11/16" DIA. THRU
HOLES (TYP.)

PLAN PLAN

- " " Q~
5 & 596" POLE CAP - PART "H2 symm. ABT.§
- ¢ N — = & SYMM. ABT. @ . :
& < = / 8 N \
‘ & ¢ 7 172" 39/16" G\\&
—) ¢ T ! b ] X I
. = 1 N = A
e g - % - - /?7/4,, ‘ = ‘ T % jl—\
4 ¢ B 14— | z : < & i
2 } jr } ] EN . M\ | } e | ; e; g } é } J .
——1 — 2 ~——|_ | ‘ 5 § N - || ssner
—7| : S— Tt - ——> =R EENE @5 —-— -
< ﬁ f | g | 1 | : = f d F oy !
! | {9\* o S 5| —— B ! ] @ L o I
‘ | | | R1/2" B . ‘ ]
DY, C 1 Y L ‘ &
: ; 1 ) 1 ‘ <
11/16" DIA. THRU HOLES (TYP.) TS . DRILL 13/16" | DY |
5 - — HOLE THRU '?;/%
= | CLAMP SEGMENT - PART "A2" & "B2" HINGE CLAMP SEGMENT - PART "C2" S 8| CROSSARM CLAMP SEGMENT "D2"

NOTES

DRILL ALL HOLES BEFORE GALVANIZING.
ALL CAST STEEL - A.S.T.M. A27-65 AND FORGED STEEL-C1025,0R EQUAL.

N

1/4"

1/16"x45° 7/16" 3. ALL DIMENSIONS SHOWN ARE SUBJECT TO STANDARD FORGING AND
— — CASTING PRACTICES
\ R3NE
C
B B + 3.080 DIA.
@ ©
— > =
N 2
!
' % REVISION DEPARTMENT OF TRANSPORTATION
L L ~ BUREAU OF TRAFFIC OPERATIONS
13/16" DIA. DRILLED HOLE 7o 34-02 QUEENS BLVD L.I.C.N.Y.11101
11/4" MAX Tve.

SECTION "C-C" "M-2A" POLE & 20' TRAFFIC SIGNAL MAST ARM

DETAILS OF PARTS "A2", "B2", "C2", "D2", "F2A", "H2"

e NEW YORK CITY .

ARM SUPPORT HINGE - PART "F2A! B 28 BB | | 042071 [GPI| REPLICATED IN CADD SCALE: | OLD DRAWING NO. DRAWING NO.
=== | 0 | 09196 | CL | LC-304 CREATED . g
= e — 3"=1-0 LC-304 MA-003
I W B |[NO| DATE |BY | DESCRIPTION




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

PART "J2A"

PART "K2A" /

Q

S.8.COTTERPN ———— ™7

S.8. COTTER PIN

S.S. WASHER

PART "L2A"

(4) 1/4"-20x5/8" ST. STEEL
SQ HEAD CUP POINT SET
SCREWS - EQUALLY
SPACED

FRONT VIEW

ALWAYS ASSEMBLE
WITH HEADS OF
BOLTS ON SIDE
NEAR CABLE LOOP

5/8"-11x2 1/4" LG. HEX.
HEAD UNTHREADED
BOLTWITHA 4 - 1/16"
THICK WASHERS AND
A 1/8" DIA. COTTER PIN
(ALL STAINLESS STEEL)

(2) #8-32x3/4" LG. ST. STEEL RD.
HEAD SCREWS

21/2" OD x 3/8" THICK UV
RESISTANT PLASTIC
BUSHING WITH 7/8" DIA.
HOLE AT THE CENTER.
BREAK BOTH EDGES OF
HOLE. 2 REQ'D.

11/2"x1 1/2" LG. SCHED. 40 STAINLESS
STEEL WELDED PIPE NIPPLE - WITH
CONTINUOUS CLASS 2A "NPSM"
THREADING FOR CONNECTION TO THE
JUNCTION BOX IN THE SIGNAL MOUNTING
ASSEMBLY (SMOOTH EDGES)

1/16" TH. - S.S. WASHER

NOTES:

1.
2.
3.

MATERIAL: SAND CAST ALUMINUM ALLOY 356-T6.
STANDARD TOLERANCES.
ALL PIPE THREADS TO BE N.P.S.M. (STRAIGHT MACHINE)

SIDE VIEW
REVISION DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
TRAFFIC SIGNAL SUSPENSION ASSEMBLY 34-02 QUEENS BLVD L.I.C.,N.Y.11101
5 | 0412011 | GPI| REPLICATED IN CADD
4 | 0411977 [N/A| LC-305 REVISION TRAFFIC SIGNAL MAST ARM TIE ROD ELBOW &
3 | 0911971 | N/A| LC-305 REVISION SIGNAL SUSPENSION CASTING DETAIL-ASSEMBLY
NEW YORK cITY | 2 | 1111970 [uBC]| LC-305 REVISION
B 28 B | ' | 031567 [J5C| LC-305 REVISION SCALE: OLD DRAWING NO. DRAWING NO.
=== | o [ 09196 | CL | LC-305 CREATED N : ]
I W B |[NO| DATE |BY | DESCRIPTION 6'=10 LC-305 MA-004._1




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

A

(2) 11/16" DIA.

212"

- DRILLED HOLES

172"

»y\g

12"

3/8"-16x5/8" ST. STEEL SQ.
HEAD CUP POINT
SET SCREWS - REQ'D

1/4"

1" DIA. FLAT BOSS
3/32" THK AT CL

1/4"

41/16" O.D
3 9/16
SNUG TO FIT FOR 3" STD PIPE

B

DETAIL "B"

NOTES:

1. MATERIAL: SAND CAST ALUMINUM ALLOY 356-T6.
2. STANDARD TOLERANCES.

3. ALL PIPE THREADS TO BE N.P.S.M. (STRAIGHT MACHINE)

417/32"

7/32"

SPLIT STAINLESS
STEEL BUSHING 300
SERIES 4 - REQ'D

< |
o2
E 2g
E
DETAIL"E" SECTION "E-E"
SEE DETAIL"E"
3/8"|7/8"+1/16"|3/8"

€

11/4"

31/2"

51/4"

11/4"

"|7/8"+1/16"|3/8"

SEE DETAIL "B" 31/16" O.D.
11/16" + 1/16" - 76 -
-
2 TAPPED HOLES FOR
_ € #8-32x3/4" SCREWS CONCENTRIC LINK - PART "K2A"
1
gk A
S g /?3/76‘"
N R1 1/gn N
o]
== ¢ —~— :
SPLIT STAINLESS |
. STEEL BUSHING 300
* f SERIES 1- REQD 5 Y
2
VIEW "A-A" REVISION DEPARTMENT OF TRANSPORTATION
SECTION "B-B" —_— BUREAU OF TRAFFIC OPERATIONS
-_ 34-02 QUEENS BLVD L.1.C.,N.Y.11101
5 | 0412011 | GPI| REPLICATED IN CADD
TIE ROD ELBOW - PART "J2A" 4 | 0411977 [ N/A| LC-305 REVISION TRAFFIC SIGNAL MAST ARM TIE ROD ELBOW &
- 3 | 091971 | N/A | LC-305 REVISION SIGNAL SUSPENSION CASTING DETAIL-"J2A"&"K2A"
NEW YORK CITY | 2 | 111970 [JBC| LC-305 REVISION :
B 28 B | ' | 031567 [J5C| LC-305 REVISION SCALE: OLD DRAWING NO. DRAWING NO.
=== 0 | 091966 | CL | LC-305 CREATED W
=== 6"=1-0 LC-305 MA-004_2
I W B |[NO| DATE |BY | DESCRIPTION -




i

7/8" ‘ 11/8"

i

7/8"

51/2"

31/2"

3/16"

MYM)

21/2"0.D.

NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

SIDE VIEW

NPSM FOR 1 1/2" S.S. PIPE NIPPLE

VIEW "D-D"

TWO 3/16"x3/16" CHASES (MACHINED)

BOTTOM VIEW

SAME AS DETAIL "B" FOR
PART "J2A"

2 TAPPED HOLES FOR
#8-32x3/4" SCREWS

i

!

FRONT VIEW

WEATHERHEAD - PART "L2A"

NOTE: ALL INSIDE EDGES TO BE ROUNDED

21/2"

A
!

21/8"

A
!

UV_RESISTANT PLASTIC BUSHING

REVISION DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
6 | 0412011 | GPI| REPLICATED IN CADD 34-02 QUEENS BLVD L.1.C.,N.Y.11101
5 | 0411977 | N/A| LC-305 REVISION
4 | 091971 |N/AT LC-305 REVISION TRAFFIC SIGNAL MAST ARM TIE ROD ELBOW &
3 | 1171970 |JBC| LC-305 REVISION SIGNAL SUSPENSION CASTING DETAIL - "L2A"
2 | 0311967 [uBC]| LC-305 REVISION
1T 10971966 1 oL | Lc-305 CREATED SCALE: OLD DRAWING NO. DRAWING NO.
0 | 071970 |REP| LB1333S CREATED 6" = 1-0" LC-305 MA-004_3
DATE |BY | DESCRIPTION LB-13338




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

N

EXISTING TIE RODS \

EXISTING MAST ARM
(3" DIA. PIPE)  TT—a

_—

NEW 5'-0" EXTENSION \

1l

I

_

- 250"

25'-0" MAST ARM

ASSEMBLY
NT.S.

.

%

¢
1

‘A

SECTION D-D

EXISTING 3" DIA. x 20' LONG
MAST ARM

MACHINE 3 1/2" PIPE TO 3 5/8" I.D. -
ROUND INSIDE EDGE TO SLIDE UNHINDERED
ONTO EXISTING 3" MAST ARM PIPE

3 1/2"x6" LONG PIPE

3/8"-16x5 1/2" LONG, PARTIALLY
THREADED (1" TO 1 5/16") HEX HEAD
BOLT WITH HEX NUT, 2 PLAIN WASHERS
AND 3/32"x1" COTTER PIN. DRILL 7/64"
COTTER PIN HOLE 1/2" FROM THE BOLT

7/16" HOLES IN "J2A" (DRILLED IN FIELD)

.
D B
3/4" DIA. HOLE (2 REQ.)
4.5 END. (ALL STAINLESS STEEL)
. MAST ARM EXTENSION - 3" SCHED.
3/16” CONTINUOUS 40 STD. PIPE x 5-0" LONG
WELD ALL AROUND
3" PIPE
2 1/2" PIPE
—g—== . SR
eyl 7 A ————————————— ——F—— 1
|
_ _ _ _ - ~ N _ _ _ _ | ‘ _ f _ \
d/ 7 i | I | i
| ’ ] Y
Y (R, e 1 /2, _
s _ T =X 1 - 7777U 7'3— S
- Z jV_ — = ‘;T — —
(3) 3/8™16%5/8" LONG D B
SQ. HEAD CUP POINT (6) 1/2" DIA. PLUG WELDS
STAINLESS STEEL SET ) ~ FLUSH OFF OUTSIDE. 17/32" HOLES IN PIPE
SCREWS. 120 DEG APART 120 DEG. APART
VIEW A-A VIEW C-C
\A Af
3/8" THICK PLATE EXISTING 5/8" TIE ROD
\E cf
B MAST ARM EXTENSION - 3" SCHED.
40 STD. PIPE x 5-0" LONG P /IH

3/16" CONTINUOUS

WELD ALL AROUND

-
Q =7
e
==

A

SECTIONB-B

’2p.

31/2" PIPE

3" PIPE

21/2" PIPE

2 1/2"x2' LONG PIPE SLEEVE.
(ROUND OUTSIDE EDGES AND
SMOOTH INSIDE EDGES)

NOTES:

1.
2.
3.

ALL PIPES SHALL BE SCHEDULE 40.

ALL STEEL IN 5' MAST ARM EXTENSION SHALL BE HIGH-STRENGTH LOW-ALLOY.
AFTER FABRICATION, ENTIRE MAST ARM EXTENSION ASSEMBLY SHALL BE
HOT-DIP GALVANIZED. GALVANIC COATING SHALL NOT HINDER ASSEMBLING IT
TO THE MAST ARM.

TIE ROD ELBOW "J2A"
EXISTING IN FIELD OR

e — —————— ‘ — ~ PROVIDED BY OTHERS
giij;:::ii::iiiz 777T777‘f— | \\\\ (OWG. MA-0042)
A
4 y ‘
Z | A J \
) g
11/2" ‘ \ \
| il
77777 —— — ——— — — — — — — 1 \
, . AN =7
NI
12" ~|-
o o 50
REVISION DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L..C.,N.Y.11101
5'EXTENSION FOR
20' TRAFFIC SIGNAL MAST ARM
NEW YORK CITY | 2 | 0372013 |SBF| DESIGN CHANGE :
B <48 B | ' | 0672011 [GPI| REPLICATED IN CADD SCALE: ]| OLD DRAWING NO. DRAWING NO.
=== = | 0 | 091971 [JBC| LB-1354-5 CREATED . o
Es= 3= 10 LB-1354S MA-005
I W B |[NO| DATE |BY | DESCRIPTION




MAST ARM - 2" ST'D STEEL PIPE ‘ TIE ROD 5/8"-11x2" HEX HEAD BOLT

WITH HEX NUT & LOCK WASHER
— 3= e —
! ] 5/8"-11 SQ. HEAD BOLT WITH (2)
2" 8Q. x 1/4" TH. WASHERS, (1)
STANDARD. PLAIN WASHER AND

(ALL STAINLESS STEEL)
HEX NUT (ALL GALVANIZED) |
(FURNISHED BY OTHERS)

21/4"

TIE ROD

-

1/2"-13x4" BOLT WITH HEX NUT AND LOCK
WASHER (ALL STAINLESS STEEL)

,%,77% - g

BRACE ANGLES D — —

18'-8"

NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

PLAN 2'%1 1/2"x1 3/16"x4'-0" LG, ] :
SCALE: 1/4" = 1' 2
o N 2'x1/4" BENT PLATE
& 11/2" (TIGHT FIT)
R E—
[
! SEE DETAIL "A" 1"x1/4"x1 1/2" PLATE - WELDED
L—— TIE ROD TO PIPE ON 3 SIDES. (NOT AT
BENT PLATE)
O\/ & DETAIL "B"
e ‘ SCALE 1"= 1"
= = (2) 1/2"-13x4" LG. GALVANZIED SQ. HEAD ‘
LAG SCREWS (FURNISHED BY OTHERS)
DETAIL "A"
5/8" DIA. TIE ROD (3/4" 1.D. EYE ON LAVl Nl
\"/ EACH END - WELDED CLOSED) SCALE1"=1
S |
/To
¢ 3"x3/8"x8" PLATE
1/2" DIA. HOLE
THRU PIPE ﬂ CONTINUOUS WELD % ‘ 3/4" DIA. HOLE
ALL AROUND =
SEE DETAIL "C" SEE DETAIL "B" S | S -
5/8"-11 SQ. HEAD BOLT WITH (1) 2" SQ. x 1/4" TH. — | 9/16" DIA. HOLE
WASHER AND HEX NUT (ALL GALV) | | Y \/
(FURNISHED BY OTHERS)
150" /: l
1" DIA. HOLE MODIFIED FOR f ‘
CABLE ENTRANCE.
(CHAMFER INSIDE EDGE)
— 1/2"-13x4" GALV SQ. HEAD SECTION "A-A"
~ LAG SCREW (FURNISHED SCALE 1"=1'
- BY OTHERS) |
- WOOD POLE q\/
NOTE: DETAIL "C"
- SCALE 1"=1'
1. ITEMS MARKED "FURNISHED BY OTHERS" ARE TO
BE FURNISHED BY THE CONSTRUCTION
CONTRACTOR AT TIME OF ERECTION. THESE BOLT
ASSEMBLIES SHALL BE MANUFACTURED FROM
TOP OF SIDEWALK OR CURB STEEL AS PER ASTM SPECIFICATIONS A-325-61T
AND ELECTRO-GALVANIZED. REVISION DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.I.C.,N.Y.11101
TRAFFIC SIGNAL MAST ARM
FOR WOOD POLE "MAW-15" ASSEMBLY
" - " NEW YORK CITY
TRAFFIC SIGNAL MAST ARM FOR WOOD POLES "MAW-15" ASSEMBLY B I N —
' === = | 0 | 1211965 [JBC| LB-956 CREATED AS NOTED LB.956 MA-006
I W B |[\O| DATE |BY | DESCRIPTION




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

AST ARM HEAD "R2"

3/16"

UV RESISTANT
/ PLASTIC BUSHING

3/16"

7/16" DIA HOLES

1/4" WALL

2 TAPPED HOLES FOR
#8-32x3/4" SCREWS

21/8"

VIEW "A-A
RECESS FOR BUSHING

SPLIT STAINLESS STEEL
BUSHING - 300 SERIES

15/8"

3/8"-16x3 3/4" ST. STEEL HEX HEAD BOLT

800
.690"

3/4" DIA. BOSS
1/8" THICK

S SO NS\
o LOCK WASHER &
HEX NUT
(STAINLESS STEEL)
7777777777777777777 y
~
DETAIL "B"
2,
115/16"
\
\ 5/8"x2 1/4" LG. UNTHREADED ST. STEEL
Y BOLT (HEAD SHAPE OPTIONAL BUT
- 1 - - BEARING AREA SAME) — - - REZ i -
l— || _——
ig 4)7’ :/=//— |
- N — | 11/h6"
~ -
~ — 1/8" DIA. COTTERPIN
— BOLT HOLE WITH ST. STEEL g | T | am (STAINLESS STEEL)
BUSHING SEE DETAIL "B - -
/ UNIVERSAL LINK "K2A" | Bx1e | (4)5.5. WASHER
[ \/\ 1/16" THICK
S 158+ 1116 15/8" +1/16
™ - -
(4) STAINLESS STEEL
WASHER 1/16" THICK
s END ELEVATION
38" 718"+ 1116 3/8"
—— 1/8" DIA ST. STEEL COTTON PIN
s | _ _ |/
A 5/8" UNTHREADED ST.
L e / STEEL BOLT 2 1/4" LONG
| : 1 _ _ _
U L L 1 N REVISION DEPARTMENT OF TRANSPORTATION
i BUREAU OF TRAFFIC OPERATIONS
LUG ON TOP OF - /\ — 34-02 QUEENS BLVD L.I.C.,N.Y.11101

WEATHERHEAD "L2A"
(SEE DWG. MA-004_3)

SIDE ELEVATION

MAST ARM TRAFFIC SIGNAL HEAD
"R2" & CONCENTRIC LINK "K2A" ASSEMBLY

NEW YORK CITY | 2 | 0372011 |GPI| REPLICATED IN CADD

B 4 B | | 11971 [JBC| MOVED SCREWS-CHANGED NIPPLE SCALE: ]| OLD DRAWING NO. DRAWING NO.
===—=——= = | 0 | 081970 |REP| LB-1332S CREATED o g

E-=-C 10" = 1-0 LB-1332S MA-007
I W B |[NO| DATE |BY | DESCRIPTION




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

BREAK TOP EDGE
13 1/4"+ 1/8" SQUARE - o
et B q;_ \\6
REGULAR 2
‘ % L CONTINUOUS WELDS OCTAGONAL ‘
p ALL AROUND cuTouT
a I/ ., NN s _
P — gss— . 2%, ] AN & I
f, x‘, ) : <
1 .\ > ~ - 3
;,,TE%,C,E‘I?\E&NLESS % 8 1/16" DOOR OPENING 2 5 ’-—i [ = ] ) ~ e,
e (3 X
‘:\.> (@] (@] / N ,\’\\'\ s \
: 1 &
To 1o = |
n 8" DOOR A
5/16" BURNDY GROUNDING B o
STUD BRONZE SPLIT LW. | |
5/16" ST'D. WASHER
| ROUND BOTTOM EDGE g %
TO PROTECT CABLE w o 3/4" THICK CLEATS
’ ¥ £ (SEE DETAIL "A") o
LOOSE 5/16" HEAVY NUT ’ 3 9 4
(9/16" ACROSS FLATS) | 3" LONG WELDS ON o @ Z| rre (BOLT CIRCLE) | o]
INSIDE OF ALL £ — — 2
=z = I g
CORNERS AT TOP x|Z = 0 11/4" %
’ OF BASE § g_—' : EN —]
- w =
" PLATE : z o
| 114" PLA Q 2|8 1/4"x1" STEEL DOOR ] 5 \ | -
| N By LATCH GALV. b .
T g | —- R THREADED x
’ LATCH STOP s FOR CAP SCREW @ \ |
’ N
LATCH
SEE DETAIL OF ] \ LATCH STOP R11/1gn D
NUT RETAINER N 1/2 ,
' 18 /
& \
| 4" LONG WELDS ON = N ggﬂ AEFNTDEgF | Y — S
l INSIDE OF ALL CORNERS o Q, LATCH IS ADDED —_— — —
’ AT BOTTOM OF BASE i
= "L
- \ 6 5/8" 8"
CLEAT (SEE PLAN) \ L\ - -l -
; — IS
7 ‘ DF "o Iop BOTTOM
p I A| P /| 1/8" DEEP RECESS - 3/4" DIA.
4 I T © f FLAT UNDER HEAD OF SCREW PLAN - SECTION "A-A"
:L 77777 . L 1] = ’. PARALLEL TO LATCH SCALE: 3"=1"' 7 304"
i b > | | NN 3/8"-16x1" ALLEN SOCKET — i
CONTINUOUS WELDS ALL AROUND \ . HEAD CAP STAINLESS STEEL
16" SQUARE + 1/4"
- -— 114" CHAMFER CORNER | / |
B - ROUND TOP OF CONTACT SIDE Y
ELEVATION _ SECT'ON SECT'ON ||B_Bll OF LATCH PLATE 3/4" LONG ‘ / | ‘
SCALE: 3"=1' SCALE: 3'=1 v |
11/16"
R3"
1320 " - | R |
—_— ) — —
‘ [ | | |
3 | j /?3/4», El B " " K ‘
" = Y . VIEW "D-D
13/16 4 < |\ |
e — ®
e | ) 3@29/16" | |
8 N
q;#C — 7116" DIA HOLE 716" = 1
! ‘ @L/ € ! ‘ e DETAIL "A"
- \ \ \ 2 N 3 CLEATS MAY BE OBTAINED
| | | 2 3" FROM OCTAGONAL CUTOUT.
1< — - 1 3/8" DIA. HOLE AT CENTER OF
3/16" =24 EACH CLEAT. 4 CLEATS REQD.
—— g * SCALE: 3"=1'
38" DETAIL OF SHIM REVISION DEPARTMENT OF TRANSPORTATION
-1 ™ APPROX.G OF SIDE OF S RED e ToR BUREAU OF TRAFFIC OPERATIONS
L ¢ R X L OF SIDE € SECTION "C-C" SCALE: 3'=1' 34-02 QUEENS BLVD L.I.C.,N.Y.11101
SCALE: 6" = 1"
"M-2A" POLE TRANSFORMER BASE DETAIL
DETAIL OF NUT RETAINER NEW YORK CITY
(FILLET WELDED TO TRANSFORMER BASE) B 4 B | ' | 042011 [GPI| REPLICATED IN CADD SCALE: ]| OLD DRAWING NO. DRAWING NO.
SCALE: 6" = 1' —— —
=== 0 | 091966 | CL | LC-306 CREATED
——— AS NOTED LC-306 MA-008
I W B |\O| DATE |BY | DESCRIPTION




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

1/32" + .002"

910"

A
!

.500"

1/4" SPRING NUT
SCALE: 2"=1'

NOT IN CONTRACT

WIND FOR 1/4"-20
SCREW -4 1/2 TURNS
MATERIAL - 300 SERIES
STAINLESS STEEL

.250"

A
!

.875"

o

1516" TO
1 3/8" DIA.
(4 HOLES)

1/4" TYP.

7/8" TYP.

RAISED MARKINGS (TYP.)

MFRS. SYMBOL
AND DATE

o>

LOCKING TAB
SYMMETRICAL

8 1/2" ACROSS FLATS
TO FIT BOTTOM OF SHAFT

9 5/8" DIA

12 1/2" SQUARE

~ ABOUT ¢

TRAFFIC

2/

15/16" TO 1 3/8" DIA.
4 HOLES

i

.625"

.076" DIA. WIRE-WIND

ELAN ANCHOR BASE MARKINGS
SCALE: 3"=1 SCALE: 3"=1'
] | -6~ 5 | el
| = ‘ [ 5/16" DIA.
| | ‘ HOLE
SR i \ | # ~ i
. — T :
| L 1 Ll =
% = ANCHOR BASE a
SCALE: 3"=1' "
SECTION "D-D" SECTION "B-B"
7/16" DIA. VARIES SCALE: 3"=1' SCALE:3"=1'
(REF.)

FOR 1/2"-13 SCREW-3 1/2

TURNS

MATERIAL - 300 SERIES

STAINLESS STEEL
1/2" SPRING NUT

SCALE: 2"=1'

|

27/8"

R1/8" MAX

a1®

SECTION "C-C" SECTION "A-A" Ra ~
SCALE: 3" = 1 SCALE 3" = 1 13/16
BOLT COVER "N2A"
SCALE: 3"=1'
REVISION DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L..C.,N.Y.11101
"M-2A" POLE ANCHOR BASE
BOLT COVERING & SPRING NUTS DETAIL
NEW YORK CITY
BB <8 BB | ' | 09201 [GPI| RePLICATED IN CADD SCALE: | OLD DRAWING NO. DRAWING NO.
=== | 0 | 09196 | BL | LC-307 CREATED
s s — AS NOTED LC-307 MA-009
I W B |[NO| DATE |BY | DESCRIPTION




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

“

BOTTOM OF
REAR HOUSING

10'-0" FOR LOW SIGNAL FACE
14'-0" FOR HIGH SIGNAL FACE

TOP OF
/ SIDEWALK
! |
SIGNALS MOUNTED ON STREET LIGHT
AND "M-2A" POLES
NOTES:

1.

TWO INDEPENDENT STRAPS SHALL BE INSTALLED IN EACH GROOVE OF
ALL HUBS FOR ALL SIGNAL MOUNTINGS.

STRAPS SHALL BE STAINLESS STEEL, AL.S.l. TYPE 301.

STAGGER HOLES IN POLE FOR CABLE FOR TRAFFIC SIGNALS MOUNTED
AT THE SAME ELEVATION.

POLE

SECTION "A-A" ("VB-2P")
(FOR MORE DETAILS SEE DWG. [SE-021)

[ 1]

BOTTOM OF
REAR HOUSING

.
2
o
~
TOP OF
SIDEWALK
‘ f |
SIGNALS MOUNTED ON "S-1a" POLE
REVISION DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.I.C.,N.Y.11101
5 | 07/2011 | GPI| REPLICATED IN CADD
4 | 111969 |RAR| REVISED VEHICLE & PEDESTRIAN SIGNALS
3 | 0711967 |ADB| REVISED AND REDRAWN MOUNTED ON POLES
NEW YORK CITY | 2 | 0611963 | GS | REVISED :
B < BB | 1 | 04193 [UBC| REVISED SCALE: | OLD DRAWING NO. DRAWING NO.
=== | o | 041955 [ADB| LG-39-S CREATED .
—— 1/2"=1-0 LG-39-S SE-001
I W B |[NO| DATE |BY | DESCRIPTION




L
«©

|
1

TOP VIEW

!

A

10"

13.5"

i

!
i
!

13.5"

27"

40.5"

NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

90e

SIDE VIEW

FRONT VIEW

NOTES:

1.

12 INCH VEHICLE SIGNAL N

3.

TUNNEL VISORS FOR 8" SIGNALS SHALL BE 12" LONG.

TUNNEL VISORS FOR 12" SIGNALS SHALL BE 16" LONG.

ALL SIGNALS SHALL BE LED INCANDESCANT LOOK.

14"

i

!

SIDE VIEW

o

N

- I — |
1 I

TOP VIEW

|
!

10"

(@)
(@)
(@)

30

FRONT VIEW

8 INCH VEHICLE SIGNAL

REVISION

DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS

34-02 QUEENS BLVD L.I.C.,N.Y.11101

8" & 12" VEHICLE SIGNALS

T 1072017 1GPI| REPLICATED IN CADD SCALE: | OLD DRAWING NO. | DRAWING NO.
0 | 0272008 | JO | LB14551S CREATED 112" = 10" LB-14551S SE.002
NO| DATE_|BY | DESCRIPTION




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

SIDE VIEW

Lo
o O

16.5"

TOP VIEW
- 108"
1s
O
-
FRONT VIEW

HAND/MAN PEDESTRIAN SIGNAL

SIDE VIEW

ﬁ@f

O\

I
I

JTOP VIEW
- 16.5" |
4 N
4 )
S J)
P
FRONT VIEW

PEDESTRIAN COUNTDOWN SIGNAL

REVISION DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.I.C.N.Y.11101
16"x16" PEDESTRIAN SIGNALS
SCALE: OLD DRAWING NO. DRAWING NO.
07/2011 | GPI| CREATED 112" = 10" SE-003
DATE |BY | DESCRIPTION




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

npn

SEE NOTE 1
LC-23-1

THREADED HOLE
FOR STANDARD

11/2" PIPE, N.P.S.M.
3/8" TYPICAL

s

3/8" TYPICAL

CLOSURE FOR
"2MS" ASSEMBLY

SIGNAL HEAD
(N.I.C.)
VIEW "A-A"

4-WAY "MS" SPIDER ASSEMBLY (AS SHOWN)
2-WAY "MS" SPIDER ASSEMBLY (AS SHOWN)

npn

X

STANDARD 1 1/2"
PIPE, N.P.S.M.

SIGNAL HEAD (N.I.C.) Vi \

< F

3/8"

NOTE:

"B" SETSCREWS IN
BOTTOM TO CLEAR
SURFACE FOR COVER

VIEW "B-B"

‘ THREADED HOLE FOR

PARTS LIST

QTY. REQ'D FOR ASSEMBLY TYPE
DESCRIPTION DRAWING NO.
“{MS" | "2MS" | "3MS" | "4MS"

FOUR WAY AL. JUNCTION BOX (LC-23-1) BE-009 1 1
THREE-WAY AL. JUNCTION BOX (LC-23-2) SE-005 1

AL. JUNCTION BOX COVER (LC-23-3) E-005, 1 1 1
1 1/2"x4" LONG SCHEDULE 40 AL. PIPE, 11 1/2 NPSM 3/4" THREADED ON BOTH ENDS 2 3 4
11/2" DIE CAST AL. SERRATED TEE BE-007 2 3 4
1 1/2"x3/4" LONG DIE CAST AL. CHASE NIPPLE (LC-8-2A) BE-009 1 2 3 4
11/2" DIE CAST AL. PIPE LOCKNUT BE-0TQ 1 2 3 4
11/2" DIE CAST AL. SERRATED LOCKING RING BE-009 1 2 3 4
1 1/2"x2" LONG DIE CAST AL. CLOSURE CAP (LC-8-6) BE-0T] 1 2 3 4
1 1/2"x5/8" LONG DIE CAST AL. CLOSURE CAP (LC-8-4) BE-0T] 2 3 4
NEOPRENE SEAL WASHER 2 3/4" ODx1 7/8" IDx1/8" TH (N.1.C*) 1 2 3 4
TWO-WAY SIGNAL HEAD STEEL TIE BE-0T3 1

THREE-WAY SIGNAL HEAD STEEL TIE (120 DEG.) BE013 1
FOUR-WAY SIGNAL HEAD STEEL TIE BE-013 1
1/4"-20x5/8" LONG ST. STEEL SQ. HEAD HOLLOW NOSE SET SCREW ("A") 4 4 4
1/4"-20x7/16" LONG ST. STEEL SOCKET HEAD SET SCREW ("B") 2 3 4
#10-24x5/8" LONG ST. STEEL FILLISTER HEAD MACHINE SCREW ("C") 4 4 4
1/4"-20x1/2" LONG ST. STEEL SQ. HEAD HOLLOW NOSE SET SCREW ("D") 4 6 8

*-NOT IN CONTRACT (N.I.C.)

3-WAY "MS" SPIDER ASSEMBLY

WEATHERHEAD (N.I.C.)

wpn (SEE DWG. MA004)
SERRATED TEE -
LC-8-4 "A" LC-23-1 @..
‘ A i~ A ' ‘ B SERRATED TEE B ' 3 SERRATED LOCKING RING
5 D" ~-— |SEAL WASHERS (N.L.C.)
LC-8-4 Lc-8-2A
SEAL = - ¢ SPIDER ASSEMBLY \
WASHER I
(N.LC.) = - |
LC-23-3 ——— | g N | | ‘
SERRATED SURFACE | ¢t LC-8-2A 5 — N
TO MESH WITH SIGNAL
HEAD SERRATIONS LC.23.3 S'G(NNAJL_S)EAD
? Le82A SERRATED SURFACE | | | | |
LC-8-6 11/2" PIPE
B Sh"GI'éA'- HEAD B TO MESH WITH SIGNAL LOCKNUT
(N.C) N\ THIS CHASE NIPPLE HEAD SERRATIONS ‘ ‘ ‘ ‘ ‘ ‘
SIGNAL HEAD | SIGNAL HEAD AND SERRATED TEE — - -
(N.I.C.) (N.ILC) ARE IN MOUNTING - & - SEAL WASHERS (N.I.C.)
‘ LC-8-6 112" PIPE | ASSEMBLY "4MS" ‘ ‘ LC-8-6 11/2" PIPE ‘ ‘
SIGNAL HEAD TIE | | LOGKNUT ONLY. ‘ ‘ ‘ ‘ LOCKNUT ‘ ‘
, i E L1 g | 1-WAY MAST ARM SIGNAL MOUNTING ASSEMBLY - "1MS"
THIS SIGNAL AND TIE SEAL WASHER (N.I.C.) SEAL WASHER (N.1.C.)
CONNECTION IS IN MOUNTING SERRATED SIGNAL HEAD TIE SERRATED LOCKING RING
ASSEMBLY "4MS" ONLY. FRONT VIEW LOCKING RING FRONT VIEW
E—— [ 1] n
4-WAY MAST ARM SIGNAL MOUNTING ASSEMBLY - "4MS" (AS SHOWN)  3-WAY MAST ARM SIGNAL MOUNTING ASSEMBLY - "3MS
2-WAY MAST ARM SIGNAL MOUNTING ASSEMBLY = "2MS" (AS NOTED) REVISION DEPARTMENT OF TRANSPORTATION
7 | 09/2011 | GPI| REPLICATED IN CADD BUREAU OF TRAFFIC OPERATIONS
6 52006 | NM | REVISED 34-02 QUEENS BLVD L.I.C.,N.Y.11101
NOTES: 5 10/70 |CHIUl REVISED AND REDRAWN
3. SIGNAL HEADS MAY BE ROTATED AROUND CENTERS OF 4 ] 0365 |CS MAST ARM TRAFFIC SIGNAL MOUNTING
1. FOR TWO-WAY ASSEMBLY SUBSTITUTE CLOSURES LC-8-4 FOR .
MOUNTING BRACKETS ON THIS CENTERLINE. CONNECTIONS. 3 164 [ GS ASSEMBLIES "1MS", "2MS", "3MS", "4MS"
4. ATHIN COAT OF "MOLYKOTE ANTI-SEIZE THREAD COMPOUND" NEW YORK CITY | 2 125631 GS SCALE: OLD DRAWING NO DRAWING NO
B RAWING Lo o REVISED 51y g NG LB-636-5 DATED 3-65 AND * BY DOW CORNING OR APPROVED EQUAL, SHALL BE USED ON B & Bl | | 0558 |JBC ' ' '
’ ALL THREADING IN ALUMINUM THREADED CONNECTIONS. _—== 0 | 111954 |JBC| LC-24 CREATED 11/2" = 10" LC-24 SE-004 1
I W B |[\O| DATE |BY | DESCRIPTION -




\\H\

FRONT VIEW

PART 1

PART 3

PART 5

PART 4

PART 2

ONE-WAY MAST ARM SIGNAL MOUNTING ASSEMBLY

NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

PARTS LIST

PART DESCRIPTION

DRAWING QTy.

1 11/2"x1 3/4" LONG DIE CAST AL. CHASE NIPPLE (LC-8-2A)

e

2 1 1/2" DIE CAST AL. PIPE LOCKNUT

3 11/2" DIE CAST AL. SERRATED LOCKING RING 1
4 11/2"x2" LONG DIE CAST AL. CLOSURE CAP (LC-8-6) SE-01 1
5 NEOPRENE SEAL WASHER 2 3/4"0ODx1/8"TH (N.I.C*) 1

*-NOT IN CONTRACT

REVISION DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.I.C.N.Y.11101
MAST ARM TRAFFIC SIGNAL MOUNTING
ASSEMBLY "1MS" - DETAIL
NEW YORK CITY SCALE: OLD DRAWING NO DRAWING NO
_= 0 | 072011 |GPI| CREATED 6" = 10" SE-004 2
I W B |[NO| DATE |BY | DESCRIPTION -




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

PARTS LIST
PART DESCRIPTION DRAWING NO.| QTY.
oA 1 FOUR-WAY AL. JUNCTION BOX (LC-23-1) 1
2 AL. JUNCTION BOX COVER (LC-23-3) 1
3 1 1/2"x4" LONG SCHEDULE 40 AL. PIPE, 11 1/2 NPSM 3/4" THREADED ON BOTH ENDS 2
4 11/2" DIE CAST AL. SERRATED TEE 2
L] =] 5 11/2"x1 3/4" LONG DIE CAST AL. CHASE NIPPLE (LC-8-2A)
6 11/2" DIE CAST AL. PIPE LOCKNUT 2
7 11/2" DIE CAST AL. SERRATED LOCKING RING 2
PART 9 8 1 1/2"x2" LONG DIE CAST AL. CLOSURE CAP ( LC-8-6) BE-0T 2
9 11/2"x5/8" LONG DIE CAST AL. CLOSURE CAP (LC-8-4) 4
10 NEOPRENE SEAL WASHER 2 3/4"0ODx1 7/8"IDx1/8"TH (N.I.C.*) 2
11 TWO-WAY SIGNAL HEAD STEEL TIE 2
VIEW "A-A" "A" | 1/4"-20x5/8" LONG ST. STEEL SQ. HEAD HOLLOW NOSE SET SCREW 4
ox "B 1/4"-20x7/16" LONG ST. STEEL SOCKET HEAD SET SCREW 2
"c" #10-24x5/8" LONG ST. STEEL FILLISTER HEAD MACHINE SCREW 4
"D" 1/4"-20x1/2" LONG ST. STEEL SQ. HEAD HOLLOW NOSE SET SCREW 4
"o *N.I.C.-(NOT SUPPLIED)
PART 1
VIEW "B-B"
|_A PART 3
PART 4
PART 10 NOTES:
‘ B THE EXTENDED TWO-WAY MAST ARM SIGNAL MOUNTING ASSEMBLY "E2MS" IS SIMILAR TO THE "2MS" ASSEMBLY EXCEPT THAT:
1. THE ALUMINUM PIPE MEASURES 1 1/2"x8 3/4" (INSTEAD OF 4" IN "2MS")
2. THE EXTENDED TWO-WAY SIGNAL HEAD STEEL TIE IS 23" CENTER TO CENTER (INSTEAD OF 14" IN "2MS")
PART 5
PART 8 FOR "E2MS" PARTS LIST SEE DWG. BE-004_6.
PART 2
PART 6
PART 7
FRONT VIEW PART 11 REVISION DEPARTMENT OF TRANSPORTATION
- BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.I.C.,N.Y.11101
MAST ARM TRAFFIC SIGNAL MOUNTING
ASSEMBLY "2MS" - DETAIL
SCALE: OLD DRAWING NO. DRAWING NO.
07/2011 | GPI| CREATED 3" = Q" SE-004 3
DATE | BY | DESCRIPTION




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

PARTS LIST
PART DESCRIPTION DRAWING NO.| QTY.

1 THREE-WAY AL. JUNCTION BOX (LC-23-2) 1

PART 9 2 AL. JUNCTION BOX COVER (LC-23-3) 1
3 1 1/2"x4" LONG SCHEDULE 40 AL. PIPE, 3 11 1/2 NPSM 3/4" THREADED ON BOTH ENDS 3

4 1 1/2" DIE CAST AL. SERRATED TEE 3

o 5 1 1/2"x1 3/4" LONG DIE CAST AL. CHASE NIPPLE (LC-8-2A) 3
6 1 1/2" DIE CAST AL. PIPE LOCKNUT 3

7 11/2" DIE CAST AL. SERRATED LOCKING RING 3

8 1 1/2"x2" LONG DIE CAST AL. CLOSURE CAP ( LC-8-6) 3

9 1 1/2"x5/8" LONG DIE CAST AL. CLOSURE CAP (LC-8-4) 3

10 NEOPRENE SEAL WASHER 2 3/4"0Dx1 7/8"IDx1/8"TH (N.1.C.*) 3

PART 1 11 THREE-WAY SIGNAL HEAD STEEL TIE (120 DEG.) [SE-UT3 1
A" 1/4"-20x5/8" LONG ST. STEEL SQ. HEAD HOLLOW NOSE SET SCREW 4

"B" 1/4"-20x7/16" LONG ST. STEEL SOCKET HEAD SET SCREW 3

"c" #10-24x5/8" LONG ST. STEEL FILLISTER HEAD MACHINE SCREW 4

"D" 1/4"-20x1/2" LONG ST. STEEL SQ. HEAD HOLLOW NOSE SET SCREW 6

*N.I.C.-(NOT SUPPLIED)

I PART 4

VIEW "A-A" VIEW "B-B"

e
PART 3

AY

PART 10

PART 5
NOTES:
ds BA
"c" THE EXTENDED THREE-WAY MAST ARM SIGNAL MOUNTING ASSEMBLY "E3MS" IS SIMILAR TO THE "3MS" ASSEMBLY
EXCEPT THAT:
PART 2 1. THE ALUMINUM PIPE MEASURES 1 1/2"x8 3/4" (INSTEAD OF 4" IN "3MS")

2. THE EXTENDED THREE-WAY SIGNAL HEAD STEEL TIE IS 23" CENTER TO CENTER (INSTEAD OF 14" IN "2MS")

PART 8 FOR "E3MS" PARTS LIST SEE DWG.|SE-004 6.
PART 6

PART 7

PARTH REVISION DEPARTMENT OF TRANSPORTATION

BUREAU OF TRAFFIC OPERATIONS
FRONT VIEW 34-02 QUEENS BLVD L.1.C.,N.Y.11101
MAST ARM TRAFFIC SIGNAL MOUNTING

ASSEMBLY "3MS" - DETAIL
THREE-WAY MAST ARM SIGNAL MOUNTING NEW YORK GITY
ASSEMBLY —~" N SCALE: | OLD DRAWING NO. DRAWING NO.

— === = | 0 | 072011 |GPI| CREATED = 1gr SE-004 4
I W B |[NO| DATE |BY | DESCRIPTION -




PART 9

7N

o

i e

NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

PART 1 D" B

VIEW "A-A"

A" PART 3
v S

‘e

Aﬁ PART 2

PART 8 E

FOUR-WAY MAST ARM SIGNAL MOUNTING

FRONT VIEW

o

ASSEMBLY

o
(¢)
O o
@)

o

Nt

e

VIEW "B-B"

Y

o <o
A
PART 10
-
PART 5

PARTS LIST
PART DESCRIPTION DRAWING NO.| QTY.
1 FOUR-WAY AL. JUNCTION BOX (LC-23-1) BE-003 1
2 AL. JUNCTION BOX COVER (LC-23-3) 1
3 11/2"x4" LONG SCHEDULE 40 AL. PIPE, 11 1/2 NPSM 3/4" THREADED ON BOTH ENDS 4
4 1 1/2" DIE CAST AL. SERRATED TEE 4
5 11/2"x1 3/4" LONG DIE CAST AL. CHASE NIPPLE (LC-8-2A) 4
6 11/2" DIE CAST AL. PIPE LOCKNUT 4
7 1 1/2" DIE CAST AL. SERRATED LOCKING RING 4
8 1 1/2"x2" LONG DIE CAST AL. CLOSURE CAP ( LC-8-6) 4
9 1 1/2"x5/8" LONG DIE CAST AL. CLOSURE CAP (LC-8-4) 4
10 NEOPRENE SEAL WASHER 2 3/4"0ODx1 7/8"IDx1/8"TH (N.1.C.*) 4
1" FOUR-WAY SIGNAL HEAD STEEL TIE 1
"A" 1/4"-20x5/8" LONG ST. STEEL SQ. HEAD HOLLOW NOSE SET SCREW 4
"B" 1/4"-20x7/16" LONG ST. STEEL SOCKET HEAD SET SCREW 4
"c" #10-24x5/8" LONG ST. STEEL FILLISTER HEAD MACHINE SCREW 4
"D" 1/4"-20x1/2" LONG ST. STEEL SQ. HEAD HOLLOW NOSE SET SCREW 8

*N.I.C.-(NOT SUPPLIED)

NOTES:

THE EXTENDED FOUR-WAY MAST ARM SIGNAL MOUNTING ASSEMBLY "E4MS" IS SIMILAR TO THE "4MS"
ASSEMBLY EXCEPT THAT:
1. THE ALUMINUM PIPE MEASURES 1 1/2"x8 3/4" (INSTEAD OF 4" IN "4MS")
2. THE EXTENDED FOUR-WAY SIGNAL HEAD STEEL TIE IS 23" CENTER TO CENTER (INSTEAD OF 14"

IN "2MS")

FOR "E2MS" PARTS LIST SEE DWG. BE-004_8.

REVISION DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.1.C.,N.Y.11101
MAST ARM TRAFFIC SIGNAL MOUNTING
ASSEMBLY "4MS" - DETAIL
NEW YORK CITY SCALE: OLD DRAWING NO DRAWING NO
_—= 0 | 07/2011 |GPI| CREATED 3= 120" SE-004 5
I W B |[NO| DATE |BY | DESCRIPTION -




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

PARTS LIST

QTY. REQ'D FOR ASSEMBLY TYPE
PART| DESCRIPTION DRAWING NO.
NO. "E2MS"["E3MS"|"E4MS"|"ESMS"| "E6MS"
1 |FOUR WAY AL. JUNCTION BOX (LC-23-1) SE-008 1 1 1 1
2 | AL. JUNCTION BOX (LC-23-3) BE-005 1 1 1 1 1
3 |1 1/2"x8 3/4" LONG SCHEDULE 40 AL. PIPE, 11 1/2 NPSM 3/4" THREADED ON BOTH ENDS 2 3 4 4 6
4 [11/2"x17" LONG SCHEDULE 40 AL. PIPE, 11 1/2 NPSM 3/4" THREADED ON BOTH ENDS 1
{ | | @ q | -@- [ P 5 |1 1/2'x4” LONG SCHEDULE 40 AL. PIPE, 11 1/2 NPSM 3/4" THREADED ON BOTH ENDS 1
? 6 |1 1/2" DIE CAST AL. SERRATED TEE BE-00 2 3 4 5
7 |1 1/2"x3/4" LONG DIE CAST AL. CHASE NIPPLE (LC-8-2A) BE-009 2 3 4 5 6
PART4  pART 1 PART 5 PART 1
8 |1 1/2" DIE CAST AL. PIPE LOCKNUT 2 3 4 5 6
PART 3 9 |1 1/2" DIE CAST AL. SERRATED LOCKING RING 2 3 4 5 6
PART 3 10 |1 1/2"x2" LONG DIE CAST AL. CLOSURE CAP (LC-8-6) BE-01 2 3 4 5 6
11 |1 1/2"x5/8" LONG DIE CAST AL. CLOSURE CAP (LC-8-4) BE-0TI 2 3 4 5 6
PARTS® PART 11 12 | NEOPRENE SEAL WASHER 2 3/4" ODx1 7/8" IDx1/8" TH (N.I.C* 2 3 4 5 6
VIEW "A-A" PART 11 VIEW "C-C“ X % (N.1.€%)
-_— 13 | EXTENDED FIVE-WAY SIGNAL HEAD STEEL TIE 1
14 | EXTENDED SIX-WAY SIGNAL HEAD STEEL TIE 1
15 |1 1/2" 120 DEG. DIE CAST AL. "Y" CONNECTOR WITH SIDE OUTLET SE-020 1 2
"A" |1/4"-20x5/8" LONG ST. STEEL SQ. HEAD HOLLOW NOSE SET SCREW ("A") 4 4 4 4 4
"B" | 1/4"-20x7/16" LONG ST. STEEL SOCKET HEAD SET SCREW ("B") 2 3 4 4 4
"C" | #10-24x5/8" LONG ST. STEEL FILLISTER HEAD MACHINE SCREW ("C") 4 4 4 4 4
D" | 1/4"-20x1/2" LONG ST. STEEL SQ. HEAD HOLLOW NOSE SET SCREW ("D") 4 6 8 13 18
C
c THREE-WAY AL. JUNCTION BOX (LC-23-2)** SE-008 1
PART 15 PART 15 EXTENDED TWO-WAY SIGNAL HEAD STEEL TIE*** 1
<_r(@\)_ EXTENDED THREE-WAY SIGNAL HEAD STEEL TIE (120 DEG.)** 1
N\ EXTENDED FOUR-WAY SIGNAL HEAD STEEL TIE **** SE-01 1
* -NOT IN CONTRACT (N.L.C)
PART 6 ** - DRAWING FOR "E3MS" ASSEMBLY IS SIMILAR TO DRAWING FOR "3MS" ASSEMBLY [SE-004_4)
***_ DRAWING FOR "E2MS" ASSEMBLY IS SIMILAR TO DRAWINGS FOR "2MS" ASSEMBLY [SE-004_3)
****_ DRAWING FOR "E4MS" ASSEMBLY IS SIMILAR TO DRAWINGS FOR "4MS" ASSEMBLY (SE-004_3)
"oy "o
VIEW "B-B" " "
A o
o A
g A o
< ©
] % . 2
/
PART 2
PART 7 PART 2
PART 12 PART 11 PART 7 PART 11
4 B B h ‘ D PART 12 D h
PART 9 PART 9
PART 8 /{ T~ PART 13 PART 8 AN PART 14
PART 10
PART 10
REVISION DEPARTMENT OF TRANSPORTATION
FRONTVIEW FRONT VIEW BUREAU OF TRAFFIC OPERATIONS
EEEE— - 34-02 QUEENS BLVD L.I.C.,N.Y.11101
EXTENDED FIVE-WAY MAST ARM EXTENDED SIX-WAY MAST ARM MAST ARM TRAFFIC SIGNAL MOUNTING
SIGNAL MOUNTING ASSEMBLY SIGNAL MOUNTING ASSEMBLY ASSEMBLIES "E5MS", "E6MS"
NEW YORK CITY
- ‘- SCALE: OLD DRAWING NO. DRAWING NO.
=== 0 | 07/2011 | GPI| CREATED fr= 10" SE-004 6
I W B |\O| DATE |BY | DESCRIPTION




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

DRILL & TAP FOR 1/4"-20x5/8" LONG
STAINLESS STEEL SQ. HD. HOLLOW

NOSE SET SCREW -4 REQ'D - TYPE "A"

37/8"

DRILL & TAP FOR 1/4"-20x7/16"
LONG STAINLESS STEEL
SOCKET HD. SET SCREW - 4
REQ'D - TYPE "B"

DRILL & TOP FOR #10-24x5/8" LG. ST.
STEEL FILLISTER HEAD MACHINE
SCREWS - TYPE "C" - 4 REQ'D

CHAMFER CHAMFER
DRILL & TAP FOR 1/4"-20x5/8"
212" '—% SZ—,’ STEc|>EsL SSQ- H?éD 21/ TAP FOR 1 1/2" STD. PIPE NPSM. 11
TAP FOR 1 1/2" STD. PIPE NPSM. 11 ?YF';I'; XV N4 RE ET REW 1/2 THREADS PER INCH. 4 OPENINGS
‘ 1/2 THEADS PER INCH. 5 OPENINGS -4REQ ¢
. W g =
& « ) \ 5 I
Ny %7, i I
v
2 | E r\
— oo )
‘ @
\ | -
‘ + A t H M
— } 5\0 ™ — . 5\0 o]
‘ ~ | o
| { - { &
[sp] 0
| 2 2
o
‘ 1l 1 " ' ‘ ' v

L FLUSH \ FLUSH

SECTION ELEVATION "A-A" SECTION ELEVATION "B-B"

!
) i 1 | (A O |
\ | |
PICAL o R
T & 76
AN M < _ 1 I
| o
3/8"
e
, | %
S ~| 3
N DRILL & TAP FOR 1/4"-20x7/16" | | "
LONG STAINLESS STEEL L |
SOCKET HD. SET SCREWS - (L\ I o
_ TYPE "B" - 3 REQ'D < \ - {
da 5 11 5y A r
f DRILL & TOP FOR #10-24x5/8" LG. ST. * 2"
STEEL FILLISTER HEAD MACHINE - —
SCREWS - TYPE "C" -4 REQ'D (4) #3 HOLES
17/32"
- o 27116
DIMENSIONS SHOWN ARE TYPICAL
COVER - PLAN VIEW
5 BOTTOM VIEW LC-23-3
- o THREE-WAY JUNCTION BOX
BOTTOM VIEW s
FOUR-WAY JUNCTION BOX
LC-23-1
NOTES: REVISION DEPARTMENT OF TRANSPORTATION

1.

2.

FOR ASSEMBLIES OF SPIDER SEE DWG. BE-004.

BUREAU OF TRAFFIC OPERATIONS

34-02 QUEENS BLVD L.I.C.,N.Y.11101
TOLERANCES, UNLESS OTHERWISE NOTED, TO BE: + .01" FOR DECIMAL DIMENSIONS, + 1/32" FOR MACHINING
DIMENSIONS, + 1/16" FOR CASTING DIMENSIONS, AND + 1/2° FOR ANGULAR DIMENSION. JUNCTION BOXES
PIPE THREADS FOR ALL PIPE FITTINGS TO BE NPSM (STRAIGHT MACHINE). FOR MAST ARM SPIDER ASSEMBLIES
COVER TO BE PUNCHED OUT OF #11 GAUGE ALUMINUM SHEETING, ALLOY 6061-T6, INCLUDING HOLES. NEW YORK CITY 2 | 07/2011 | GPI| REPLICATED IN CADD -
- - - 1 05/2006 | NM | REVISION SCALE: OLD DRAWING NO. DRAWING NO.
=== 0 1111954 | CR | LC-23 CREATED W e
S —— — 6"=1-0 LC-23 SE-005
I W B |[\O| DATE |BY | DESCRIPTION




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

72 SERRATIONS EQUALLY SPACED AT 5°

0.053"

¢

TOP VIEW
N.TS.

2.625" DIA

2.437" O.D. SERRATED BOSS

2.000" I.D. SERRATED BOSS

0.078"

0.128"

1.942" DIA £ 0.005"

FOR 1.500" PIPE

<&
<F

o

X

N

2.750"

SECTION AA
N.T.S.

NOTE:

FEMALE SERRATION ON
TOP CENTERLINE

2.437"0.D.
2.000" 1.D.
- T
[Te}
g y|
S = g
o
N A
& _ HoRIZ. & OF SERRATIONS _ R
Q < ©
S ‘ A ( °y 5
! | 3
|

0.025"

2.625" DIA.

A

SECTION ALONG CENTER LINE OF

FEMALE SERRATION

5° (RADIAL)
90°

FRONT VIEW OF SERRATIONS

0.053"

¢

DETAIL OF SERRATIONS

SCALE: 1"=0.100"

(OUTSIDE VIEW)

FEMALE SERRATION ON TOP
CENTER LINE (72 TEETH)

REVISION

DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD

L.I.C.,N.Y.11101

SERRATED CONNECTION FOR

SIGNAL SECTION TOP
NEW YORK CITY
B 28 BB | | 072071 [GPI| REPLICATED IN CADD SCALE: | OLD DRAWING NO. DRAWING NO.
====—= | 0 | 0211965 |DSH| LB-634S CREATED
= e — AS NOTED LB-634S SE-006 1
I W B |[NO| DATE |BY | DESCRIPTION -




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

72 SERRATIONS EQUALLY SPACED AT 5°

“ “ 2.437" O.D.
= fg B 2"1.D
(=}

5° (RADIAL)
B h ‘ HORIZ. ¢ OF SERRATIONS

£ A /JT/ I A
° 2 g 3 - I
3 | . [ © .
\ C 2 L AL — % ' g §
I =N N
3 1 ¢ | |
Y ° |
MALE SERRATION ON TOP
CENTER LINE (72 TEETH)
2.687" DIA. ¢
SECTION ALONG CENTER LINE OF FRONT VIEW OF SERRATIONS
FEMALE SERRATION (OUTSIDE VIEW)
¢
TOP VIEW
NTS.
DETAIL OF SERRATIONS
2.687" DIA.

SCALE: 1" =0.100"

0.125" GROOVE
— - l———

2.437" O.D. SERRATED BOSS

2"1.D. SERRATED BOSS

0.095"
0.075
0.078"

|
|
|
[

1.942" DIA. £ .005"
FOR 1.5" PIPE —NOTE

MALE SERRATION ON
TOP CENTERLINE

<N
d“&
N 5%
T
2.750"
SECTION A-A
N.T.S.
REVISION DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.1.C.,N.Y.11101

SERRATED CONNECTION FOR
SIGNAL SECTION BOTTOM

NEW YORK CITY .
B 4 B | ' | 072011 [GPI| REPLICATED IN CADD SCALE: ]| OLD DRAWING NO. DRAWING NO.
====—= = | 0 | 021965 |DSH| LB-6355 CREATED

E-=-C AS NOTED LB-635S SE-006 2
I W B |[NO| DATE |BY | DESCRIPTION -




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

37/8"

i

!

115/16"

2 1/4"

CHAMFER

E

DRILL AND TAP 2 HOLES
1/4"-20 NC AND SUPPLY 2
SET SCREWS 1/4"-20x1/2"
LONG SS, HOLLOW NOSE
SQUARE HEAD

115/16"

ﬂﬂ _ .

11/2" STANDARD PIPE
NPSM THREADING
11 1/2 THREADS PER INCH

1.

NOTES:

MATERIAL-ALUM. BASE ALLOY DIE CASTING
COMMERCIAL DESIGNATION NO.13

2. RADII- CORNER & FILLET 1/16"

3. DRAFT ALLOWANCE 2°, IN NO CASE SHALL DRAFT

DECREASE WALL OR RIB THICKNESS SPECIFIED.

4. 1/8" RAISED CHARACTERS.

5. CASTING SHALL BE SOUND FREE FROM BLOW HOLES,

SCALES, FINS, BURRS, DENTS, AND CRACKS.

6. DEBURR & BREAK ALL SHARP EDGES.

7. ALL INSIDE EDGES SHALL BE CHAMFERED

131/32" |.D. SERRATED BOSS

29/16" O.D. SERRATED BOSS

!

932"
1

FRONT VIEW
SCALE: 10" = 10"

1/4"

1/8"

|
|
| |

]
CUMS

72 SERRATIONS EQUALLY SPACED AT 5°

VIEW "A-A"
SCALE: 1'-0" = 1'-0"

131/32"1.D.
—_——

VIEW "B-B"
SCALE: 1"-0" = 10"

29/16" O.D.

0.028"

HORIZ. @ OF SERRATIONS § ] | % |
_ _ _ 3 ° _ _ _ S B
’:\ o
g Y
o
|
SECTION ALONG CENTERLINE OF
FEMALE SERRATION FRONT VIEW OF SERRATIONS
—_—— (OUTSIDE VIEW)
SCALE: 1" =0.100
SCALE: 1" =0.100"
REVISION DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L..C.,N.Y.11101
4 | 0772011 | GPI| REPLICATED IN CADD .
3 1 052006 1w | REVISED 1 1/2" DIE CAST ALUM. SERRATED TEE DETAIL
NEW YORK CITY | 2 | 08/1967 |DSH| CHANGED LENGTH OF THREADING :
B <8 B | ' | 07197 [DSH| REVISED TMD & NOTES SCALE: ]| OLD DRAWING NO. DRAWING NO.
====— = | 0 | 03195 |DSH| LB-639S CREATED
Es= AS NOTED LB-639S SE-007 1
I W B |[NO| DATE |BY | DESCRIPTION -




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

A
|

ABI \

DRILL AND TAP 3 HOLES
1/4"-20 NC AND SUPPLY 3
SET SCREWS 1/4"-20x1/2"
LONG SS, HOLLOW NOSE
SQUARE HEAD

1 1/2" STANDARD PIPE
NPSM THREADING
11 1/2 THREADS PER INCH NOTES:

1. MATERIAL-ALUM. BASE ALLOY DIE CASTING
COMMERCIAL DESIGNATION NO.13

] 2. RADII - CORNER & FILLET 1/16"
©
- |
> jr - - 3. DRAFT ALLOWANCE 2°, IN NO CASE SHALL DRAFT
o DECREASE WALL OR RIB THICKNESS SPECIFIED.
CHAMFER
4. 1/8" RAISED CHARACTERS.
5. CASTING SHALL BE SOUND FREE FROM BLOW HOLES,
SCALES, FINS, BURRS, DENTS, AND CRACKS.
ig 6. DEBURR & BREAK ALL SHARP EDGES.
n
- | | 7. ALL INSIDE EDGES SHALL BE CHAMFERED
_ | \
| i
-l
L - ! S Ay Nl S
131/32" 1.D. SERRATED BOSS BI
5 2 9/16" 0.D. SERRATED BOSS o VIEW "B-B"
g — i SCALE: 10" = 1'-0"
AA FRONT VIEW M
SCALE: 1-0" = 1'-0"
== E=)
-+ 131/32" 1.D. 29/16" O.D.
—_————— —
?;1* *::;?F %
o
| S
\ \ | 5° (RADIAL)
% ‘ b2 + | \ T d I
x [ ] . o v?&% _ 1 M_% ¢ HORIZ. @ OF SERRATIONS Y 8 | %
— 23 ] - s g
ol ; °
ol Sl ] 15 !
= ‘ 2
| i tos
\ \
o L . i
T SECTION ALONG CENTERLINE OF
L] FEMALE SERRATION FRONT VIEW OF SERRATIONS
SCALE: 1" = 0.100" (OL;IELIEE _VOIE;I)\"/)
72 SERRATIONS EQUALLY SPACED AT 5° REVISION DEPARTMENT OF TRANSPORTATION
VIEW "A-A" BUREAU OF TRAFFIC OPERATIONS
SCALE: 1'-0" = 1'-0" 34-02 QUEENS BLVD L.I.C.,N.Y.11101

1 1/2" DIE CAST ALUM. SERRATED TEE DETAIL

TWO SERRATED BOSSES
-NEW YO-RK C-ITY SCALE: | OLD DRAWING NO DRAWING NO
=== | 0 [ 072013 | DR | CREATED . . .
= e — AS NOTED LB-639S SE-007 2
I W B |[NO| DATE |BY | DESCRIPTION -




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

72 SERRATIONS EQUALLY SPACED AT 5°

<

TOP VIEW OF 72 TEETH SERRATED RING

2.000" 1.D. SERRATED BOSS

L

0.0156" + 1/64
- 0.000"

0.219"

1.938" I.D. RING

2.375" 0.D. RING

SECTION AA

2.375" 0.D. RING

A

2.000" I.D. SERRATED BOSS
f—————————

0.022"
0.044

/— HORIZ. ¢ OF SERRATIONS

0.053"

A

NN

0.0265"

// A f

1.938" 1.D. RING

%7

SECTION ALONG CENTER LINE OF
MALE SERRATION

5° (RADIAL)

0.053"

OUTSIDE FRONT VIEW OF MALE

SERRATION

DETAIL OF SERRATIONS

SCALE: 1" =0.100"

0.0156"

0.109" + 1/64" “ 0.109" + 1/64"
— -
-0.000" -‘ -0.000"
1.938" 1.D. RING
2.219"
2.375" O.D. RING

SECTIONB-B

SERRATED RING

SCALE: 1'-0" = 1'-0"

REVISION

34-02 QUEENS BLVD

DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS

L.I.C.,N.Y.11101

11/2" DIE CAST SERRATED LOCKING RING DETAIL

NEW YORK CITY | 3 | 072011 | GPI| REPLICATED IN CADD

B 28 BB | 2 | 052006 [\ | (B142525 REPLACED SCALE: | OLD DRAWING NO. DRAWING NO.
====—= = | 0 | 03195 |DSH| LG-1585 CREATED

= e — AS NOTED LB-14252S SE-008
I W B |[NO| DATE |BY | DESCRIPTION




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

PLAN
TYPICAL
1 3/8" DIA. 1 3/8" DIA.
) 2. ( % W 2. ( %
l l ° I \ °
{ | \ I ] 1 [ | \ ] 1
—F —+ —F —+
] — I _—
- 1 - 1
SMOOTH FLUSH SURFACE —+ L SMOOTH FLUSH SURFACE —+ L .
- T > T T
mm — ) = —
11/2" N.P.S.M., 11 1/2 THREADS T L 11/2"N.P.S.M., 11 1/2 THREADS T 1
PER INCH (CLASS 2 FIT) I L PER INCH (CLASS 2 FIT) T L Y
T+ ! 11/2" DIA.
T —T | — =
11/2" DIA. CHAMFER
ROUND INSIDE EDGES OF OPENING.
CHAMFER (BOTH ENDS)
1 3/4" LONG CHASE NIPPLE 1 3/8" LONG CHASE NIPPLE
ROUND INSIDE EDGES OF OPENING. _Q_ Q.
(BOTHENDS) (LC-8-2) (LC-8-2A)
REVISION DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.I.C.N.Y.11101
11/2" DIE CAST CHASE NIPPLES DETAILS
NEW YORK CITY | 3 | 072011 [GPi| REPLICATED IN CADD
BB 28 BN | 2 | 057006 | N | LB142535 REPLACED SCALE: OLD DRAWING NO. DRAWING NO.
=== | o | 0411965 [ADB| LG-167-S CREATED = e
S —— — 1-0"=1-0 LB-14253S SE-009
I W B |[NO| DATE |BY | DESCRIPTION




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

CAST YEAR OF MANUFACTURE
(RECESSED ON BOTTOM)

CAST NAME OF MANUFACTURER
(RECESSED ON BOTTOM)

11/2" NPSM THREADING

Q 111/2 T.P.l. - CLASS 2B FIT
|
N
~
|
NOTES:
NO.13 ALLOY
ALUMINUM 1. ALL EDGES TO BE SLIGHTLY ROUNDED FOR SAFETY.
2. THE TOP AND BOTTOM OF THE NUT SHALL HAVE SMOOTH,
+ FLUSH, PARALLEL SURFACES.
‘ 3. THE PIPE LOCK NUT SHALL BE DIE CAST WITH THE
h ﬂ L] ‘ CONTRACTOR RETAINING POSSESSION OF THE DIE.
I | §
. | 1 N \
R
['e)
CHAMFER TOP AND BOTTOM
EDGES OF THREADING
REVISION DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L..C.,N.Y.11101
1 1/2" DIE CAST ALUMINUM PIPE LOCKNUT
NEW YORK CITY .
B 4 B | ' | 072011 [GPI| REPLICATED IN CADD SCALE: ]| OLD DRAWING NO. DRAWING NO.
=== = | 0 | 031970 |GFS| LG-187-5 CREATED P
Es= 10" = 1-0 LG-187-S SE-010
I W B |[NO| DATE |BY | DESCRIPTION




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

{
[ | I !
3 1 2 B
& — B
ST 12
SMOOTH FLUSH <7 e |
SURFACE < .
(TYPICAL)
PLAN 5/8" LONG CLOSURE CAP
(TYPICAL) (LC-8-4)
27/16"
=
5
. i 5}"
E . — 1T ~ AN
! LT 1 [ | L1 T1 [T T[]
a4 ] 7* A [ | | !
! ‘ — 3 —
< = = =
. ST 1 S 12
& ] S D4 S 12 i
hd B S 12 S D %
S 2 ST 12 >
P 1 S D -
P D S D
UNDERCUT 1 3/4" DIA. ST 12 : < DY
S D N ST 12
$T 12 $— D2
ST 12 $T 12
ST D ST 12 |
ST 12
S D
o =
P —= 1 3/8" LONG CLOSURE CAP
/,@ = ! (LC-85)
CHAMFER
1 1/2" DIA. MAX 1 1/2" NPSM, 11 1/2 THREADS
- — PER INCH (CLASS 2 FIT)
ROUND INSIDE
EDGE OF OPENING
2" LONG CLOSURE CAP
(LC-8-6)
REVISION DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.1.C.,N.Y.11101
1 1/2" CLOSURE CAPS DETAIL
NEW YORK CITY [ 2 | 072011 [GPI| REPLICATED IN CADD :
B <8 B | ' | 092006 [ADB| LB142545 REPLACED SCALE: ]| OLD DRAWING NO. DRAWING NO.
_= 0 | 0411965 [JBC| LG-168-S CREATED = A
=== 10" =10 LB-14254S SE-011
I W B |[NO| DATE |BY | DESCRIPTION




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

3 { . —
S 1 42
ST 12
S EDJ
<$T J‘_)
S

5 S

‘: S n

- >
ST 1
ST [ 2
S D
<= N4

NOTE:

1.

1 1/2" SCHEDULE 40 STAINLESS STEEL WELDED PIPE NIPPLE - 1 1/2" LONG - WITH
CONTINUOUS CLASS 2A "NPSM" THREADING FOR CONNECTION TO THE JUNCTION BOX IN
THE SIGNAL MOUNTING ASSEMBLY. (SMOOTH INSIDE EDGES)

on

V]

MMM

AL LLLLLL

REVISION

DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS

34-02 QUEENS BLVD

L.I.C.,N.Y.11101

11/2" PIPE NIPPLES

NEW YORK CITY .

B 4 B | ' | 072011 [GPI| REPLICATED IN CADD SCALE: ]| OLD DRAWING NO. DRAWING NO.
====—= = | 0 | 0822003 | JH | LB13720S CREATED o g

E-=-C 10" = 1-0 LB-13720S SE-012
I W B |[NO| DATE |BY | DESCRIPTION




2 1/2"x1/8" STEEL BAR
Q 5/32"
\ 4

\N VN \
\
7 7 \\ |
17 \
- o SEE DETAIL "A"
TWO-WAY ASSEMBLY TIE
SCALE: 3" = 1-0" TYPICAL DETAIL "A"
SCALE: 6" = 1'-0"
PN
— I
| 81/2" N
< \
/ \ = \
/ \ / ‘ . \

!
A

FOUR-WAY ASSEMBLY TIE

THREE-WAY ASSEMBLY TIE

THREE-WAY ASSEMBLY TIE

120° TYPE 90° TYPE SCALE 3= 10
SCALE: 3"=1-0" SCALE: 3"=1'-0"
REVISION DEPARTMENT OF TRANSPORTATION
_ BUREAU OF TRAFFIC OPERATIONS
NOTES: 34-02 QUEENS BLVD L.I.C.,N.Y.11101
1. SIGNAL HEAD TIES, INCLUDING OPENINGS, SHALL BE STAMPED OUT OF SIGNAL HEAD TIES FOR

#11 GAGE SHEETING (U.S. STANDARD).

NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

2 | 07/2011 | GPI| REPLICATED IN CADD ASSEMBLIES "SP", "SPA", "MS"
NEW YORK CITY | 1 | 05/2006 | NM | REVISION; VOID LG-133-S
B <8 BB | ' | 71193 [ CL | (B14251S REPLACED SCALE: | OLD DRAWING NO. DRAWING NO.
=== | 0 | 1111963 | CL | LG-133-S CREATED AS NOTED LG-133-S SE013 1
I W B |[NO| DATE |BY | DESCRIPTION LB-14251S -




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

DETAIL "A"
N . . W\
% RN
% ~1—
1111/16" 11 11/16" 112"
- —— — |t
26 3/8"
"E2MS" ASSEMBLY TYPE
SCALE: 11/2"=1-0"
I
b
(C——
‘ 19 15/16"
‘4
"ESMS" ASSEMBLY TYPE
SCALE: 1 1/2"=1-0"
NOTE:

1.

EXTENDED SIGNAL HEAD TIES SHALL BE STAMPED OUT OF 1/8" THICK SHEETING

"E3MS" ASSEMBLY TYPE

SCALE: 1 1/2"=1-0"

13 3/16"

A

11 3/4"

vV we

@

"E6MS" ASSEMBLY TYPE

SCALE: 11/2"=1-0"

13 3/16"

"E4MS" ASSEMBLY TYPE

SCALE: 1 1/2" =1-0"

5/32"

3/16"

DETAIL "A"
SCALE: 6" = 10"

REVISION

DEPARTMENT OF TRANSPORTATION

BUREAU OF TRAFFIC OPERATIONS

34-02 QUEENS BLVD L.I.C.,N.Y.11101

EXTENDED SIGNAL HEAD TIES FOR

"E2MS", "E3MS", "E4MS", ESMS", "E6MS"

SCALE: OLD DRAWING NO. DRAWING NO.

09/2011

GPI

REPLICATED IN CADD

AS NOTED

DATE

BY

DESCRIPTION

SE-013 2




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

TWO-WAY SLIPFITTER ASSEMBLY - "2SPA"
SCALE: 1 1/2" = 10"

VIEW "A-A"

SIGNAL HEAD j

(N.LC)

ONE-WAY POLE SIGNAL

MOUNTING ASSEMBLY - "1SA"

THREE-WAY SLIPFITTER ASSEMBLY - "3SPA" FOUR-WAY SLIPFITTER ASSEMBLY - "4SPA"

SCALE: 1 1/2"=1'-0" SCALE: 1 1/2"=1-0"

LC-8-6

SIGNAL HEAD TIE

LC-8-6 (SEE "PARTS LIST")

SEAL WASHER (N.I.C.)

11/2" PIPE LOCK NUT

SEAL WASHER (N.I.C.)

1 1/2" PIPE LOCK NUT

SERRATED —
LOCKING RING

: =

LC-8-2

nn
LC-8-4
[
LC-8-4
SLIPFITTER "1SA"
1 1/2" SERRATED TEE J
1 1/2" STD. PIPE
o

SLIPFITTER "4S8"

"2SPA" "3SPA", AND "4SPA"

PARTS LIST

DESCRIPTION DRAWING | QTY. REQ'D FOR ASSEMBLY|
NO. "1SA" ["2SPA"["3SPA"["4SPA"

DIE CAST AL. SLIPFITTER "1SA" 1
DIE CAST AL. SLIPFITTER "4S" BE-07q 1 1 1
11/2"x3 1/4" LONG SCHEDULE 40 AL. PIPE, 11 1/2 NPSM 3/4" THREADED ON BOTH ENDS 2 3 4
1 1/2" DIE CAST AL. SERRATED TEE 2 3 4
1 1/2"x1 3/4" LONG DIE CAST AL. CHASE NIPPLE (LC-8-2A) BE-009 1 2 3 4
11/2" DIE CAST AL. PIPE LOCKNUT BE-0Td 1 2 3 4
1 1/2" DIE CAST AL. SERRATED LOCKING RING 1 2 3 4
1 1/2'x2" LONG DIE CAST AL. CLOSURE CAP (LC-8-6) BE-0T 1 2 3 4
11/2"x5/8" LONG DIE CAST AL. CLOSURE CAP (LC-8-6) 5 5 5
NEOPRENE SEAL WASHER 2 3/4"0Dx1 7/8"IDx1/8"TH (N.I.C.*) 1 2 3 4
TWO-WAY SIGNAL HEAD STEEL TIE 1
THREE-WAY SIGNAL HEAD STEEL TIE (90 deg.) 1
FOUR-WAY SIGNAL HEAD STEEL TIE BE-01 1
1/4"-20x1/2" LONG ST. STEEL SQ. HEAD HOLLOW NOSE SET SCREW ("A") 9 1 13
3/8"-16x1" LONG ST. STEEL SQ. HEAD HOLLOW NOSE SET SCREW ("D") 4 4 4 4

- NOT IN CONTRACT (N.I.C.)

NOTES:
1. SIGNAL HEADS MAY BE ROTATED AROUND CENTERS OF CONNECTIONS.
2. ATHIN COAT OF "MOLYKOTE ANTI-SEIZE THREAD COMPOUND" BY DOW

CORNING, OR APPROVED EQUAL, SHALL BE USED ON ALL THREADING IN
ALUMINUM THREADED CONNECTIONS.

REVISION DEPARTMENT OF TRANSPORTATION

BUREAU OF TRAFFIC OPERATIONS

34-02 QUEENS BLVD L.I.C.,N.Y.11101

SLIPFITTER POLE SIGNAL MOUNTING

SCALE: 3" = 1-0"

3 | 072011 | GPI| REPLICATED IN CADD ASSEMBLIES "1SA", "2SPA", "3SPA" "4SPA"
POLE SIGNALSZ'OQ'\{,T_'N.G“ASSEMBLIES NEW YORK CITY | 2 | 03/2006 | NM | REDRAWN LC-314-S TO LC-314-D :
ALE: 3" = 1-0 B 28 BB | | 021967 [ Jv | SET SCREW'A" WAS 358" LONG SCALE: | OLD DRAWING NO. DRAWING NO.
=== = [ 0 | 0211967 | AB | LD314-S CREATED
= e — AS NOTED LC-314-S SE-014 1
I W B |[NO| DATE |BY | DESCRIPTION -




PART 5

4@
i

x PART 3

] tf

JE E-k PART 1

N\%

¢ oFPoLE

ONE-WAY POLE SIGNAL MOUNTING ASSEMBLY - "1SA"

NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

PARTS LIST
PART DESCRIPTION DRAWING QTy.
NO.
1 DIE CAST AL. SLIP FITTER "1SA" 1
2 11/2"x1 3/4" LONG DIE CAST AL. CHASE NIPPLE (LC-8-2A) BE-009 1
3 1 1/2" DIE CAST AL. PIPE LOCKNUT 1
4 1 1/2"x2" LONG DIE CAST AL. CLOSURE CAP (LC-8-6) SE-01 1
5 NEOPRENE SEAL WASHER 2 3/4"0Dx1 7/8"IDx1/8"TH (N.I.C.*) 1
D 3/8"-16x1" LONG ST. STEEL SQ. HEAD HOLLOW NOSE SET SCREW 4

*-NOT IN CONTRACT

REVISION DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.1.C.,N.Y.11101
SLIPFITTER POLE SIGNAL MOUNTING ASSEMBLY
II1SAI|
NEW YORK CITY SCALE: OLD DRAWING NO DRAWING NO
_—= 0 | 08/2011 |GPI| CREATED 6" = 1-0" SE-014 2
I W B |[NO| DATE |BY | DESCRIPTION -




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

PART 2
© /7 PART 3
<o < %
Ay >
PART 8
VIEW "A-A"
PART 9
PART 6
PART 5 PART 10
PART 7

PART 4

PART 8
A A

il

PART 1

TWO-WAY SLIPFITTER ASSEMBLY

NOTES:

1. SIGNAL HEADS MAY BE ROTATED AROUND CENTERS OF CONNECTIONS.

2. A THIN COAT OF "MOLYKOTE ANTI-SIEZE THREAD COMPOUND" BY DOW
CORNING, OR APPROVED EQUAL, SHALL BE USED ON ALL THREADING IN
ALUMINUM THREAD CONNECTIONS.

PARTS LIST

PART DESCRIPTION DRQVOVING Qrty.

1 DIE CAST AL. SLIP FITTER "4S8"

U
™
-

2 1 1/2"x3 1/4" LONG SCHEDULE 40 AL. PIPE, 11 1/2 NPSM 3/4" THREADED ON BOTH ENDS 2
3 1 1/2" DIE CAST AL. SERRATED TEE BE-007 2
4 11/2"x1 3/4" LONG DIE CAST AL. CHASE NIPPLE (LC-8-2A) 2
5 11/2" DIE CAST AL. PIPE LOCKNUT 2
6 1 1/2" DIE CAST AL. SERRATED LOCKING RING 2
7 11/2"x2" LONG DIE CAST AL. CLOSURE CAP (LC-8-6) 2
8 11/2"x5/8" LONG DIE CAST AL. CLOSURE CAP (LC-8-4) 5
9 NEOPRENE SEAL WASHER 2 3/4"0Dx1 7/8"IDx1/8"TH (N.I.C.*) 2
10 TWO-WAY SIGNAL HEAD STEEL TIE 1
A 1/4"-20x1/2" LONG ST. STEEL SQ. HEAD HOLLOW NOSE SET SCREW 9

3/8"-16x1" LONG ST. STEEL SQ. HEAD HOLLOW NOSE SET SCREW 4

*SUPPLIED BY OTHERS

REVISION DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.1.C.,N.Y.11101
SLIPFITTER POLE SIGNAL MOUNTING ASSEMBLY
"2SPA"
NEW YORK CITY SCALE: OLD DRAWING NO DRAWING NO
_—= 0 | 08/2011 |GPI| CREATED =g SE-014 3
I W B |[NO| DATE |BY | DESCRIPTION -




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

PART 3

PART 10 VIEW "A-A"
PART 7
PART 6
PART 5
PART 4
A
YA
o < o

PART 2

PART 1

THREE-WAY SLIPFITTER ASSEMBLY

<

PART 9

NOTES:

PARTS LIST
PART DESCRIPTION DRAWING QTy.
NO.

1 DIE CAST AL. SLIP FITTER "48" BE-0T8 1
2 11/2"x3 1/4" LONG SCHEDULE 40 AL. PIPE, 11 1/2 NPSM 3/4" THREADED ON BOTH ENDS 3
3 11/2" DIE CAST AL. SERRATED TEE BE=007 3
4 11/2"x1 3/4" LONG DIE CAST AL. CHASE NIPPLE (LC-8-2A) BE=009 3
5 11/2" DIE CAST AL. PIPE LOCKNUT SE-010 3
6 11/2" DIE CAST AL. SERRATED LOCKING RING BE=004 3
7 11/2"x2" LONG DIE CAST AL. CLOSURE CAP (LC-8-6) BE-0T] 3
8 11/2"x5/8" LONG DIE CAST AL. CLOSURE CAP (LC-8-4) BE=0T] 5
9 NEOPRENE SEAL WASHER 2 3/4"ODx1 7/8"IDx1/8"TH (N.I.C.*)
10 THREE-WAY SIGNAL HEAD STEEL TIE (90 deg.) BE=013 1
A 1/4"-20x1/2" LONG ST. STEEL SQ. HEAD HOLLOW NOSE SET SCREW 1"

3/8"-16x1" LONG ST. STEEL SQ. HEAD HOLLOW NOSE SET SCREW 4

*-NOT IN CONTRACT (N.I.C.)

1. SIGNAL HEADS MAY BE ROTATED AROUND CENTERS OF CONNECTIONS.

2. A THIN COAT OF "MOLYKOTE ANTI-SIEZE THREAD COMPOUND" BY DOW
CORNING, OR APPROVED EQUAL, SHALL BE USED ON ALL THREADING IN
ALUMINUM THREAD CONNECTIONS.

REVISION DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.1.C.,N.Y.11101
SLIPFITTER POLE SIGNAL MOUNTING ASSEMBLY
"3SPA"
NEW YORK CITY SCALE: OLD DRAWING NO DRAWING NO
_—= 0 | 08/2011 |GPI| CREATED =g SE-014 4
I W B |[NO| DATE |BY | DESCRIPTION -




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

PARTS LIST

PART DESCRIPTION DRAWING

NO. ary.
1 DIE CAST AL. SLIP FITTER "4S" SE01e 1
2 11/2"x3 1/4" LONG SCHEDULE 40 AL. PIPE, 11 1/2 NPSM 3/4" THREADED ON BOTH ENDS
3 11/2" DIE CAST AL. SERRATED TEE BE-007 4
4 11/2"x1 3/4" LONG DIE CAST AL. CHASE NIPPLE (LC-8-2A) SE-009 4
PART 3 5 11/2" DIE CAST AL. PIPE LOCKNUT 4
6 11/2" DIE CAST AL. SERRATED LOCKING RING 4

o 7 11/2"x2" LONG DIE CAST AL. CLOSURE CAP (LC-8-6)

11/2"x5/8" LONG DIE CAST AL. CLOSURE CAP (LC-8-4)

9 NEOPRENE SEAL WASHER 2 3/4"ODx1 7/8"IDx1/8"TH (N.I.C.*)

5 [BBEE

10 FOUR-WAY SIGNAL HEAD STEEL TIE

o o A 1/4"-20x1/2" LONG ST. STEEL S$Q. HEAD HOLLOW NOSE SET SCREW 13

3/8"-16x1" LONG ST. STEEL SQ. HEAD HOLLOW NOSE SET SCREW 4
*-NOT IN CONTRACT (N.I.C.)
O
VIEW "A-A"
PART 10
PART 7
PART 6 3
PART 9
PART 5
PART 4

— NOTES:
1. SIGNAL HEADS MAY BE ROTATED AROUND CENTERS OF CONNECTIONS
2. ATHIN COAT OF "MOLYKOTE ANTI-SIEZE THREAD COMPOUND" BY DOW CORNING, OR
APPROVED EQUAL, SHALL BE USED ON ALL THREADING IN ALUMINUM THREADED
<o <o <o O CONNECTIONS.

< REVISION DEPARTMENT OF TRANSPORTATION
"D BUREAU OF TRAFFIC OPERATIONS
| { 34-02 QUEENS BLVD L.1.C.,N.Y.11101
PART 1
ELEVATION SLIPFITTER POLE SIGNAL MOUNTING ASSEMBLY
"4SPA"
NEW YORK CITY
FOUR-WAY SLIPFITTER ASSEMBLY — 9 N SCALE: OLD DRAWING NO. DRAWING NO.
_—= 0 | 08/2011 |GPI| CREATED =g SE-014 5
I W B |[NO| DATE |BY | DESCRIPTION -




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

R3/8 "

<
a
¥
™

5" DIA.

2 5/8" DIA. ‘

2.437 O.D. SERRATED BOSS

!

0.0265

0.053
0.025

0.053

90°

Y

0.0515

TAP THREAD 1 1/2" NPSM
11 1/2 THREADS PER INCH

2.000 1.D. SERRATED BOSS \
K X RRRRRL
R

2.625 DIA.

SECTION ALONG CENTER LINE
OF FEMALE SERRATION

0.044
0.022

7/16"

3/8"

2716" DIA. DETAIL A
5
. S| &
©
&
I \
f/fv‘*
} |
- /I AN
SERRATIONS | '\ o
4.9/16" DIA. MIN. ‘ =
et —— ©
\

57/16"

I
L —
N
g

y
A
\
\

I N

L I N

3/8"

CHAMFER 45°

.

4 5/8" DIA.

5 3/8" DIA.

57/8" DIA.

DRILL & TAP FOR 3/8"-16x1" LONG SQ.
HEAD HOLLOW NOSE SET SCREW.
(4 "D" SCREWS REQUIRED)

SECTIONAL - ELEVATION "A-A"

* 5° (RADIAL) f

OUTSIDE VIEW OF SERRATIONS

DETAIL "A"

it

/ " AN
X ‘ 1/4 %,
- : TYP. -
~— ] | - —
<&
da
PLAN
REVISION DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.1.C.,N.Y.11101
DIE CAST SLIPFITTER "1SA" FOR
POLE MOUNTED TRAFFIC SIGNAL HEAD
NEW YORK CITY [ 2 | 0812011 [GPI| REPLICATED IN CADD = e e
B 4 B | ' | 062001 [BMM| MARBELITE : : :
_= 0 | 1197 |ADB| LC-312-S CREATED 6" = 10" LC-312-S SE-015
NO| DATE [BY| DESCRIPTION
Y =




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

R38" 1vp

5" DIA.

2 1/2" DIA.

!

6 1/2"

A
!

11/2" x 5/8" LONG CLOSURE CAP

DRILL & TAP FOR 1/4"-20x1/2" LONG SQ.
HEAD HOLLOW NOSE SET SCREW
(5 "A" SCREWS REQ'D.)

TAP FOR 1 1/2" STD. PIPE NPSM 11 1/2"
THREADS PER INCH. (TYP.)

i

|

21/4"
DIA.

714"

41/8"

1/4-20x1/2" ST. STEEL SET SCREW

72 SERRATIONS EQUALLAY SPACED AT 5°

3/8"
ERER— |

CHAMFER 45°

4 5/8" DIA.

5 3/8" DIA.

57/8"DIA.

SECTIONAL - ELEVATION "A-A"

PLAN

DRILL & TAP FOR 3/8"-16x1" LONG SQ.
HEAD HOLLOW NOSE SET SCREW
(4 "D" SCREWS REQ'D.)

REVISION

DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS

34-02 QUEENS BLVD L.I.C.,N.Y.11101

08/2011 | GPI| REPLICATED IN CADD

4/2011  |BMM| CHANGED CAP TO SHORT CAP

07/2001 |BMM| TRANSFERRED TO CADD

DIE CAST SLIPFITTER "4S" FOR POLE MOUNTED
TRAFFIC SIGNAL ASSEMBLIES "SPA"

=z
m
=3
<
o
Py
~
]
3
<
ol |w|s

—” N 101970 1 2v | REVISION SCALE: | OLD DRAWING NO. DRAWING NO.
——— 01/1967 |ADB| LC-313-S CREATED . g

= e — 6"=1"-0 LC-313-S SE-016
I W B |[NO| DATE |BY | DESCRIPTION




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

[

(BRACKET "VB")

/ ¢ PoLE

LAWTON HUB (SEE

DWG.[SE-018)
\ (N.L.C.)
\

T

—

- ——— | — ¢ sieNAL

PART 4

PART 5

SIGNAL HEAD
(N.LC)

PARTS LIST

PART DESCRIPTION DRAWING QTY.
NO. NO.
1 11/2"x8 3/4" LONG SCHEDULE 40 AL. PIPE, 11 1/2 NPSM 3/4" THREADED ON BOTH ENDS 2
2 11/2" DIE CAST AL. SERRATED TEE BE-007 2
3 11/2"x1 3/4" LONG DIE CAST AL. CHASE NIPPLE (LC-8-2A) SE-009 2
4 1 1/2"x5/8" LONG DIE CAST AL. CLOSURE CAP (LC-8-4) BE-0T1 2
5 NEOPRENE SEAL WASHER 2 3/4" ODx1 7/8"TH (N.1.C*) 1
A 1/4"-20x1/2" LONG ST. STEEL SQ. HEAD HOLLOW NOSE SET SCREW 4

*- NOT IN CONTRACT (N.I.C)

NOTES:

SIGNAL HOUSING MAY BE ROTATED AROUND CENTER OF CONNECTION.

A THIN COAT OF "MYLOKOTE ANTI-SIEZE COMPOUND" BY DOW CORNING, OR

APPROVED EQUAL, SHALL BE USED ON ALL THREADING IN ALUMINUM

THREADED CONNECTIONS.

REVISION

DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS

34-02 QUEENS BLVD L.I.C.,N.Y.11101

BRACKET MOUNTING ASSEMBLY

FOR VEHICLE SIGNALS "VvB"

B 8 B | ' | 092011 [GPI| REPLICATED IN CADD SCALE: | OLD DRAWING NO. DRAWING NO.
=== | 0 | 062001 |BMM| LC-34 CREATED . g
I W B |[NO| DATE |BY | DESCRIPTION -




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

10"

111/2"

PART 1

(BRACKET "VB")

{ -

PART 5

_——
-

|
|
‘L& LAWTON HUB (SEE

DWG. BE-018)
(N.I.C.)

PART 1

(BRACKET "VB")

!

SIGNAL HEAD

// ‘ / o
|

PART 4

PARTS LIST

PART DESCRIPTION DRAWING | QTY.
NO. NO.
1 1 1/2"x8 3/4" LONG SCHEDULE 40 AL. PIPE, 11 1/2 NPSM 3/4" THREADED ON BOTH ENDS 4
2 |11/2" DIE CAST AL. SERRATED TEE 4
3 11/2"x1 3/4" LONG DIE CAST AL. CHASE NIPPLE (LC-8-2A) SE-009 2
4 1 1/2"x5/8" LONG DIE CAST AL. CLOSURE CAP (LC-8-4) SE-01 4
5 | NEOPRENE SEAL WASHER 2 3/4" ODx1 7/8"TH (N.I.C*) 2
A | 1/4"-20x1/2" LONG ST. STEEL SQ. HEAD HOLLOW NOSE SET SCREW 8

|

*- NOT IN CONTRACT (N.I.C)

NOTES:

1. SIGNAL HOUSING MAY BE ROTATED AROUND CENTER OF CONNECTION.

2. A THIN COAT OF "MYLOKOTE ANTI-SIEZE COMPOUND" BY DOW CORNING, OR
APPROVED EQUAL, SHALL BE USED ON ALL THREADING IN ALUMINUM
THREADED CONNECTIONS.

REVISION DEPARTMENT OF TRANSPORTATION

BUREAU OF TRAFFIC OPERATIONS

34-02 QUEENS BLVD L.I.C.,N.Y.11101

BRACKET MOUNTING ASSEMBLY

FOR VEHICLE SIGNALS "2VB"

T REPLICATED IN CADD SCALE: | OLD DRAWING NO. | DRAWING NO.
BMM| LC-34 CREATED 3= 1" Lo-34 SE017 2
DESCRIPTION




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

‘ PARTS LIST
‘ ‘ PART DESCRIPTION arv.
4 \ 1 ( - o B } 1 DIE CAST HUB 2
T T 5 3/4"x3" SCHEDULE 40 ALUM. PIPE ]
o | | THREADED OVER ENTIRE LENGTH 14 NPSM
| | A 1/4"-20x1/2" ST. STEEL SQ. HEAD HOLLOW NOSE SET SCREW 2
\ \
|
— I R R N
|
“ o L — —  — -
— T 1T~
/ yy 3 N \
/ 7, | \ \
i;r 8 -~ _ _ / / 4 | \ _
5 y TN I
\ \ ! 7 / \
\ NN 7 y E
K<
- =——
- -
Y ~ |
T 1
\ \
\ \
\ \
I I R R N
\ J | \ | /
344" ‘
= <
" <
112" PART 1 VIEW "B-B" = —<
- — =S <
= —=
j
|

SECTION ELEVATION "A-A"

PART 2

STAINLESS STEEL STRAP

DETAIL OF 3/4" PIPE NIPPLE

7 7 m ONE REQUIRED FOR EACH PAIR OF HUB
3/4" PIPE NIPPLE
1. LAWTON HUB ASSEMBLIES SHOULD BE ORDERED IN PAIRS
, ,—— 1 1/2" PIPE NIPPLE WITH ONE 3/4" PIPE NIPPLE FOR EACH PAIR.
THIS DRAWING SUPERCEDES DRAWING
_ — -t —— — — — — LC-35 (REV. 8-24-67)
- /// I | W | P I ——
/ .
/ REVISION DEPARTMENT OF TRANSPORTATION
[ BUREAU OF TRAFFIC OPERATIONS
| CABLE 34-02 QUEENS BLVD L.I.C.N.Y.11101
4 | 082011 [GPI| REPLICATED IN CADD
. .
z “ 3 | 092001 |BMM|[ TRANSFERRED TO CADD LAWTON HUB ASSEMBLY DETAIL
NEW YORK CITY | 2 | 0211970 [uv| REVISED NOTE :
DETAIL OF HUB CONNECTION TO POLE B 4 B | ' | 1011968 [ADB| ADDED NOTE SCALE: | OLD DRAWING NO. | DRAWING NO.
- AT CABLE ENTRANCE S=s==—= | 0 | 0411968 |ADB| LB-1175-S CREATD 120" = 10" LB-1175-S SE-018
I W B |[NO| DATE |BY | DESCRIPTION




WOOD POLE

VARIES (11" MIN., 11 3/4" MAX)

NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

PART 2

PART 8

PART 9

PART 3

1" LG THREADING

J/
4

(/
L\

¢ SIGNAL

.

. e

o

/

ngn

VARIES

/ I
) / SIGNAL HEAD

(N.LC.)

PART 6

PARTS LIST
PART DESCRIPTION DRAWING | QTY.
NO. NO.
1 | TOP BRACKET CONNECTION BE019 3 1
2 | BOTTOM BRACKET CONNECTION BE-0193 1
3 DIE CAST AL. PLAIN TEE 1
4 11/2"x6" LONG SCHEDULE 40 AL. PIPE, 11 1/2 NPSM 3/4" AND 1" THREADED ENDS 1
5 1 1/2"x8" LONG SCHEDULE 40 AL. PIPE, 11 1/2 NPSM 3/4" THREADED ON ONE END 1
6 1 1/2" DIE CAST AL. SERRATED TEE BE-007% P
7 1 1/2"x1 3/4" LONG DIE CAST AL. CHASE NIPPLE (LC-8-2A) BE-009 2
8 1 1/2"x1 5/8" LONG DIE CAST AL. CLOSURE CAP (LC-8-4) SE-0T7 2
9 NEOPRENE SEAL WASHER 2 3/4"0Dx1 7/8"IDx1/8"TH (N.I.C*) 1
A 1/4"-20x1/2" LONG ST. STEEL SQ. HEAD HOLLOW NOSE SET SCREW 6
B 3/8"-16x1" LONG ST. STEEL SQ. HEAD CUP POINT SET SCREW 1
c 1/2"x4" GAL. STEEL LAG SCREW (N.I.C*) 4

*-NOT IN CONTRACT (N.I.C)

NOTES:

1. ALUMINUM PLATES AND PIPING SHALL BE 6061-T6 ALLOY.

2. THREADING ON ENDS OF PIPING SHALL BE NPSM THREADING, 11 1/2 THREADS PER INCH, 3/4"

LONG, UNLESS OTHERWISE NOTED.

3. THREADS TO BE LUBRICATED WITH A THIN COAT OF "MOLYCOTE ANTI-SIEZE THREAD COMPOUND"

BY DOW CORNING CORP. OR APPROVED EQUAL.

REVISION DEPARTMENT OF TRANSPORTATION

BUREAU OF TRAFFIC OPERATIONS

34-02 QUEENS BLVD L.I.C.,N.Y.11101

BRACKET MOUNTING ASSEMBLY
FOR VEHICLE SIGNALS ON WOOD POLES "WP"

NEW YORK CITY | 2 | 0872011 |GPI| REPLICATED IN CADD
B < B | ' | 1011974 [JBC| CHANGED TITLES, NOTES AND PARTS LIST SCALE: ]| OLD DRAWING NO. DRAWING NO.
====——= 1= | 0 | 11196 |JBC| LC-310-S CREATED .

———— 3"=1.0 LC-310-S SE-019_1
I W B |[NO| DATE |BY | DESCRIPTION -




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

PART 1

VARIES (11" MIN., 11 3/4" MAX)

WOOD POLE

PART 2

]

PART 4

111/2"

N\
|
| PART3 —/ ‘

1" LG THREADING

gy

VARIES

DX

PARTS LIST

ALUMINUM PLATES AND PIPING SHALL BE 6061-T6 ALLOY.

PART DESCRIPTION DRAWING | QTY.

NO. NO.

1 |TOP BRACKET CONNECTION 1
2 | BOTTOM BRACKET CONNECTION BE-019 1
3 | DIE CAST AL. PLAIN TEE SE-019 1
4 | 11/2"x6" LONG SCHEDULE 40 AL. PIPE, 11 1/2 NPSM 3/4" AND 1" THREADED ENDS 1
5 | 11/2"x8" LONG SCHEDULE 40 AL. PIPE, 11 1/2 NPSM 3/4" THREADED ON ONE END 1
6 | 11/2"DIE CAST AL. SERRATED TEE 4
7 | 11/2"x1 3/4" LONG DIE CAST AL. CHASE NIPPLE (LC-8-2A) BE-009 4
8 | 11/2'x5/8" LONG DIE CAST AL. CLOSURE CAP (LC-8-4) BE0T 2
9 NEOPRENE SEAL WASHER 2 3/4"0Dx1 7/8"IDx1/8"TH (N.I.C*) 2
10 | 11/2'x8 3/4" LONG SCHEDULE 40 AL. PIPE, 11 1/2 NPSM 3/4" THREADED ON BOTH ENDS 2
A | 1/4"-20x1/2" LONG ST. STEEL SQ. HEAD HOLLOW NOSE SET SCREW 10
B 3/8"-16x1" LONG ST. STEEL SQ. HEAD CUP POINT SET SCREW 1
c 1/2"x4" GAL. STEEL LAG SCREW (N.I.C*) 4

*-NOT IN CONTRACT (N.I.C)
NOTES:

THREADING ON ENDS OF PIPING SHALL BE NPSM THREADING, 11 1/2 THREADS PER INCH, 3/4"
LONG, UNLESS OTHERWISE NOTED.

THREADS TO BE LUBRICATED WITH A THIN COAT OF "MOLYCOTE ANTI-SIEZE THREAD COMPOUND"
BY DOW CORNING CORP. OR APPROVED EQUAL.

<o <o <o
% PART 9
T < \— PART 10 Hi )
\ |
|
N ‘
N ‘
\V |
\ |
|
I
|
I
| W\
N
|
I
SIGNAL HEAD
(N.I.C.) \ |
[
b
204 <o 20 O
PART 10 PART 6
PART 5

REVISION

34-02 QUEENS BLVD

DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
L.I.C.,N.Y.11101

BRACKET MOUNTING ASSEMBLY

FOR VEHICLE SIGNALS ON WOOD POLES "2WP"

NEW YORK CITY | 2 | 0872011 |GPI| REPLICATED IN CADD
B < B | ' | 1011974 [JBC| CHANGED TITLES, NOTES AND PARTS LIST SCALE: ]| OLD DRAWING NO. DRAWING NO.
====——= 1= | 0 | 11196 |JBC| LC-310-S CREATED .

———— 3"=1.0 LC-310-S SE-019 2
I W B |[NO| DATE |BY | DESCRIPTION -




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

MFRS. SYMBOL MFRS. SYMBOL

YEAR OF MFR. YEAR OF MFR.
2.
A
2
&
¥ |
—— — —t—  —\— ] *fff‘ff —]
|
/
. ; 1 1/2" SCHED. 80 ALUM. PIPE - 1 3/4"
2" SCHED. 80 ALUM. PIPE, 6" LONG _— LONG WITH 1 1/4" LONG THREAD
R C
‘
RT" |
e ‘
CHAMFER END
1/4" CONT. WELD
ALL AROUND |
1/4" CONT. WELD
3/8"-16x1" LONG ST. STEEL ~/ ALL AROUND
SQ. HEAD CUP POINT SET SCREW
|
9/16" DIA. HOLE
AT EACH END e
T
9/16" DIA. HOLE ‘
AT EACH END 3"x1/4"x8" LONG ALUM. PLATE
3"1/4"x8" LONG ALUM. PLATE
BOTTOM BRACKET CONNECTION TOP BRACKET CONNECTION
1 3/4" LONG THREAD
NOTES:
1" LONG THREAD —_—
— — - Lii/
1. ALUMINUM PIPE AND PLATES SHALL BE 6061-T6 ALLOY.
38" 3/8"
— Ea— 2. PIPE THREADING SHALL BE NPSM THREADING, 11 1/2 THREADS PER INCH.
TV B Vo 3. WELDING SHALL BE HELIARC WELDING.
— L: :l —] 4. PAINT POWDER COAT BRACKET PER FED SPEC.
1/4"-2051/2" LONG STAINLESS 11/2" UV RESISTANT PLASTIC INSULATING BU
STEEL CUT POINT SET SCREWS ﬂ H 5. PLAIN TEE COULD BE SUBSTITUTED WITH 1 1/2" DIE CAST AL. SERRATED TEE AND

WITH 8Q. HEAD “ H 1 1/2" THREADED HIGH IMPACT PLASTIC INSULATING BUSHING O-Z/GEDNEY'S #
BB-150 OR EQUAL.

11/2" STANDARD PLAIN TEE

REVISION DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L..C.,N.Y.11101
POLE CONNECTIONS FOR
WOOD POLE BRACKETS "WP"
NEW YORK CITY | 2 | 082011 | GPI| REPLICATED IN CADD
B <8 B | ' | 06/197 [ADB| ADDED PLAIN TEE DETAIL SCALE: ]| OLD DRAWING NO. DRAWING NO.
===== = | 0 | 11196 |ADB| LB-1022-5 CREATED . o
Es= 6"=1-0 LB-1022-S SE-019 3
I W B |[NO| DATE |BY | DESCRIPTION -




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

>

TOP VIEW BOTTOM VIEW

SEE NOTE 4

\ \ NOTES:

1. NYC DESIGNATION "VB-2P".

2. 47,000 PSI TENSILE STRENGTH AND DIE-CAST ALUMINUM
M~ CONSTRUCTION ON FITTINGS.

3. CHASE NIPPLES AVAILABLE IN ALUMINUM, BRONZE & CAST IRON.

4. TAPPED 1 1/2"-11 1/2" NPSM.

5. 1/4"-20x1/2" LONG ST. STEEL SQ. HEAD HOLLOW NOSE SET
SCREW ON ALL 1 1/2" OPENINGS.

v 6. PAINT BRACKET POWDER-COATED PER FED SPEC 595B#13538.

A

\fi{// SEENOTE 5
ISOMETRIC VIEW

FRONT VIEW NTS.
SLIP "Y" FITTING

REVISION DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.1.C.,N.Y.11101

120 DEGREE SLIP "Y" FITTING

NEW YORK CITY SCALE: | OLD DRAWING NO DRAWING NO
=== | 0 | 122011 |GPI| CREATED gr=1gr SE-020
I W B |[NO| DATE |BY | DESCRIPTION




E

PARTS LIST
" PART DESCRIPTION DRAWING NO.| QTY.
(_3‘ NO.
o
it o - T 1 |1 1/2"x17" LONG SCHEDULE 80 AL. PIPE, 11 1/2 NPSM 3/4" THREADED ON BOTH ENDS 2
| | ; 2 |1 1/2" DIE CAST AL. SERRATED TEE 2
L i | 3 [11/2"x1 3/8" LONG DIE CAST AL. CHASE NIPPLE (LC-8-2) 5E-009 2
A T — 4 |11/2"x5/8" LONG DIE CAST AL. CLOSURE CAP (LC-8-4) 2
| | | | PARTS 5 |NEOPRENE SEAL WASHER 2 3/4" OD x 1 7/8" ID x 1/8" TH (FOR TOP BRACKET ONLY) (N.L.C.*) 1
—L L "D" |1/4"-20x1/2" LONG ST. STEEL SQ. HEAD HOLLOW NOSE SET SCREW 4
| T T | * _NOT IN CONTRACT (N.L.C)
| \
| | |
| |
| |
IR | A y
|| |
| |
| |
‘ \ ‘ \ ‘ PART 3
| \ | J
Ll
—T7T T
| |
L
T T
| ]
1 % % L PART 2
NOTES:
ELEVATION _—
1. SIGNAL HOUSING MAY BE ROTATED AROUND CENTER OF CONNECTION.
2. ATHIN COAT OF "MOLYKOTE ANTI SEIZE THREAD COMPOUND" BY DOW
CORNING, OR APPROVED EQUAL SHALL BE USED ON ALL THREADING IN
LAWTON HUB (N.I.C) ALUMINUM THREADED CONNECTIONS.
PART 4
o

NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

POLE G PARALLEL T0 CURB LINE REVISION DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.I.C.N.Y.11101
SECTION "A-A" 4 | 312012 |GPI| REPLICATED IN CADD PEDESTRIAN SIGNAL MOUNTING
—_— 3 | 61973 [JBC| CHANGE TITLE, NOTES & PART LIST ASSEMBLY "VB-P"
NEW YORK CITY | 2 | 1211970 | Jv | CHANGED NOTE 2 :
B <48 B | ' | 03/1968 [ADB| REVISED AND REDRAWN SCALE: | OLD DRAWING NO. DRAWING NO.
=== | o0 | 031968 [ADB| CREATED "
= — — 11/2"=1-0 LC-341-S SE-021_1
I W B |[\O| DATE |BY | DESCRIPTION -




| ¢ PoLE
T

—

T Iy H

e e
1

o e N B

!
{

PART 1

)

ﬁ

j PART 6
—1

|

} [

|

‘ [ J Ky

|

‘ [ T

|

‘ [

|
—14 ]

ELEVATION
— - RS

N PART 4

NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

\

(
(

)) - LAWTON HUB (N.L.C.*)

POLE Q PARALLEL TO CURB LINE

SECTION "A-A"

PARTS LIST

PART
NO.

DESCRIPTION

DRAWING NO.| QTY.

1 |11/2"x11" LONG SCHEDULE 80 AL. PIPE, 11 1/2 NPSM 3/4" THREADED ON BOTH ENDS

2 |11/2" DIE CAST AL. SERRATED TEE

3 | 11/2"x1 3/8" LONG DIE CAST AL. CHASE NIPPLE (LC-8-2)

4 | 11/2"x5/8" LONG DIE CAST AL. CLOSURE CAP (LC-8-4)

5 [120 DEGREE "Y" FITTING

JHEE

6 | NEOPRENE SEAL WASHER 2 3/4" OD x 1 7/8" ID x 1/8" TH (FOR TOP BRACKET ONLY) (N.I.C.*)

"D" | 1/4"-20x1/2" LONG ST. STEEL SQ. HEAD HOLLOW NOSE SET SCREW

* - NOT IN CONTRACT (N..C)

NOTES:

1. SIGNAL HOUSING MAY BE ROTATED AROUND CENTER OF CONNECTION.

2. ATHIN COAT OF "MOLYKOTE ANTI SEIZE THREAD COMPOUND" BY DOW
CORNING, OR APPROVED EQUAL SHALL BE USED ON ALL THREADING IN
ALUMINUM THREADED CONNECTIONS.

REVISION

DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD

L.I.C.,N.Y.11101

PEDESTRIAN SIGNAL MOUNTING

4 | 32012 | GPI| REPLICATED IN CADD

3 | 61973 |JBC| CHANGE TITLE, NOTES & PART LIST ASSEMBLY "VB-2P"

2 | 12/1970 | JV | CHANGED NOTE 2

T T 0371965 1ADBI REVISED AND REDRAWN SCALE: | OLD DRAWING NO. | DRAWING NO.

0| 031968 |ADBI CREATED 112" = 10" LC-341-8 SE-021_2
DATE | BY | DESCRIPTION




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

_

!

DETAIL OF 8" VISORS

ROUND OUTSIDE
CORNERS - 3/4" RADIUS

10" (STANDARD)

16" (LONG)

DETAIL OF 12" VISORS

NOTES:

SIDE VIEW

ROUND OUTSIDE
CORNERS - 1" RADIUS

1. VISOR LENGTH SHOULD BE DETERMINDED AS PER ENGINEER.

REVISION

DEPARTMENT OF TRANSPORTATION

34-02 QUEENS BLVD

BUREAU OF TRAFFIC OPERATIONS

L.I.C.,N.Y.11101

TUNNEL SIGNAL HEAD VISORS
2 | 0312012 | GPI| REPLICATED IN CADD
1| 052006 | vS [ REVISION; VOID LG-163-5 SCALE: | OLD DRAWING NO. | DRAWING NO.
0_| 0411964 | CL | CREATED - LG-127-5
3'=1.0 SE-022
DATE | BY | DESCRIPTION LB-14248S




A

!

11/8"

\
11/2"

NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

& )
= _—— & )
/1 1\ | =7 S A N -
S - e ~
™ = —
// __ ——
: . —— B Y
4 _— V/ [ -
[ <=
e _ o
— - - - — - - - —— - - — b - 1 &
= — ~
FI
— & - 1 o
——— = b= I
\ L_——”_’J/” e — .
R e L :
L . 3 = |-
|| & S 3 === 1
\ ) A ® 2 - = S — g )
AN 4 CH I - » N~ .
o~ ‘ 7/16" @
\>/\ ® -
M g - ==
g _ T Y |
3/8" ‘J 7116
o
DETAIL "A" - —
‘ ALL SURFACES OF PARTS SHOULD BE SPRAYED WITH BLACK FLAT PAINT.
|
\_/ TOLERANCES SHOULD BE * 1/16" UNLESS OTHERWISE SPECIFIED.
—— MATERIAL: ROLLED PLATE. THICKNESS = 0.02".
‘ 3/8"
DETAIL "A" REVISION DEPARTMENT OF TRANSPORTATION
NOT TO SCALE BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.I.C.N.Y.11101
LOUVERS - 3 DEGREES
GPI | REPLICATED IN CADD SCALE: OLD DRAWING NO. DRAWING NO.
NJ { CREATED 6" = 1-0" LB-14333S SE-023 1
BY [ DESCRIPTION




DETAIL "A"

NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

o
3/16" - o
1
AN
T \ 'L,X
\ .
N
) X
A |
A |
Y \ N
| 3 boe
_ _ _ = | B
N
~
g P2 A
- Z o - - =
/ N S -
o [ |
T \ | b
b \ @
= | ~
- | | ™%
Y L L | - 1 1
7/16" ?
”
LA e S NOTES:
_\ 1. ALL SURFACES OF PARTS SHOULD BE SPRAYED WITH BLACK FLAT PAINT.
2. TOLERANCES SHOULD BE * 1/16" UNLESS OTHERWISE SPECIFIED.
|
‘ 3. MATERIAL: ROLLED PLATE. THICKNESS = 0.02".
DETAIL "A"
NOT TO SCALE
REVISION DEPARTMENT OF TRANSPORTATION

BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.I.C.,N.Y.11101

LOUVERS - 7 DEGREES

REPLICATED IN CADD SCALE: OLD DRAWING NO. DRAWING NO.

y N | 1 | 032012 | GP
= 0 | 10/2006 | NJ | CREATED 6" = 10" LB-14334S SE-023 2
- !

NO| DATE |BY | DESCRIPTION




i

!

211/16"
111/16"

311/16"

‘

7/8"

‘

17/8"

27/8"

NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

\___/

‘ 3/8"

DETAIL "A"
NOT TO SCALE

33/16"

“

2 3/16"

13/16"

%

7 15/16"

T
o

3/16"

NOTES:

1.
2.

3.

ALL SURFACES OF PARTS SHOULD BE SPRAYED WITH BLACK FLAT PAINT.

TOLERANCES SHOULD BE + 1/16" UNLESS OTHERWISE SPECIFIED.

MATERIAL: ROLLED PLATE. THICKNESS = 0.02".

REVISION

DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.I.C.,N.Y.11101

LOUVERS - 14 DEGREES

T 1032012 [GPI | REPLICATED IN CADD SCALE: | OLD DRAWING NO. | DRAWING NO.
0 | 1072006 | NJ | CREATED 6" = 10" LB-143355 SE-023 3
NO| DATE_|BY | DESCRIPTION




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

2
T- pd ////////\]
\\\///// - D
|\ 7 S22~
el - .~
P
N 27 7 e &S
\>>//;//, s
T
N /
~
N
L~ QA
P
/

@

ASSEMBLY DETAIL

me—

A\\N

A\V

A\\¥

N\

A\ ¥

N\

AN

A\ ¥

A\\V

A\ ¥

A\ V

A\

A\ V

A\ N

A\\V

N\ —

LOUVER DETAIL

NOTE:
1. VIEW CUT-OFF OPTIONS FOR GEOMETRICALLY PROGRAMMABLE LOUVERS COULD
BE BUT NOT LIMITED TO 7°, 8°, 9°, 11°, 13°, 15°, 23.5°, 43°.
REVISION DEPARTMENT OF TRANSPORTATION

BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.I.C.,N.Y.11101

LOUVERS -
GEOMETRICALLY PROGRAMMABLE
-NEW YO-RK CITY SCALE: | OLD DRAWING NO DRAWING NO
= _! 0 | 0372012 | GPI| CREATED . . .
Y W B [No| DATE [BY | DESCRIPTION N-TS. SE-023.4




MINIMUM 8'-0"

ARTICULATED CLAMP

L <

x 11/2" SCHEDULE 40 AL. PIPE

DETAIL OF ATTACHING
TRAFFIC SIGNAL TO MAST ARM

NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

ELEVATION

MIN. 15'-7" + FROM FINISH GRADE
(WITHOUT DEFLECTION)

3 1/2" MAST ARM PIPE

NEOPRENE TRI-BOLT
SLOTTED GASKET

SLOTTED WASHER

[\

5/16"-18 V-BOLT

@om

ONE-WAY 8 1/2"
CENTER-TO-CENTER
UPPER ARM

1 1/2" SCHEDULE 40 AL. PIPE,
11 12 NPSM 1 1/2" THREADED
ON ONE END

ONE-WAY 8 1/2" CENTER-TO-CENTER
LOWER ARM

ONE-WAY BRACKET ASSEMBLY

TWO-WAY 14" CENTER-TO-CENTER
UPPER ARM

ARTICULATED CLAMP

STAINLESS STEEL
BAND

BAND SCREW

G
Glc

N7

TWO-WAY 14"
CENTER-TO-CENTER
LOWER ARM

TWO-WAY BRACKET ASSEMBLY

REVISION DEPARTMENT OF TRANSPORTATION
NOTES: BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.I.C.,N.Y.11101
1. TRAFFIC SIGNAL SHALL BE CENTERED OVER TRAFFIC LANE, OR AS PER ENGINEER IN CHARGE.
RIGID MAST ARM TRAFFIC SIGNAL
2. TO AVOID CORROSION, MAST ARM SHALL NOT BE DRILLED. ALL ELECTRICAL CABLES RUN ON
EXTERIOR OF MAST ARM HOUSED IN 3/4" PVC CONDUIT. PVC CONDUIT SHALL BE CONTINUOUS, FROM MOUNTING ASSEMBLY
POLE TO SIGNAL HOUSING LEAVING ENOUGH EXPOSED CABLE FOR CONNECTIONS. NEW YORK CITY T s e
=== 0 03/2012 | GPI| CREATED NTS SE-024
I W B |[\O| DATE |BY | DESCRIPTION




55"

NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

i
!

FRONT VIEW
3"=1-0"

| 2.5" |
\ —-/
A
D
1
5 D
D
| )
SIDE VIEW

3"=1-0"

()
)
(]
o0
o0
o
O
(9

o )
©°00000%
00 ()
S P00
00.0.000,0
0 _0p50°
go 050

23

%;

BACK VIEW

3"=1"-0"

\ o P ®
ISOMETRIC VIEW
N.T.S.

REVISION DEPARTMENT OF TRANSPORTATION

BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.I.C.N.Y.11101
ACCESSIBLE PEDESTRIAN SIGNAL (APS)

UNIT
SCALE: OLD DRAWING NO. DRAWING NO.

0 | 0312012 [GPI| CREATED AS NOTED SE-025 1
NO| DATE [BY| DESCRIPTION -




39" MAXIMUM TO GROUND

NAVIGATOR 5/16" THREADED ROD

TOP VIEW

1/2" THREADED CONDUIT
OUTLET BODY WITH COVER &
NEOPRANE GASKET

1/2" METAL CONDUIT \

1/2"x1 1/2" LONG NIPPLE

1/2" CONDUIT HUB

NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

SIDE VIEW
MOUNTING ON METAL POLE MOUTNING ON WOOD POLE
REVISION DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.I.C.N.Y.11101
ACCESSIBLE PEDESTRIAN SIGNAL (APS)
MOUNTING INFORMATION
-NEW YO-RK C-ITY SCALE: OLD DRAWING NO DRAWING NO
_= 0 | 0312012 [GPI| CREATED . . .
——————— N.T.S. SE-025 2
I W B |[NO| DATE |BY | DESCRIPTION -




A

NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

!

— "B" —
CORD END CONNECTOR
SCALE: 10" = 10"

TRADE SIZE | "A" "B" "C" | CABLE RANGE
1792 | 595 | .978 .100"-.300"
12 1.792 | 595 | .978 .200"-.472"
2250 | 595 | 1.230 | .385"-.750"
1963 | 595 | .978 .100"-.300"
3/4 1.963 | 595 | .978 .200"-.472"
2250 | 595 | 1.230 | .385"-.750"
1 2160 | .630 | 1.810 | .510"-.790"
2160 | .630 | 1.810 | .710"-.980"

1172 0.600 | .710 | 2.090 | UNIVERSAL**

(*)  HUMMEL HSK-K-MULTI #1.597.6499.71 (COMES WITH SOLID GROMMET) OR EQUAL
(**) HUMMEL SOLID GROMMET #1.089.3699.19 OR EQUAL

NOTE:

1.  TO ACCEPT CABLE, SOLID GROMMET SHALL BE DRILLED ACCORDING TO

MANUFACTURER'S INSTRUCTIONS.

POLYETHYLENE SEALING GASKET

NYLON NUT

ZINC LOCKNUT

NYLON BODY
ISOMETRIC VIEW
SCALE: N.T.S.
REVISION DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.1.C.,N.Y.11101
CORD END CONNECTOR

.NEW YO.RK C-ITY SCALE: OLD DRAWING NO DRAWING NO
_= 0 | 032013 |GPI| CREATED . . .
—— AS NOTED SE-026
I W B |[NO| DATE |BY | DESCRIPTION




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

2"x4" ALUMINUM POLE
OPENING HAND HOLE
STRAP

2"x4" HAND HOLE COVER
FOR 4 1/2" OD POLE

1/4"-20x1 1/4" STAINLESS
STEEL SOCKET BUTTON HEAD -
SCREW —

1/4" BOLT & 4-14 WIRE,
600V ALUMINUM
GROUNDING LUG

1/4" STAINLESS STEEL
WASHER

1/4"-20x3/8" STAINLESS STEEL
SOCKET BUTTON HEAD SCREW

41/2" POLE CAP(DOME)

1/4"-20x1/2" ST. STEEL SQ.
HEAD SET SCREWS (3 REQ.)

4" DIA. x 48" LONG SCHEDULE 40
GALVANIZED STEEL PEDESTAL

POLE

4"-8 THREAD

STEEL FLANGE BASE WITH 12 3/4" BOLT
CIRCLE FOR 3/4" ANCHOR BOLTS

3/4"-10 HEX NUT

3/4" 1D x 2" OD WASHER \\=

‘

37/8"

3/4"-10 STUD BOLT,
FULLY THREADED

3/4"-10 HEX BOLT COUPLING, me

FULLY THREADED

‘

o]
—

‘

37/8"

3/4"-10 STUD BOLT,
FULLY THREADED

‘

ANCHOR CLEAT
ceeowe.pood e
3/4"-10 HEX NUT \m

ANCHOR BOLT ASSEMBLY

(SET OF 4)

NOTES:

1. ANCHOR BOLT ASSEMBLY SHALL BE MADE OF GALVANIZED STEEL.

REVISION DEPARTMENT OF TRANSPORTATION

BUREAU OF TRAFFIC OPERATIONS

34-02 QUEENS BLVD L.I.C.,N.Y.11101

ACCESSIBLE PEDESTRIAN SIGNAL (APS)

POLE
NEW YORK CITY SCALE: | OLD DRAWING NO DRAWING NO
===== = | 0 | 042012 | GPI| REPLICATED IN CADD 11/2"=10" SE-027
I W B |[NO| DATE |BY | DESCRIPTION




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

120"

412"

NOTES:

1.

NYCDOT SPECIFICATION 7B LED SIGNAL MODULE.

YEARS.

I I
&
o
®
9" X
; e 11/8"
~
%
P
| P
Y
.
o
ALL LEDS MUST BE INCANDESCENT LOOK TYPE AND BE APPROVED BY NYCDOT, AND FOLLOW
THE BIKE LANE SYMBOL SHALL BE AS ILLUSTRATED ON THIS DRAWING, OR APPROVED EQUAL. REVISION DEPARTMENT OF TRANSPORTATION
THE BIKE SYMBOL SHALL BE A MASK TYPE OF CONSTRUCTION USING A HIGH QUALITY 3-MIL BUREAU OF TRAFFIC OPERATIONS
FLEXIBLE VINYL RATED FOR OUTDOOR USE AND UNAFFECTED BY SUN LIGHT (UV RAYS). THE 34-02 QUEENS BLVD L.1.C.,N.Y.11101
MATERIAL SHALL HAVE A PERMANENT ACRYLIC PRESSURE SENSITIVE ADHESIVE. THE MATERIAL
SHALL BE RESISTANT TO WATER, HUMIDITY, AND MOST PETROLEUM BASED SOLVENTS, WITH A BICYCLE SYMBOL
SERVICE RANGE TEMPERATURE OF -40°F TO +200°F. THE PRODUCT LIFE OF THE VINYL SHALL BE
EQUAL TO THE LIFE OF THE LED SIGNAL MODULE AND BE WARRANTED FOR NOT LESS THAN 7 FOR 12" TRAFFIC SIGNAL COVER
NEW YORK CITY
- - - 1 03/2012 | GPI| REPLICATED IN CADD SCALE: OLD DRAWING NO. DRAWING NO.
=== 0 09/2007 | NJ | LC539S CREATED W e
S —— — 6"=1-0 LC-539S SE-028
I W B |[\O| DATE |BY | DESCRIPTION

5/16"

1

1




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

PART 6

PART 5

PART 8
— _ | |
=
#\ .
| WOOD POLE L T
' ' !
| | PART 3
| | /
| | .
|
| y
A
| |
| |
\ | PART 7 PART 2
| |
| |
ELEVATION

PART 4

SECTION "A-A"

PARTS LIST
PART DESCRIPTION DRAWING NO.| QTY.
NO.
1 |1 1/2"x17" LONG SCHEDULE 80 AL. PIPE, 11 1/2 NPSM 3/4" THREADED ON BOTH ENDS 2
2 |11/2" DIE CAST AL. SERRATED TEE BE-007 2
3 [11/2"x1 3/8" LONG DIE CAST AL. CHASE NIPPLE (LC-8-2) BE-009 2
4|1 1/2"x5/8" LONG DIE CAST AL. CLOSURE CAP (LC-8-4) 2
5 |NEOPRENE SEAL WASHER 2 3/4" OD x 1 7/8" ID x 1/8" TH (FOR TOP BRACKET ONLY) (N.I.C.*) 1
6 |TOP BRACKET CONNECTION 1
7 |BOTTOM BRACKET CONNECTION m 1
8 DIE CAST AL. PLAIN TEE 1
"A" |1/4"-20x1/2" LONG ST. STEEL SQ. HEAD HOLLOW NOSE SET SCREW 6
"B" |3/8"-16x1" LONG ST. STEEL SQ. HEAD CUP POINT SET SCREW 1
"C" |1/2"x4" GAL. STEEL LAG SCREW (N.1.C.*) 4
* - NOT IN CONTRACT (N.I.C.)
NOTES:
1. SIGNAL HOUSING MAY BE ROTATED AROUND CENTER OF CONNECTION.
2. A THIN COAT OF "MOLYKOTE ANTI SEIZE THREAD COMPOUND" BY DOW
CORNING, OR APPROVED EQUAL SHALL BE USED ON ALL THREADING IN
ALUMINUM THREADED CONNECTIONS.
REVISION DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.I.C.N.Y.11101
BRACKET MOUNTING ASSEMBLY FOR
PEDESTRIAN SIGNALS ON WOOD POLES "WB-P"
-NEW YO-RK C-ITY SCALE: OLD DRAWING NO DRAWING NO
_= 0 | 1012012 [GPI| CREATED . . .
——————— 11/2" = 10" SE-029_1
I W B |[NO| DATE |BY | DESCRIPTION -




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

PART 7 PART 9

X

"o

W T T i

\
\
\
|y PART 3 ‘
\
\

l RS Cs
l X
|

wgr

PART 8 ELEVATION

PART 4

SECTION "A-A"

PARTS LIST

PART
NO.

DESCRIPTION

DRAWING NO.| QTY.

11/2"x11" LONG SCHEDULE 80 AL. PIPE, 11 1/2 NPSM 3/4" THREADED ON BOTH ENDS

2 |1 1/2" DIE CAST AL. SERRATED TEE SE-00 4
3 |11/2"x1 3/8" LONG DIE CAST AL. CHASE NIPPLE (LC-8-2) SET008 4
4 |11/2"x5/8" LONG DIE CAST AL. CLOSURE CAP (LC-8-4) SE-01 6
5 | 120 DEGREE "Y" FITTING 2
6 | NEOPRENE SEAL WASHER 2 3/4" OD x 1 7/8" ID x 1/8" TH (FOR TOP BRACKET ONLY) (N.I.C.*) 2
7 | TOP BRACKET CONNECTION SE-019 1
8 | BOTTOM BRACKET CONNECTION 1
9 | DIE CAST AL. PLAIN TEE 1
"A" | 1/4"-20x1/2" LONG ST. STEEL SQ. HEAD HOLLOW NOSE SET SCREW 14
"B" | 3/8"-16x1" LONG ST. STEEL SQ. HEAD CUP POINT SET SCREW 1
"C" | 1/2"x4" GAL. STEEL LAG SCREW (N.I.C.*) 4
* _NOT IN CONTRACT (N.1.C)
NOTES:
1. SIGNAL HOUSING MAY BE ROTATED AROUND CENTER OF CONNECTION.
2. ATHIN COAT OF "MOLYKOTE ANTI SEIZE THREAD COMPOUND" BY DOW
CORNING, OR APPROVED EQUAL SHALL BE USED ON ALL THREADING IN
ALUMINUM THREADED CONNECTIONS.
REVISION DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.I.C.,N.Y.11101
BRACKET MOUNTING ASSEMBLY FOR
PEDESTRIAN SIGNALS ON WOOD POLES "WB-2P"
NEW YO-RK CITY SCALE: OLD DRAWING NO DRAWING NO
-_— —! 0 10/2012 | GPI| CREATED ' . .
—— 112" =1-0" SE-029 2
I W B |[\O| DATE |BY | DESCRIPTION -




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

POLE & FOUNDATION Q

15" DIA BOLT CIRCLE

120°

POLE & FOUNDATION (E

PLAN VIEW

&
N~ (
.q -
p a
R
a 4
. a
<
4 <

.0000000ooono

14

i000000000000]

"\/

A

=

e
~ g

NOTE:

1.

TO SECURE TEMPORARY CONCRETE PYLON TO CONCRETE
SURFACE USE 3/4" CONCRETE ANCHOR BOLTS.

SECTION "A-A"
SCALE: 3/4" = 10"

&
/ 3/4" GALVANIZED WASHER
— 1
I j] O
AN
3/4"x12" GALVANIZED ROD
3/4" GALVANIZED ROD HEX. NUT
ANCHOR BRACKET
DETAIL A
SCALE: 3"=1'-0"
SEE DETAIL A
| | ]
%
%
.
T § 13/4" S
7/8" ®
L ‘
H H " " \ H i H ]
f
> 1" ANCHOR BOLTS EQUALLY SEPARATED — = 4
(SEE DWG [F-007]ASSEMBLY "C") - -
ANCHOR BRACKET DETAIL
2" CONDUIT BENDS SCALE: 3"=1'-0"
(SEE DWG. E=008)
REVISION DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.I.C.N.Y.11101
3000 PSI TEST CONCRETE
VS. CLASS 1 CONRETE (1:2:4) TEMPORARY TRAFFIC SIGNAL CONCRETE PYLON
NEW YORK CITY .
B 4 B | ' | 052012 [GPI| REPLICATED IN CADD SCALE: ]| OLD DRAWING NO. DRAWING NO.
_= 0 | 06/2006 | JH | CREATED _ )
I W B |[\O| DATE |BY | DESCRIPTION AS NOTED LB-142768 MISC-001.1




7

40"
2'-0" DOOR

2"HOLE — -

3/4" PLYWOOD
ToP
ROUND HD
WOOD SCREW \
2" LONG 3-0"

4" cuToUT
IN PIPE 2X4 WITH

FOR WIRE 2X4BLOCK ]
ENTRY

WHICH HAS
2"HOLE IN
CENTER

O]

PAINT ALL EXPOSED SURFACES OF WOOD
AND PIPE WITH 2 COASTS OF PAINT.
(COLOR AT DISCRETION OF CONTRACTOR)

NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

ELEVATION FRAMING BOTTOM

NOTES:

1. PIPETOBE 1 1/2"x10' GALV. STEEL.

2. BASE TO INCLUDE 2 BAGS OF STONE 200 LBS EA.
3. 2X4'S TO BE USED FOR FRAMING.

4. CONTRACTORS IDENTIFICATION TO BE STENCILED ON
OUTSIDE OF BASE WITH 3" MIN LETTERING HEIGHT.

REVISION DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.1.C.,N.Y.11101

TEMPORARY TRAFFIC SIGNAL WOOD PYLON

REPLICATED IN CADD SCALE: OLD DRAWING NO. DRAWING NO.

A | | 52012 [P
[

0 [ 081977 [ PR | CREATED 34" = 10" LE-1367S MISC-001 2
NO| DATE |BY | DESCRIPTION




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

50"

i

!

A

SPEED SIGN UNIT

STAINLESS STEEL CABLE
STRAP @ 12" O.C.
SEE NOTE 2

@)

@)

@)
@)
o
O @)
OOOOOOOOO

®)
@)
@)

@)

0000000 4
o)
S

OOOOOOO

O

0Ne}®)

YOUR SPEED

1S

4 CONDUCTOR CABLE

1/2" WEATHERTIGHT
CONNECTOR

NOTES:

JUNCTION

BOX

1. LIST OF SUGGESTED MOUNTING HARDWARE SUPPLIED BY INSTALLER:

5'-5/16" GALVANIZED CHAIN

2 3/8"x1 1/2" SS BOLTS WITH SS FLAT WASHER

13/8" SS LOCK NUT NYLON INSERT TYPE

3 1/2" SS UBOLT WITH SS FLAT WASHERS AND NYLON LOCK NUT

2. PART FOR THE STRAP ARE AS FOLLOWS:
12" STAINLESS STEEL BANDING WITH BUCKEL
PLUS FOUR SIGN BRACKET WITH 5/16"x1/2" SCREW AND
BRIDGEPORT 2110-S CONDUIT HANGER WITH INSULATOR
3 1/2" SS U BOLT WITH SS FLAT WASHERS AND NYLON LOCK NUT

3. STRAPS ON SIGN BRACKET - CAT SB022

\_ﬁ_l

RADAR

FRONT VIEW

MAST ARM MAST ARM
TIE ROD
— B = = ___ 7 ¢
o - -
SPEED SIGN UNIT
30" MINIMUM
SAFETY CHAIN
TOP VIEW
SEE DETAIL'A' TIE ROD +
ES =
SPEED SIGN UNIT
° \
o
N
31/2"UBOLT
‘l\

5'LENGTH SAFETY CHAIN "Z" ALUMINUM BRACKET

WRAPPED AROUND MAST ARM /\/ /\/ BOLTED TO UNIT
| | SUPPLIED BY INSTALLER SUPPLIED WITH SIGN

SEE NOTE 1

DETAIL ‘A’

REVISION

DEPARTMENT OF TRANSPORTATION

BUREAU OF TRAFFIC OPERATIONS

34-02 QUEENS BLVD L.I.C.,N.Y.11101

SPEED SIGN UNIT ONLY

FOR AMERICAN SIGNAL SPEED SIGN

NEW YORK CITY .

B 4 B | ' | 052012 [GPI| REPLICATED IN CADD SCALE: ]| OLD DRAWING NO. DRAWING NO.
====——= = | 0 | 122003 | JH | CREATED

E-=-C N.T.S. LB-13730S MISC-002_1
I W B |[NO| DATE |BY | DESCRIPTION -




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

5.0

A

5'MAST ARM EXTENSION

!

SEE DETAIL A’
MAST ARM

~

1

MAST ARM TIE ROD

1\ Bl S €=

il

SPEED SIGN UNIT

I

3'-0" MINIMUM

TOP VIEW

)

<
- D
— )
e

STAINLESS STEEL CABLE
STRAP @ 12" O.C.
(SEE NOTE 2)

2 CONDUCTOR SHILDED CABLE

\

MAST ARM

S

RADAR

FRONT VIEW

3'-0" MINIMUM

SPEED SIGN UNIT

6' LENGTH SAFETY CHAIN
WRAPPED AROUND MAST ARM
! SUPPLIED BY INSTALLER
(SEE NOTE 1)

“

24"

‘A

DETAIL "A"

NOTES:

1. LIST OF SUGGESTED MOUNTING HARDWARE SUPPLIED BY INSTALLER:
6'-5/16" GALVANIZED CHAIN
2 3/8"x1 1/2" SS BOLTS WITH SS FLAT WASHER
13/8" SS LOCK NUT NYLON INSERT TYPE
3 1/2" 8S U BOLT WITH SS FLAT WASHERS AND NYLON LOCK NUT

2. PART FOR THE STRAP ARE AS FOLLOWS:
12" STAINLESS STEEL BANDING WITH BUCKEL
PLUS FOUR SIGN BRACKET WITH 5/16"x1/2" SCREW AND
BRIDGEPORT 2110-S CONDUIT HANGER WITH INSULATO
3 1/2" SS U BOLT WITH SS FLAT WASHERS AND NYLON LOCK NUT

3. STRAPS ON SIGN BRACKET - CAT SB022

4.  JUNCTION BOX SHALL BE MOUNTED ON THE POLE CLOSE TO MAST ARM

REVISION DEPARTMENT OF TRANSPORTATION

BUREAU OF TRAFFIC OPERATIONS

34-02 QUEENS BLVD L.I.C.,N.Y.11101

SPEED SIGN UNIT

FOR SPEED CHECK DISPLAYS

B o B | | 052072 [ GPI| REPLICATED IN CAGD SCALE: | OLD DRAWING NO. DRAWING NO.
=== | 0 [ 122003 | JH | CREATED
I W B |[NO| DATE |BY | DESCRIPTION -




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

25' TAPPERED STREET SHAFT ASSEMBLY
(SEE DWG H-3722) \

=/
E —
/ l
12" AMBER TRAFFIC SIGNAL

/. 3\

SCHOOL

SPEED
LIMIT

T
L
9 Ix
=2
g
WHEN
FLASHING
\
o
)
ﬂ§
©
oo X
X
—_——== 2
=== S
S
0

LAWTON HUB (DWG [SE-018)

11/2"x4" £ 1" LONG SCHEDULE 40 AL. PIPE,
11 1/2" NPSM 3/4" THREADED ON BOTH ENDS

11/2" DIE CAST AL. SERRATED TEE (DWG [SE-007))

SEAL WASHER
(N.1.C)

~—— 1 1/2"x3/4" LONG DIE CAST AL. CHASE
NIPPLE LC-8-2A (DWG SE-009)

NOTES:

SCALE: 172" =1'-0"

SIGNAL

1 1/2"x5/8" LONG DIE CAST AL. CLOSURE CAP LC-8-4
(DWG BE=0T1)

SCALE: 1-1/2" = 1-0"

17"
(O 1/4" STUD 1/4" STUD O\
204
FLASHER
BEACON MANUAL CIRCUIT
ON ON BREAKER o
POWER e
SUPPLY 204
U o
N
= BEACON AUTO
OFF
AC SURGE MARATHON
PROTECTOR BLOCK
H N F1F2
O 1/4" STUD 1/4" STUD O
\_ ~J
SCHOOL ZONE FLASHER PANEL
SCALE: 3"=1-0"
REVISION DEPARTMENT OF TRANSPORTATION

1. FOUNDATION FOR TAPPERED STEEL SHAFT ASSEMBLY SHALL BE AS

PER DWG H-3788.

BUREAU OF TRAFFIC OPERATIONS

34-02 QUEENS BLVD

L.I.C.,N.Y.11101

2. STEEL TRANSFORMER BASE SHALL BE AS PER STREET LIGHTING
SPEC DWG H-3722.

SCHOOL ZONE FLASHER ASSEMBLY

B 28 BB | | 052012 [GPI| REPLICATED IN CADD SCALE: | OLD DRAWING NO. DRAWING NO.
=== | 0 [ 102009 | JH | CREATED

AS NOTED LB-14781S MISC-003_1
I W B |[NO| DATE |BY | DESCRIPTION -




5' MAST ARM EXTENSION

.\. 20" MAST ARM

MIN. 15'-7"+ FROM FINISH GRADE

SCHOOL ZONE FLASHER ON
5' MAST ARM EXTENSION

B / MONOTUBE MAST ARM

,,,_,_,i,_,i,,_j,_ ,,,,, N

\— "M-2A" POLE

MIN. 15'-7"+ FROM FINISH GRADE

NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

- SCHOOL ZONE FLASHER ON
MONOTUBE MAST ARM

(WITHOUT DEFLECTION)

(WITHOUT DEFLECTION)

PARTS LIST
| A PART DESCRIPTION DWG NO. | QTY.
il . ] 1 |1 1/2'x46 1/2" LONG SCHEDULE 40 AL. PIPE, 11 1/2 NPSM 1 1/4" THREADED ON BOTH ENDS 1
] S 2 |1 1/2"DIE CAST AL. SERRATED TEE 2
a e i PART 3 PART 5 3 | NEOPRENE SEAL WASHER 2 3/4" ODx1 7/8" IDx1/8" TH (N.I.C*) 2
- 4 |11/2"x2" LONG DIE CAST AL. CHASE NIPPLE (LC-8-2A) 2
SCHOOL ] 5 |1 1/2'x1 3/8" LONG DIE CAST AL. CLOSURE CAP (LC-8-6) 2
SPEED 6 |11/2'x5/8" LONG DIE CAST AL. CLOSURE CAP (LC-8-4) BEO0T1 | 1
PART7 — 7 |1 1/2" DIE CAST AL. PIPE LOCKNUT 2
LIMIT 8 |11/2" MALE X 1 1/4" FEMALE NPT REDUCING BUSHING, HIGH IMPACT UV-RESISTANT PLASTIC (SEE NOTE 4) 1
ol & —|-|—| 9 [11/4" MNPT UV AND WEATHER RESISTANT CORD GRIP (SEE NOTE 4) 1
z 0 T /\/ 10 | ARTICULATED CLAMP FOR 1 1/2" PIPE 1
\L 11 | FLARED-LEG STAINLESS STEEL SIGN MOUNTING BRACKET 2
SCHOOL SPEED LIMIT 12 | 5/16™18x5/8" LONG STAINLESS STEEL HEX BOLT 2
WHEN SIGN (24"W x 48"H) PART 4 13 | 5/16" STAINLESS STEEL/NEOPRENE WASHERS 2
FLASHING
*. NOT IN CONTRACT (N.I.C.)
y 0 PART 8 T
- I ° / PART 2
SECTION "A-A" °
PART 9
PART 1
PART 13
UPPER SIGNAL ASSEMBLY DETAIL
~
”
| B PART 1
@T i PART 6 ° PART 10
[1 \
scHOOL PART 3 ° L PART 2
SPEED ARTICULATED - — °
I-I M IT CLAMP ?
2 0 6 PART 4 PART 12
WHEN N
FLASHING
PART7 —
! SCHOOL ZONE FLASHER ASSEMBLY
PART 5 ]
" Qn 1 1/2" SCHEDULE 80 AL. PIPE EXTENSION,
SECTION "B-B 11 1/2 NPSM 1 1/2" THREADED ON BOTH ENDS
LOWER SIGNAL ASSEMBLY DETAIL
NOTES:
1. TRAFFIC SIGNAL SHALL BE CENTERED OVER TRAFFIC LANE, OR AS PER ENGINEER.
2. IF THE ASSEMBLY IS MOUNTED ON A 5' MAST ARM EXTENSION, THE SIGNAL CABLE SHALL BE ROUTED THROUGH THE MAST EXTENDED MOUNT CLAMP
ARM AND J2A. TO AVOID CORROSION, MAST ARM SHALL NOT BE DRILLED. ALL ELECTRICAL CABLES RUN ON EXTERIOR OF
MAST ARM SHALL BE HOUSED IN 3/4" PVC CONDUIT WHICH SHALL BE CONTINUOUS, FROM POLE TO SIGNAL HOUSING
LEAVING ENOUGH EXPOSED CABLE FOR CONNECTIONS AND ATTACHED WITH BANDING (SEE DWG EEIIZ). PVC CONDUIT EVISION
SHALL BE SECURED TO MAST ARM WITH 3/4" STAINLESS STEEL BANDING AND BUCKLES SPACED NO MORE THAN 36" APART. DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
3. PREFERRED CABLE ENTRY OF THE ASSEMBLY IS IN UPPER SERRATED TEE. IF THE FINAL INSTALLED POSITION OF THE 34-02 QUEENS BLVD L.I.C.,N.Y.11101
ASSEMBLY RESULTS IN THE LOWER SERRATED TEE BEING CLOSER TO THE MAST ARM, THE CABLE ENTRY CAN BE TROUGH
THE LOWER SERRATED TEE.
4. 11/4" CORD GRIP SHALL BE NON-METALLIC, UV AND WEATHER RESISTANT WITH GROMMET ACCEPTING 7 TO 16 CONNECTOR SCHOOL ZONE FLASHER ON MAST ARM
AWG#14 NYC SIGNAL CABLES WITH DIAMETER RANGE OF 0.51"-0.79" NEW YORK GITY
(HUMMEL HSK-K #1.209.5401.71 OR EQUAL). FOUR CONDUCTOR AWG#14 NYC SIGNAL CABLE IS SCALE: OLD DRAWING NO. DRAWING NO.
NOT TO BE USED IN THIS INSTALLATION. I 4 IR
_—== 0 | 07/2013 | DR | CREATED NT.S MISC-003 2
I W B |[\O| DATE |BY | DESCRIPTION -




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

TOP OF SHAFT

Bf

NOTES:

1.

7/8" THKX27/8"LG. X3 1/2'H
STEEL FLAT BAR WELDED 4" DIA.

L3
)
o
-
m

\ (2) 5/8"x21*-10" LONG STEEL TIE ROD 5
N PROVIDE 13/16" HOLE N
STRAIGHT MAST ARM 3"x20' LONG SCHEDULE 40 STEEL PIPE TO ACCEPT 3/4" BOLTS ;
wgo" C/W NUT, WASHER & LOCK
o 'b2" ~ WASHER Y
o g £ "co™ *
' 3 \ | | ‘F
o -’l ¥ g g ¥ ¥ ¥ g ¥ ¥ ¥ ¥ g ¥ ¥ ¥ ¥ A & ‘ " 2
|\ & 31/2 z
o -
&y \ OD PIPE
P _J~ SIGNFACE Ve 4" DIA x 1/4" TH STEEL PLATE ‘ |
_ SEE DETAIL K" WELDED TO PIPE TO CREATE
L _ _ _ _ _ _ _ _ _ _ _ _ WATER TIGHT SEAL L/d
A
MAST ARM
1 100" TO 20'-0" ‘ ‘ e
(AS DESIGNATED BY ENGINEER) | |
57/8" " oA
j———————————————
200"
; o (12) 5/8-11 S.S. HEX NUTS o DETAIL "B"
Tl B - SCALE: 1-1/2" = 10"
] TIE RODS
& : "J2A"
S 2
5 \
¥ 1
. MAST ARM
e z i
N = i
I ©
y 8 | P——
—= PLAN SECTION "B-B"
CROSS ARM 3 1/2"x4" LONG SCALE: 11727 =1-0"
EXTRA STRONG STEEL PIPE
——— "M-2A" POLE
"M-2A" POLE
11/4" BOLT
S.S. FLAT WASHER 1X1/4" TH. STEEL BAR
EACH SIDE WITH S.S. NY LOCK WELDED TO PIPE
LOCKING NUT OR APPROVED
IIFACE SIGN
EQUAL. UBY OTHER)
— |- 1/4 STEEL HINGE (SEE DETAIL "K"
FULL LENGTH OF SIGN (BY OTHER)
| (10 r J[ ********************
\ C 9@ - - - - - - —<— G masTARM
N I | SECTION "A-A"
: € m O = 5 SoET oo
11 11 11 11 11 11 11 11 11 11 11 11 11 11
! ! ! © S °
ELEVATION \ |- 13 172" —i 131/2" 4>'
SCALE: 3/8" = 1-0" BOTTOM OF TRANSFORMER BASE T STEEL HINGE SEE NOTE #2
156" MINIMUM CLEARANCE FROM THE BOTTOM OF THE SIGN TO S~ epce oF panEL REVISION DEPARTMENT OF TRANSPORTATION
THE BOTTOM OF THE TRANSFORMER BASE. BUREAU OF TRAFFIC OPERATIONS
e DETAIL "K" 34-02 QUEENS BLVD L.I.C.N.Y.11101
STEEL HINGE SUPPLIED BY MANUFACTURER. / —
SCALE: 1-1/2"=1"
FOR MORE DETAILS ON "M-2A" POLE, TRANSFORMER BASE, "A2", "B2",
"C2", "D2", TIE RODS, WASHER "A", "J2A" SEE MAST ARM SET OF DWGS. OVERHEAD SIGN FOR "M-2A" POLE
TO ACHIEVE MIN CLEARANCE, "M-2A" POLE MAY HAVE TO BE INSTALLED NEW YORK CITY
ON FOUNDATION RAISED WITH STEEL CYLINDER (SEE DWG F-003) — W N 1 | 0512012 | GPI| REPLICATED IN CADD SCALE: OLD DRAWING NO. DRAWING NO.
FOUNDATION TO HAVE MINIMUM THREE ELBOWS. === 0 N/A_ |N/A| CREATED AS NOTED LC501S MISC-004
I W B [\o| DATE |BY | DESCRIPTION




O
_

u
Al

|

NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

FRONT VIEW SIDE VIEW

SINGLE TRAFFIC SIGNAL

FRONT VIEW

DOUBLE TRAFFIC SIGNAL WITH
PLAIN TEE AS SERVICE ENTRANCE

|_(
I '!;:
; 0|
[ L]

DOUBLE TRAFFIC SIGNAL
WITH SEVICE ENTRANCE CAP

REVISION DEPARTMENT OF TRANSPORTATION

BUREAU OF TRAFFIC OPERATIONS

34-02 QUEENS BLVD L.I.C.,N.Y.11101

TRAFFIC SIGNALS ON "EL" COLUMN

P | REPLICATED IN CADD SCALE. | OLD DRAWING NO. | DRAWING NO.
DM | CREATED 1= 120" LG-148S MISC-005_1
BY | DESCRIPTION




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

3" GALVANIZED CHANNEL

A z
|; —N— 1 1/2"x4" LONG AL. PIPE
NZZZZ ] /7
¢
. 4
O | [ @) O O /
/
272 7/ 1
. AL
A
/\/ /\/ LAWTON HUB
ELEVATION SECTION "A-A"
5/8"-11 THREADED ROD —AT
|
|
| /]
r M —’\/J—
********* e —
L L SECTION "B-B"
B
LAWTON HUB
PLAN REVISION DEPARTMENT OF TRANSPORTATION
—_— BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.I.C.,N.Y.11101
TRAFFIC SIGNALS ON "EL" COLUMN
DETAIL OF MOUNTING BRACKET
NEW YORK CITY .
B 4 B | ' | 052012 [GPI| REPLICATED IN CADD SCALE: ]| OLD DRAWING NO. DRAWING NO.
=== | 0 | 031964 [ DM | CREATED .
—— 3"=1-0 LG-147S MISC-005_2
I W B |[NO| DATE |BY | DESCRIPTION -




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

SPOT CAST
(TOP & BOTTOM)

DRILLED AND TAPPED FOR
12-24 NC MACHINE SCREWS

ACCESSORY UNIT
(NOT SHOWN IN FRONT VIEW)

— TAP FOR
1/2" PIPE (NPSM)

TOP VIEW

17/8"

i

DRILLED FOR CLEARANCE FOR - ]
1/4"-20 MACHINE SCREWS

33/8"

f

NZ
|

TAP FOR 1/2" PIPE (NPSM)

FRONT VIEW

SIDE VIEW

ISOMETRIC VIEW

N.T.S.

\ ACCESSORY UNIT

DRILLED FOR CLEARANCE FOR
(4) 1/4"-20 MACHINE SCREWS

—]— — DRILLED FOR CLEARANCE FOR 1/2" PIPE
|-

REVISION DEPARTMENT OF TRANSPORTATION

BUREAU OF TRAFFIC OPERATIONS

34-02 QUEENS BLVD L.I.C.,N.Y.11101

PUSH BUTTON POLE MOUNT
NEW YORK CITY .
B 4 B | ' | 052012 [GPI| REPLICATED IN CADD SCALE: ]| OLD DRAWING NO. DRAWING NO.
===—=—= = | 0 | 3195 |EHB| CREATED o g
E-=-C 10" = 1-0 LB-640S MISC-006
I W B |[NO| DATE |BY | DESCRIPTION




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

DOME CCTV ASSEMBLY

[
I H R
4 o)
______________ = CCTV CABINET L
Hr_,- - \ o
1" PIPE NIPPLE \ A —] _/j_</
(DRILL AND TAP POLE)
DOME CCTV CAMERA ASSEMBLY
MOUNTING ARM FOR DOME
POLE ADAPTER TYPICAL CCTV CAMERA/CABINET ALIGNMENT-

MIDBLOCK LOCATION

x
g w
H x
H =)
H =
-' e
CCTV CAMERA CABLE L
(RUNS INSIDE POLE) z
5 . DOME CCTV ASSEMBLY
® @
© = & CURB
H <
N H o
[
Y 3
Y e CCTV CABINET
3 E
S
=
I
o
w
I
(2) MOUNTING BRACKETS 2
(FURNISHED BY NYCDOT) E
CCTV CABINET 3 TYPICAL CCTV CAMERA/CABINET ALIGNMENT-
m STREET CORNER LOCATION
&
z
1 1/2"x1 3/8" LONG PIPE NIPPLE FROM )
CABINET INSTALLATION KIT (DRILL AND Q
TAP POLE) 8
2c#10 WITH #8 GND
NOTES:
CONNECT TO NEUTRAL (AC-
(AC) 1. ACTUAL FIELD CONDITIONS WILL VARY. ADJUST MOUNTING HEIGHTS AS REQUIRED
SO THAT CAMERA IS PLACED AS HIGH ON THE POLE AS PRACTICAL WHILE
WATERPROOF IN-LINE FUSE HOLDER MAINTAINING AN OBSTRUCTED VIEW AND MIN. 6" CLEARANCE TO EXISTING DEVICE.
oD AND 30 A FUSE (AC+). SEE NOTE 4
BOND TO EXISTING GROUND CONDUCTOR 2. COORDINATE POLE PENETRATION LOCATIONS WITH EXISTING HOLES IN CABINET,
OR ELECTRODE, OR INSTALL GROUNDING CCTV MOUNTING ARM AND POLE ADAPTER
CLAMP FOR RMC (IF REQUIRED
y ( ) 3. ALL CABINET MATERIALS AND INSTALLATION SHALL BE IN ACCORDANCE WITH THE

LATEST NYCDOT SPECIFICATION FOR ASTC CABINETS.

4. REQUIRE 24 HR 120 VAC SERVICE AT BASE OF POLE. TO BE PROVIDED BY NYCDOT

(UNMETERED)
TYPICAI__ CCTV CAMERA AND CABINET INSTAQATION SHOWN ON
STREETLIGHT WITH OCTAGONAL FABRICATED STEEL POLE AND LUMINAIRE
REVISION DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L..C.,N.Y.11101
CCTV EQUIPMENT MOUNTING DETAIL
NEW YORK CITY .
B 4 B | ' | 032013 [GPI| REPLICATED IN CADD SCALE: ]| OLD DRAWING NO. DRAWING NO.
=== | 0| NA [Jo| CREATED
Es= N.TS. LB-14553S MISC-007_1
I W B |[NO| DATE |BY | DESCRIPTION -




2AWG16

CCTV-CAMERA

RG-59/U

VIDEO CAMERA

RS 422

y

PTZ

LOW PROFILE PERMANENT MOUNT
N-ANTENNA

COMMUNICATIONS
PANEL

CCTV SURGE
SUPRESSOR (ESS)

GND

SERVICE PANEL

AC+
c TO TB1
AC- TO TB1

GND
TO TB1

NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

SEE CCTV CABINET SERVICE PANEL
FOR WIRING DIRECTIONS

TO TB1
TODR

NEMA 3R. CABINET

RF N-MALE TO N-MALE RG-58/U SERVICE PANEL
DR
VIDEO SERVER GF 1
1 2 1 2 z
SS-NEUT. w
AC- out | SS-LINE - 3
s — L cB2-1 ouT R
82 | 1] 12 I3
POWER I GNID o
SUPPLY GND T
POWER SUPPLY BUSS BUSS g
Q o~ -
N ) D
- £ & &
TODR _H O O O O O O I 6 OUTLET POWER STRIP é L{t}E L|r|t1E NELLIJT
(MOUNT ON SHELF) AC.BUSS N ouT ouT
[ GNpBuss MAIN oD
$( ca2 [ cBr LINE__ NEUT. CNDH- Buss
- R 21 % % | B by
THERMOSTAT - AC-BUSS
o | SURGE SUPPRESSOR (SS)
Q 4 © SHP-300-10
> = (EDCO)
TO TB2-1 F1 " >
[
1 2 ﬁ IN jJ
FAN @
— 0 - N OUT  GND
W o uw 0 m w
O v 30 -0 AC+
TB2-1
cepe o %50 B Tano-auss
LINE FILTER (LF)
I GND INXT 120NL000-1
(EDCO)
1
MOUNT ON STANDOFFS ON CABINET FLOOR
REVISION DEPARTMENT OF TRANSPORTATION
CABINET WIRING DETAIL BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.I.C.,N.Y.11101
CCTV CABINET WIRING AND
SERVICE PANEL DETAIL
NEW YORK CITY -
B 4 B | ' | 052012 [GPI| REPLICATED IN CADD SCALE: | OLD DRAWING NO. DRAWING NO.
=== [0 NA |JO]| CREATED NTS. LB-145775 MISC-007 2
I W B |[\O| DATE |BY | DESCRIPTION LB-145765 -




TOP OF SIDEWALK

GROUT
FILL RECESSES WITH GROUT

AFTER FRAME IS FINALLY
IN PLACE

11/4"

WATER ROOFING

NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

! 1 | !
212" L 6"
_— | |—-— .
I 1 ‘ N .
—— . 5 3 *fLififfiiiiiﬁ 1
= ° | Wl oW ’
TorET R LY 1N , *
— — _| ‘ | _ m‘ :C_’ ;’
" 1—— 1 | T — . | . w
AAL - —]— 3 3 —|— — L — . a s ss
[ ] Y J 2INSERTS ON VERTICAL — | * s ® P fg
[T o 117 \ CENTERLINE OF EACH SIDE . a = £
dulik . OF BOTH TYPES OF BOX. o’ a3 2 4| ¢
[ b [ ] e 4 1 = B | %% & =
T Y ! S b 5
1 1 . 4 Cu
R 2 KNOCKOUTS o E ®
B 16" (TYPE 1812) |  ON EACH SIDE - g :z;
B T 4 ke o
a 24" (TYPE 2418) M STONE DRAIN L , £ & a g =
- - L — a % s ]
(BY CONTRACTOR) Y U - |-~ e .
(=) - o f “ - L - X
- ® " 2
m—vi % — TJ‘ ‘r B T = N
TOP VIEW K J|
(WITHOUT METALLIC FRAME AND COVER) s o, T F% <. 4 iy
" 4 a 4 <
4% o 4 L e P . M LA q‘
PRI 4 Al ‘ | I

7“7 S—
—
2" CONDUIT C
- ( SECTION "A - A"
4 1'x1’x1" OF BROKEN
L STONE UNDER BOX
_ = . . DRAIN
L—H‘x . 7 - %Eg
r e ip oES KNOCKOUT FOR 3" TRANSITE
I - s52 CONDUIT IN ONE SHORT SIDE
<t . APPROVED STIFF WATERPROOFING oz¥x OF TYPE 2418 BOX ONLY, ON ¢ BOX.
COMPOUND - CONDUITS TO MOVE
FREELY THRU BOX WALLS. I
|
TYPICAL CONDUIT INSTALLATION | g |
- 10
1
SEAL
EXTRA KNOCKOUT IN TYPE 2418
NOTES: BOX ONLY FOR "MK" DETECTOR
1. FOR CAST FRAME AND STEEL COVER SEE DWG. MIISC-008 3.
REVISION DEPARTMENT OF TRANSPORTATION
2. PLUG UNUSED INSERTS WITH 5/16"-18x1 1/4" LONG WELL GREASED CAP SCREW. BUREAU OF TRAFFIC OPERATIONS
3. PROVIDE EXTRA KNOCKOUTS, IF NECESSARY, TO AGREE WITH INTERSECTION DRAWINGS. 34-02 QUEENS BLVD L.I.C..N.Y.11101
4. CONCRETE SHALL CONSIST OF 1 PART HIGHGRADE PORTLAND CEMENT - 2 PARTS CLEAN SHARP SAND OR
TRAP ROCK GRANITE OR GRAVEL SCREENINGS - 4 PARTS HARD CRUSHED ROCK OR GRAVEL (1" SIZE) - FRESH PRECAST CONCRETE TRAFFIC SIDEWALK BOX
WATER.
NEW YORK CITY -
B 4 B | ' | 052012 [GPI| REPLICATED IN CADD SCALE: | OLD DRAWING NO. DRAWING NO.
=== 0 03/1963 | JB | CREATED n_q1 A
S —— — 11/2"=1'-0 LG-118-S MISC-008_1
I W B |[\O| DATE |BY | DESCRIPTION -




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

8 1/2" 81/2" 812"
DIAMOND PATTERN COVER
TAPERED RIBS
3/8"-16 NC TAPPED 1
HOLES IN FRAME
| 3 41/4"
) st —
»
A
(@]
% 3
(3]
(o))
| | _ _ R I _ _ 1/8" MAX. COVER
i ¢ ¢ ﬂ |-
&
4 LIFTING SLOTS / COVER FOR TYPE 2418 . |
(SEE COVER DETAILS) e
7/16" DIA. HOLES WITH 1" DIA. X 5/16" - |
COUNTERBORE IN COVER. 93/4" s 93/4" 1 .
- -— &
PLAN
3/8" MIN. 1/8" NEOPRENE GASKET
_ _ 3z — —I1 CEMENTED TO FRAME FRAME
SEE DETAIL "A" \
Y
- % DETAIL "A"
P4 (TYPICAL)
— — — ] J\
0/ , 1 o— - + - i
N P
" (e —— = =
I L 1 1/2" DIA. g 3
; - ‘ [T} © '3
o
ALL WALLS 3/8" THICKNESS /5/7 a ©
5 -—— 1= Y Y | |
} - \ ! _ _ } _ pal
5/16"-18NC BRASS BURDAY GROUNDING J - o (4)6"x1 1/2" FEET \
STUD WITH A BRONZE LOCK WASHER
TYPE K2C20, OR EQUAL
SECTIONAL - ELEVATION "B-B" COVER FOR TYPE 1812
DIMENSIONS
A B C D SCREWS
NOTES:
- 1812 12" | 18" | 16" | 22" 8
1. FOR DETAIL OF PRECAST CONCRETE TRAFFIC SIDEWALK BOX SEE DRAWING MISC-008 1.
241 8 18“ 24“ 22" 28“ 10
2. ALL SCREWS IN COVER SHALL BE 3/8" HEX. HEAD, 7/8" LONG OF STAINLESS STEEL OR MONEL.
3. LETTERING IN COVER TO BE 1/8" RAISED LETTERS IN A 1/8' RECESS.
4. FRAME AND COVER DIMENSIONS MAY VARY WITHIN NORMAL FOUNDRY TOLERANCES. REVISION DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
5. FRAME AND COVER TO BE HOT - DIPPED GALVANIZED. 34-02 QUEENS BLVD L.I.C.N.Y.11101
6.  FRAME TO BE GRAY CAST IRON, AS PER ASTM SPEC. A48-62, CLASS 30.
7. COVER TO BE CAST STEEL AS PER ASTM SPEC. A27-65, GRADE 70-40. (ALTERNATE COVER MAY 3 | 052012 | GPI| REPLICATED PRECAST CONCRETE TRAFFIC SIDEWALK BOX
BE CAST NODULAR IRON, AS PER ASTM SPEC. A536-65T, GRADE 65-45-12). NEW YORK CITY > | 41972 | B | CORRECTED NOTE NO.7
- - - 1 1211965 | JB | REDRAWIN SCALE: OLD DRAWING NO. DRAWING NO.
=== | 0 | 0319%3 | JB | CREATED (SUPERSEDES LG-74-S) AS NOTED LG-117S MISC-008 2
I W B |[\O| DATE |BY | DESCRIPTION -




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

DETAIL"C-C"

N.T.S.

SEE LUG AND BOLT DETAIL

RAISED LETTERING

BLIND PICKHOLE AI

SEE DETAIL - 1 REQUIRED

TOP OF COVER

2
A
—
] "/ \ SEE DETAIL "C-C"
AT BOTTOM OF
COVER |
SEE LUG AND
BOLT DETAIL
I
\\// 7/9”
WA

i

!

SEE BLIND PICKHOLE
DETAIL FOR DETAIL OF
POLYVINYL CHLORIDE
ONE PIECE GASKET

S G R
\ iv "
r

|

172"

SECTION AA
SCALE: 1 1/2"=1-0"

BEARING SUFACES BETWEEN FRAME
AND COVER TO BE TOOL MACHINED

172"

SEE DETAIL "R-R"

(3) 1/2"x1/4"
STAINLESS STEEL
HEX-HEAD BOLTS
REQUIRED

1 1/4" COUNTERBORE

3/4"
3/8" DEEP

|
718"

3/4"

BOLT DETAIL
SCALE: 6" = 10"

5/16" DIA GROOVE
5/32" DEEP TOOL

MACHINED
172"

el
2
-~

3/8"

11/8"

5/16" ODx3/16" |
POLYVINYL CHLORIDE
ONE PIECE GASKET

BLIND PICKHOLE DETAIL
SCALE: 6" = 10"
FOR REMOVING COVER FROM FRAME

1-10 1/2"

LUG SIZE
1"x1"x3/4" DEEP

1/2"-13
TAPERED
HOLE

!

_/

DETAIL R-R
SCALE: 1'=1'-0"

LUG DETAIL

SCALE: 6" =1'-0"

REVISION

34-02 QUEENS BLVD

DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
L.I.C.,N.Y.11101

REPLICATED IN CADD

0 | 051964 | RA | CREATED

|| 052012 [GP
[

NO| DATE |BY | DESCRIPTION

FRAME AND COVER FOR
TYPE C HANDBOX DETAIL
SCALE: | OLD DRAWING NO. DRAWING NO.
AS NOTED LG-146-S MISC-009




13 3/4"

33/4"

53/4"

3 3/4"

53/4"

NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

DIMENSION VARIES

WiV

«;\“ﬁ
N
e &
Ky
N P f
<& 7 5 2 1/2" WELD BOTH SIDE
3/8"-16 HEXAGON BOLT & NUT I “:
\ L | DIMENSION VARIES 2 <
ot \
1 L
11/16" LOCK WASHER j’( .
1" WASHER 7/16" DIA. HOLE
REVISION DEPARTMENT OF TRANSPORTATION

NOTES:

1. FINISH TO BE PAINTED, RED OXIDE ASTM A36 STEEL.

2. DIMENSIONS MAY VARY SUBSTANTIALLY TO DEAL WITH EXISTING FIELD CONDITIONS.

BUREAU OF TRAFFIC OPERATIONS

34-02 QUEENS BLVD

L.I.C.,N.Y.11101

TRAFFIC SIGNAL "J" BRACKET

1 | 052012 | GPI| REPLICATED IN CADD

SCALE:

OLD DRAWING NO.

0 N/A N/A| CREATED

NO| DATE |BY | DESCRIPTION

1-0" = 10"

MISC-010

DRAWING NO.




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

BOLT GASKET

125" THICK

.364" ID

11/2" OD

NEOPRENE

FLAME AND OIL RESISTANT
DUROMETER IS SHORE A50
TEMP RANGE IS -65 TO +260 F

GASKET
17/8" 1D
21/2" 0D
125" THICK
REVISION DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.I.C.N.Y.11101
GASKET AND BOLT GASKET DETAIL
YORK CITY
— K GPI | REPLICATED IN CADD SCALE: OLD DRAWING NO. DRAWING NO.
ﬁ N(g é‘;‘( gizg:::l)DTION 10" = 10" LB-13719S MISC-011




4120 3/4"

3/4"

1

\

L [ L L 7 7 7 7 7 7 7 7

41/2"

NN SN NN NSNS NN N NS N

3/4" DIAMETER
HOLE (TYPICAL)

N N N N N N U N N N N N

L [ L 7 7 7 7 7 7 7 7 7 7 SQUARE POLE WELDED TO

PLATE (POLE SIZE WILL VARY)

<\

3/4"

NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

6"x6"x3/8" FLANGE PLATE REVISION DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.I.C.,N.Y.11101

6" SQ. FLANGE PLATE

B 28 BB | | 052012 [GPI| REPLICATED IN CADD SCALE: | OLD DRAWING NO. DRAWING NO.
=== | 0 | 052005 | JH | CREATED P

1-0"=1-0 LB-504S MISC-012
I W B |[NO| DATE |BY | DESCRIPTION




SMOOTH RADIUS

CHIP OUT FULL DEPTH
OF THE SAW SLOT

11/2"TO0 2"

11/2°70 2 i 3/8" WIDE CUT

HOLD DOWN
PATH OF
LOOP WIRE

SMOOTH RADIUS
CHIP OUT ALL SHARP
CORNERS FULL DEPTH

SMOOTH RADIUS

11/4" 701 1/2"
DRILLED OR CORED
TO THE FULL DEPTH
OF THE SAW SLOT

3/8" SAWCUT

SMOOTH RADIUS

NOTE: PLACE THE LOOP WIRE NEAR THE
CENTER OF THE CORNER TO ALLOW THE SEALANT SEALANT TO FLOW ON BOTH SIDES OF THE
TO FLOW ON BOTH SIDES OF THE WIRE

CHIPPED OUT CORNER

HOLD DOWN

11/2"TP 2"

% NOTE: PLACE THE LOOP WIRE NEAR THE
CENTER OF THE CORNER TO ALLOW THE

WIRE
CORE CORNER

DETAIL "B" - CORNER DETAILS

SEAL THE END OF THE TUBE TO
PREVENT LOOP EMBEDDING
SEALER FROM ENTERING

3/4" FLEXIBLE TUBING

11/4" SAWCUT
3/8" SAWCUT
LOOP WIRE
= = bj
HOLD DOWN |t - HOLD DOWN
" " LOOP EMBEDDING SEALER
SAWCUT ~<— 8" —— ’<— 8

TOP VIEW

LOOP EMBEDDING SEALER PAVEMENT JOINT OR CRACK

H

B —

7772077/ &

4R\

@

AS SPECIFIED ON THE
=
z

PLANS OR AS
DIRECTED BY THE
ENGINEER

PAYMENT FOR CONDUIT INSTALLATION
UNDER CONDUIT EXCAVATION AND

BACKFILL

SEE DETAIL "C"
W PAVEMENT

T 0! T —
= Z R : F
wEMENT JOINT z s
SEE DETAIL"A" (TYP.) SEAL THE END OF TUBE = HOLD DOWN
TO PREVENT LOOP EMBEDDING y
I SEALER FROM ENTERING - SEE SECTION E-E
5 FOR SAWCUT DEPTH
=
| LENGTH =] DETAIL "A"
SIDE VIEW - CROSSING PAVEMENT
i JOINTS OR CRACKS
z
=
% 4
| SEE DETAIL "B"
f \/ SEAL SPACE
BETWEEN TUBIN
NOTE: THE NUMBER OF TURNS, LENGTH, AFTER INSTXLL”\?G
WIDTH, AND/OR SPECIAL CONFIGURATION OF THE
LOOP SHALL BE AS SPECIFIED ON THE PLANS.
6 MIN FOLLOW DETAIL A (1) CROSSING PAVEMENT
—— JOINTS (2) CROSSING OTHER CRACKS AS DIRECTED BY TUBING
THE ENGINEER
CONDUCTOR

SEALS END OF TUBING

| 1 NPS METAL STEEL CONDUIT, ZINC - PAVEMENT EDGE OR CURB

COATED, FLEXIBLE LIQUID-TIGHT STEEL

CONDUIT WILL BE PAID FOR UNDER SEPERATE ITEM

BEFORE INSULATING

—— 2' MIN ——

SHOULDER OR SIDEWALK
CONDUIT OR RIGID PLASTIC CONDUIT. ;

4" DIA. CORE OR
2" X 4" CUTOUT

uT

3/8" SAWC

TOP VIEW

SAWCUT CURB TOP OR PAVEMENT EDGE AT
3/8" WIDE BY 1/4" DEEP TO SHOW WHERE THE

CONDUIT RUNS UNDER THE CURB OR PAVEMENT
6" TO 12"

-

FILL WITH LOOP EMBEDDING SEALER

HOLD DOWN

LOOP WIRE St il

4

USE INSULATING BRUSHING,

SAWCUT CURB TOP OR PAVEMENT EDGE
3/8" WIDE X 1/4" DEEP TO SHOW WHERE THE
CONDUIT RUNS UNDER THE CURB OR
PAVEMENT PER FOOT MIN.

w
0]
2 NOTE: CURB DETAIL IS SHOWN
 BY THE DASHED LINES.
Z RUN THE CONDUIT UNDER
S THE CURB.
g 3
< WIRE HANGER
SHIELDED LEAD INTO
INSULATING CONTROLLER CABINET
BUSHING
12" MAX
SPLICE (SEE DETAIL "D")
™ MORTAR SEAL LOOP WIRE
v PULL BOX KNOCKOUT
SIDEWALK ] DETAIL "E"

NOTE: IF TOP COURSE IS MORE THAN 1 3/4" IN DEPTH THE

SEAL THE END OF THE 112" MIN (TYP) SAWCUT SHALL BE MADE AFTER THE TOP COURSE IS PLACED.
CONDUIT, AND THE HOLE HOLE TOP COURSE OR OVERLAY
THROUGH THE PAVEMENT TWIST 2 TURNS PER FT. MIN. /?,q,
TO PREVENT LOOP EMBEDDING 1 NPS MIN. METAL STEEL CONDUIT, V1o Py, LOOP EMBEDDING SEALER
SEALER FROM ENTERING. ZINC COATED, FLEXIBLE LIQUID-TIGHT STEEL {8
CONDUIT OR RIGID PLASTIC CONDUIT. WILL BE ///A 2 1/2" MAX.
PAID FOR UNDER THE APPROPRIATE COUNDUIT WILL ITEM. BASE COURSE
DETAIL "C" HOLD DOWN
SIDE VIEW - LOOP LEAD IN AT PAVEMENT EDGE 3/8" SAW CUT

WATER PROOF COATING FOLLOWED
BY THE PVC TAPE OR HEAT SHRINK
TUBING FOLLOWED BY FINAL WATER
PROOF COATING

EXTEND WATER PROOFING
AND PVC TAPE AS NEEDED
TO COVER A MINIMUM OF

1" OF THE LOOP WIRE TUBE

SAWCUT CROSS SECTION IN ASPHALT
WHERE AN OVERLAY IS BEING PLACED

3/8" SAWCUT

LOOP EMBEDDING SEALER

HOLD DOWN

NUMBER OF WIRES AS
SPECIFIED ON THE PLANS

SEE DETAIL "E"
CONDUIT AS SPECIFIED ON THE PLANS
SHIELDED LEAD IN

NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

PULL BOX AS SPECIFIED ON THE PLANS
SEE THE STANDARD SHEET ON PULL BOXES FOR INSTALLATION DETAILS

LOOP INSTALLATION DETAILS

CONDUCTOR
e — Y DRAINWIR NOTE: USE SHORT (1") PIECE OF FLEXIBLE
Z NEOPRENE RUBBER OR PLASTIC TUBING OR
\;m% — ROUND FOAM SEALER STRIPS AT 2-0" CTRS.
1 l TO HOLD LOOP WIRES IN PLACE UNTIL SEALER
™~ =TELD SETS. DO NOT USE SHARP OBJECTS TO HOLD
SHIELDED WIRES DOWN.
JACKET LEAD-IN
TWIST AND SOLDER OR CABLE SAWCUT CROSS SECTION
WATER PROCS)S;%E;RESS CRIMP CONNECTOR WATERPROOF COATING IN CONCRETE OR ASPHALT
FOLLOWED BY RUBBER TAPE
FOLLOWED BY PVC TAPE OR HEAT SHRINK TUBING SECTION E-E
DETAIL "D" (SPLICE DETAIL)
NOTE: SEE STANDARD SPECIFICATIONS FOR FURTHER DETAILS
REVISION DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.I.C.,N.Y.11101

INDUCTANCE LOOP VEHICLE DETECTOR

INSTALLATION DETAILS

NEW YORK CITY .

B 4 B | ' | 052012 [GPI| REPLICATED IN CADD SCALE: | OLD DRAWING NO. | DRAWING NO.
====== | 0 | 112008 | JT | CREATED "o g

= o = 112" =10 MISC-013
Y W B |\o| DATE | BY | DESCRIPTION




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

SENSOR CABINET 12"x10"x6" NEMA
4X NON-METALLIC MOUNT TO POLE
WITH STAINLESS STEEL BANDS.
(SEE BACK PANEL LAYOUT)

1-1/2" PIPE NIPPLE
(DRILL AND TAP POLE)

DB-9 CONNECTORS ————— |

WATER RESISTANT
CABLE FITTING

RTMS COMPOSITE CABLE

FEMALE DB-9 CONNECTOR
WITH PROTECTIVE COVER.
SEE NOTE 2

GND

27

‘

RTMS SENSOR
WITH INTERNAL
EUDO MODEM

SENSOR MOUNTING BRACKET

2C#10 WITH #8 GND
AND RS-232 CABLES
(RUN INSIDE POLE)

CONNECT TO NEUTRAL (AC-)

WATERPROOF IN-LINE FUSE HOLDER
AND 30 A FUSE (AC+). SEE NOTE 3

BOND TO EXISTING GROUND CONDUCTOR
OR ELECTRODE, OR INSTALL GROUNDING
CLAMP FOR RMC (IF REQUIRED)

COORDINATE MOUNTING HEIGHT WITH SENSOR MANUFACTURER

(APPROX. 18')

29-3"

RTMS SENSOR
WITH INTERNAL
EUDO MODEM

TO RTMS
/_H

+ -G

CONDUCTORS PART OF
RTMS COMPOSITE CABLE

TYPICAL RTMS AND CABINET INSTALLATION SHOWN ON

STREETLIGHT WITH OCTAGONAL FABRICATED STEEL POLE AND LUMINAIRE

m
['4
2
| S}
SENSOR ‘ MALE DB-9
CABINET ! CONNECTOR
1
[INE LINE NEUT] LOAD
o i _ IN OUT ouT ol o ) -
<|s © G A ) © =l 5 S GROUND LUG
| g2 N 1w = 21 a a ON PANEL/
x5 \8 3 T | o
\ < 8 Tl 6| @ DIN RAIL
i NEUT v e v
IN + - G ILINE
L |
FEMALE DB-9
CONNECTOR
TYPICAL RTMS SENSOR/SENSOR
CABINET ALIGNMENT- MIDBLOCK
LOCATION RS-232 CABLE
—— SEE NOTE 4 2C#10 #8
WIRING SEE NOTE 5 GND
SCHEMATIC —
TO POLE BASE
87/8"
T " | AL BACKPANEL
SEE NOTE 6
NOTES:
1. ACTUAL FIELD CONDITIONS WILL VARY.
35mm DIN RAIL
\ w|o]|loe|Qg 2. PROVIDE SLACK COIL TO ALLOW RS-232 CONNECTOR TO BE CONNECTED TO LAPTOP
N\ sfelc|a|a|a COMPUTER BY MAINTENANCE STAFF.
T 2 o) [a) [a) [a)] =
o s o o o o Ky
Sle|o| @ @ 3. REQUIRE 24 HR 120 VAC SERVICE AT BASE OF POLE. TO BE PROVIDED BY NYCDOT
2 (UNMETERED)
4. AT THE POLE BASE, THE RS-232 CABLE SHALL BE TERMINATED WITH A FEMALE DB-9
CONNECTOR WITH PROTECTIVE COVER.
5. CABLE IN ACCORDANCE WITH NYCDOT SPECIFICATION FOR 120V POWER SUPPLY
CABLE.
6. MOUNTED WITHIN 12"x10"x6" DP NORMAL SIZE NEMA 4x NON-METALLIC ENCLOSURE.
HOLE FOR 1 1/2" DIE CAST CHASE NIPPLE (SEE SE-009)
AND 1 1/2" DIE CAST AL. PIPE LOCKNUT (SEE BE-010)
BACK
PANEL
LAYOUT

REVISION

DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD

L.I.C.,N.Y.11101

REMOTE TRAFFIC MICROWAVE SENSOR (RTMS)
INSTALLATION DETAILS

T 1 052012 [Pl | REPLICATED IN CADD SCALE: [ OLD DRAWING NO. DRAWING NO.
0 [ 0912008 | XX | CREATED NTS. D-1 MISC.014
NO| DATE |BY| DESCRIPTION D-2




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

<4
ASTC—12 B
RACK e ; R T i
] —y- b
-~
. -
- ——— P e 3
] — =
[———
P
; 43 5"
PRSI
H = =
»
1 —_
PR
|
. .
| SRS S| | M—
I
1 o1
- .S'Z_ ..... -—
T -

VIEW "A-A"

"— QI

-
HOO0"

')

I

Ooo=Cooo

il

M e

[e]

ERONT VIEW

FAN, THERMOSTAT,
“TTAND  LIGHT

=T COMBINER
_——UPS UNIT
;,‘: ’
10,5 eATT S
55 AN
Ceeme
65" BATT am,
= 55 AM 55 AH
=
i i FIVE
_—BATTERY
i = STRINGS
10.5 o
10.5" B!-.?'I* SAIT
55 AH 55 AH
7 el i _BATTERY
............... + « ] TEIRING -5
[ N
5 AH >
i
{
______ 2 :
R - y [ J—— - 07
.l
- 24
VIEW "B-B"
REVISION DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
B - 34-02 QUEENS BLVD L.1.C.N.Y.11101
I NEMA "R" GROUND MOUNT CONTROLLER
i - _ CABINET EQUIPMENT ARRANGEMENT
NIEW JORK C-'TY SCALE: | OLD DRAWING NO DRAWING NO
===—= | 0 | 092008 |GPI| CREATED S B | -
== N.T.S. MISC-015
I W B [NO| DATE |BY | DESCRIPTION




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

20'-0" MAX.

20-2"

18'-6"

17-7 1/2"

SEE 3-D DETAIL LABELED
MONOTUBE OVERHEAD
MAST ARM BRACKET ON
THIS SHEET

6" DIA. MONOTUBE OVERHEAD MAST ARM, SCHEDULE 60

SEE "HINGED SIGN
AND ASTRO BRACKET
TABLE" THIS SHEET

2" DIA. SCHEDULE 40
HORIZONTAL
MOUNTING BAR

2l

"ASTRO BRACKET"
TYP. SEE NOTES
AND DETAIL A

P

|

A
"HINGED SIGN
BRACKET" TYP.

3'x 10' MAXIMUM SIZE
PANEL

3.0"
MAX. PANEL HEIGHT

CABLE
OUTLET

MIN. 15'-7" + FROM FINISH GRADE (WITHOUT DEFLECTION)

18"
BASE

FINISH
GRADE

"M-2A" POLE

10'-0" MAX. PANEL WIDTH

6" DIA. MONOTUBE OVERHEAD MAST ARM

ASTRO BRACKET

2" DIA. HORIZONTAL
MOUNTING BAR

HINGED SIGN BRACKET

SIGN PANEL

SECTION A-A
SIGN PANEL DETAIL

"M-2A" POLE

TOP PLATE

BOTTOM PLATE

LIP PLATE

3-D DETAIL
INNER HUB WITH POLE

2" DIA. SCHEDULE
40 HORIZONTAL
MOUNTING BAR

6" RISE OVER
20 FEET ARM LENGTH

CAP

DETAIL A
ASTRO BRACKET

HINGED SIGN AND ASTRO BRACKET TABLE (QTY. REQUIRED)
PANEL HEIGHT 3.0" MAX. HEIGHT (ALL SIGN PANELS)
PANELWIDTH | UPTO 48" | 48" To 72" | 72" To 96" | 96" TO 120"
ASTRO
BRACKETS 2 8 4 5
HINGED SIGN
BRACKETS 2 3 4 5
NOTES:

1. MAXIMUM SIGN PANEL HEIGHT IS 36".

2. ASTRO BRACKETS AND HINGED SIGN BRACKETS TO SUPPORT A
MINIMAL LOAD OF 400 POUNDS EACH, TO INCLUDE A SAFETY
FACTOR OF 2.

ASTRO BRACKET

SEE TABLE ON THIS SHEET
FOR QUANTITY REQUIRED
FOR VARIOUS SIGN SIZES

OUTER CLAMP

NOTES:

1.  HARDWARE AS PER MANUFACTURER SPECIFIED OR APPROVED

OTHER.

2. STRUCTURES SHALL BE DESIGNED IN ACCORDANCE WITH:

2.1. THE AASHTO STANDARD SPECIFICATIONS FOR HIGHWAY

BRIDGES, 17TH EDITION, 2002, INCLUDING INTERIMS.

22. AASHTO STANDARD SPECIFICATIONS FOR STRUCTURAL
SUPPORTS FOR HIGHWAY SIGNS, LUMINAIRES, AND TRAFFIC
SIGNALS, 5TH EDITION 2009.

DESIGN WIND SPEED IS 90 MPH.

MAST ARM AND ALL CONNECTIONS SHALL SUPPORT LOADS

PROVIDED IN TABLE INDICATED THIS DRAWING.

5. MAST ARM LOCATION SHALL BE DETERMINED IN THE FIELD TO
PROVIDE A ROADWAY CLEARANCE OF 15'-6" MIN. TO ALL TRAFFIC
SIGNS.

6. ASTRO BRACKETS AND HINGED SIGN CONNECTORS SHALL BE
DESIGNED FOR LOADS INDICATED ON THIS DRAWING IN TABLE
THIS DRAWING. CALCULATIONS SHALL BE PROVIDED SIGNED
AND SEALED BY A PROFESSIONAL ENGINEER LICENSED IN THE
STATE OF NEW YORK.

7. MAST ARM IS DESIGNED FOR A TOTAL SIGNAGE AREA OF 30 S.F.

SIGNS COULD BE INSTALLED AS ONE OR MULTIPLE BUT NOT TO

EXCEED MAXIMUM AREA OF 30 S.F.

ALL BOLTS SHALL BE ASTM A325

MAST ARM AND HORIZONTAL MOUNTING BAR SHALL CONFORM

TO ASTM A53, TYPE E, GRADE B. FY = 35 KSI.

10. STRUCTURAL STEEL SHALL CONFORM TO ASTM A709, GRADE 50.

11. ALL WELDING SHALL BE IN ACCORDANCE WITH NYS STEEL
CONSTRUCTION MANUAL AND AASHTO D1.5, BRIDGE WELDING
CODE.

12. ALL POLES, MAST ARMS AND CONNECTIONS SHALL BE HOT
DIPPED GALVANIZED IN ACCORDANCE WITH ASTM 123.

13. CONTRACTOR SHALL PROVIDE SHOP DRAWINGS FOR APPROVAL
PRIOR TO FABRICATION.

14. LENGTH OF MOUNTING BAR SHALL BE 10'-0" WITH ASTRO AND
HINGED BRACKETS SPACED EQUALLY ALONG MOUNTING BAR.

15. FOR SECTION "B-B", SEE DWG. 5

16. SEE NYCDOT STANDARD TRAFFIC SIGNAL DRAWINGS SHEET
[MA=007 FOR DETAILS OF "M-2A" POLE.

bl

"M-2A" POLE

MAST ARM

3-D DETAIL
MONOTUBE OVERHEAD MAST ARM BRACKET WITH POLE

REVISION DEPARTMENT OF TRANSPORTATION

BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L..C.,N.Y.11101
MONOTUBE OVERHEAD SIGN MAST ARM

NEW YORK CITY SCALE: OLD DRAWING NO DRAWING NO

=== = | 0 | 092008 |GPI| CREATED NTS. MISC-016 1
I W B |[\o| DATE |BY | DESCRIPTION -




1/2" THICK
STIFFENER
PLATE

112"
-

OUTER CLAMP CUT FROM
8" DIA. EXTRA STRONG PIPE
WITH 1/2" WALL THICKNESS

1" THICK PLATE OF INNER HUB
WIDTH VARIES AS SHOWN

7/8" DIA. BOLT (TYP.)
3"x 1/2" TAB (TYP.)

CL "M-2A" POLE

\ ’4—47 "

TOP OF EXISTING
"M-2A" POLE

CL "M-2A" POLE

CPGW
TYP.

CL MAST

ARM SPLICE

7/8" DIA. BOLT (TYP)

CL "M-2A" POLE

Va

6" DIA. MONOTUBE ‘

MAST ARM

A

!

&
=

1/2" STIFFENER
PLATES (TYP.)

1'-2 5/8"

1/4" CONNECTOR

INNER HUB ATTACHED
TO "M-2A" POLE

p

"M-2A" POLE
SPLICE

SECTION "B-B"

SEE MAST ARM

DETAIL

MONOTUBE OVERHEAD MAST ARM BRACKET

A

11"

CL
CONNECTOR
BRACKET

STIFFENER PL.

(TYP.)
1" —

3" —
1/2" FLANGED
SPLICE PLATE

BOLT CIRCLE

MAST ARM 6" DIA.

NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

\

1" THICK TC#P PLATE OF INNER HUB

1/2" THICK
STIFFENER PLATES

|-

CL MAST
ARM SPLICE

[THICK BOTTOM PLATE OF INNER HUB +

EXISTING
"M-2A" POLE

SCHEDULE 60 STEEL PIPE

70077
77

T o
|

=

/O
CPGW
Tvp.

6" DIA.
SCHEDULE 60 PIPE

MAST ARM
6" DIA.
SCHEDULE 60

1/2" THICK
STIFFENER
PLATES (TYP.)

f CL MAST ARM

PLATE

' 1/2" STIFFENER —f

PLATE (TYP) """ ARMSPLICE
< I | 4 /2 | M MAST ARM 6" DIA.
- S é, SCHEDULE 60
( ) = |
I @ =] "ﬁ - |
° ° — |
I /f P
| ) ) /1
| | Nl
| i
N . \]7_ ~
| d g qé: - HORIZONTAL
I [ |
I |
OUTER CLAMP \

1/2" THICK LIP PLATE

WELDED TO INNER HUB

BOTTOM PLATE

HORIZONTAL

— 1/2" THICK LIP WELDED TO BOTTOM PLATE OF INNER HUB

ELEVATION VIEW

MONOTUBE OVERHEAD MAST ARM BRACKET

)

77

SECTION "D-D"

MAST ARM SPLICE

(ASTM A709)

CL SPLICE

Gl

A325 BOLT (TYP.)
7/8" DIA.

TYP. 12

4

TYP.

MAST ARM
6" DIA.

*R SCHEDULE 40
CL MAST ARM

1/2" THICK STIFFENER
PLATE (TYP.)

4

MAST ARM SPLICE DETAIL

(ASTM A709)

OUTER CLAMP / SPLICE ASSEMBLY

c XH LES FOR 1/4" DIA. SELF
\_)\J OLES FOR 1/: S

TAPPING SCREWS (TYP.)

EXPLODED VIEW OF ASSEMBLY

6 1/32" TOP

INNER HUB 67/32" BOT

BOTTOM PLATE

1/4 V13/4-2

LIP CONNECTED

7 5/8" DIA.

PLATE

LIP PLATE DETAIL

INNER HUB TOP AND

TO INNER HUB
BOTTOM PLATE

BOTTOM PLATE DETAIL
(SEE NOTE 8)

(SEE NOTE 8)

ASSEMBLY PROCEDURE:

1.

2.

o~

INSTALL INNER HUB TO EXISTING "M-2A" POLE. CL OF HUB SHALL
BE AT LOCATION INDICATED ON PLANS.
FASTEN INNER HUB TO "M-2A" POLE USING SELF TAPPING
SCREWS THROUGH HOLES IN PLATES PROVIDED.

INSTALL OUTER CLAMP AROUND INNER HUB. FASTEN BY
TIGHTENING FOUR BOLTS.

INSTALL

MAST ARM AT SPLICE CONNECTION.

INSTALL SIGN MOUNTING BAR. LENGTH DETERMINED BY NYCDOT
SIGN GROUP.
INSTALL SIGNS USING APPROPRIATE NUMBER OF FASTENERS AS
SPECIFIED IN TABLE.
MAST ARM BRACKET SHALL BE FABRICATED TO ACCOMODATE A
6" RISE OVER 20 FEET OF MAST ARM LENGTH.
ALL DIMENSIONS ARE BASED ON THE ARM BRACKET INSTALLED
AT THE LOCATION ON THE NYCDOT STANDARD "M-2A" POLE AS

SHOWN ON DWG. MISC-016_]. CONTRACTOR SHALL VERIFY THE
DIMENSIONS PRIOR TO FABRICATION.

|

TAB PLATE (TYP.)

2 1/4" x 1/4" THICK
CONNECTOR PLATES
(TYP.)

o _
| aTTOP W2A"
M-2A" ——— - INNER HUB 1" TOP PLATE POLE
—~-=—— TAPPERED POLE f
‘ 7 5/8" ‘ "M-2A" POLE —
‘ SreneTEe Il 4" CONNECTOR PLATE ;m%’
1/4"
- ! l |=—— TOPPL. ,ﬂ/ OUTER CLAMP INNER
“ / HUB
X 0
;\o ] o " YP. I’ 46 1732 TOP~ OUTER CLAMP
2 L 6 7/32" BOT
< 1" @ OVERHANG
_ WV—Q o BEYOND OUTER CLAMP 7 5/8" DIA.
11721 ’ INNER HUB 1" = =
EE—— OTTO : L CONT.
o Ny — <Yp, soTIouFL " s SECTION "C-C" (TOP)
/| —— &2 SECTION "E-E" (BOT)
" BOT. PL. ;
S ‘ Pl R INNER HUB DETAIL
L ]
" \ LIP PLATE u
. Y8 SECTION "F-F"
o |
- REVISION DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
INNER HUB DETAIL 34-02 QUEENS BLVD L.I.C.,N.Y.11101
SECTION "X-X" (HALF CONNECTOR)
(OUTER CLAMP NOT SHOWN FOR CLARITY) MONOTUBE OVERHEAD SIGN MAST ARM
NEW YORK CITY
SCALE: OLD DRAWING NO. DRAWING NO.
T W
=== |0 |092008 |cPI|CREATED " g y
I W B [\O| DATE |BY | DESCRIPTION 11/2=1-0 MISC-016_2




120"
[ ]
[

NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

- | ACCESS
POINT
12' IF SENSOR
IS REQUIRED 12'-0" 3-0" =o|
—_— > o o
«@ ~
7
\_/ o
€ [ [ u
8 TO 12' IF SENSOR
IS REQUIRED
8' TO 12' IF SENSOR 12' IF SENSOR
[ ] [ ] IS REQUIRED 12'-0" IS REQUIRED ] ]
~—— - — —
\ \\/ - N /M / ‘ MIN. 16' 120"
12'-0" LATCHING OPTION /( 5 ‘ \ ‘/
—ent — ?'I'J
REPEATER REPEATER REPEATER
|
=
| N
ADVANCED DETECTION OPTION -
- Y
NON-LATCHING OPTION
NOTES:
1. ACCESS POINTS AND REPEATERS SHOULD BE MOUNTED NO HIGHER THAN 20 FEET OFF THE GROUND.
2. ACCESS POINTS AND REPEATERS SHOULD BE WITHIN 150 FEET OF WIRELESS SENSORS.
3. WHEN ACCES POINTS AND REPEATERS ARE USED IN FACE-TO-FACE CONFIGURATION, DISTANCES AMONG THEM SHOULD NOT BE OVER 1,000 FEET.
4. WHEN ACCESS POINTS AND REPEATERS ARE USED IN BACK-TO-BACK CONFIGURATION, DISTANCES AMONG THEM SHOULD NOT BE OVER 400 FEET.
REVISION DEPARTMENT OF TRANSPORTATION
5. CABLE CONNECTION BETWEEN TRAFFIC SIGNAL CONTROLLER AND ACCESS POINT SHOULD NOT BE LONGER THAN 300 FEET. BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.I.C.,N.Y.11101

WIRELESS SENSOR EQUIPMENT LAYOUT

SCALE: OLD DRAWING NO. DRAWING NO.

B 4 B | | 052013 |GPI | REPLICATED IN CADD

E==== |0 |052013 |DR | CREATED -
I W B [\O| DATE [BY [ DESCRIPTION NTS. mseom




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

TRENCH WIDTH

CURB
FACE 4" MINIMUM EXISTING ASPHALT
WEARING AND/OR BINDER COURSE
LSS
LN N N/N/NAN/NAN

NOTES:

FULL DEPTH

NEW 3200 PSI CONCRETE

X

? 6" (OR VARIES) EXISTING

CONCRETE BASE

<
=

| ™~ FULL DEPTH CONCRETE
(SEE NOTE 2)

COMPACT FILL

TO -

(SEE NOTE 1)

PIPE /

METHOD OF BACKFILL FOR
NON-PROTECTED STREETS

(FORMER DWG LB113238S)

1.  COMPACTED CLEAN GRANULAR (SAND) FILL TO BE A MAXIMUM OF 6" ABOVE TOP OF PIPE.

6" (LL-14 STREETS ONLY)

TRENCH WIDTH + 12"

REFLECTIVE CRACKING MEMBRANE
(TYP) LL-14 STREETS ONLY

TRENCH WIDTH

SAW CUT FULL
DEPTH (TYP)

EXPOSED CONCRETE EDGES EPOXY

COATED JUST PRIOR TO CONCRETING

ON LL-14 STREETS ONLY

NEW 320

!

FULLDEPTH
PSI CONCRETE

-

CONCRETE BASE

' MAK

|

6|

L

|~ FULL DEPTH CONCRETE
(SEE NOTE 2)

COMPACT FILL

(SEE NOTE 1)

PIPE

METHOD OF BACKFILL FOR VERMEER WHEEL CUT

FOR LL-14 & GUARANTEED STREETS

(FORMER DWG LB-113968S)

2. FULL DEPTH "ZERO SLUMP" OR VERY DRY CONCRETE TO BE 3200 PSI TEST CONCRETE TO BE INSTALLED TO A HEIGHT OF MINIMUM OF 4" BELOW THE TOP OF EXISTING ASPHALT BASE.

3. CONCRETE TO BE MIXED ON SITE BY AN APPROVED PORTABLE MIXER OR AS APPROVED BY THE ENGINEER.

4. PRIOR TO CONSTRUCTION, THE CONTRACTOR MUST SUBMIT HIS MIX OF MATERIALS IN EASILY AND IDENTIFIABLE VOLUMETRIC OR WEIGHT MEASURES AND AN ACCEPTABLE
CERTIFICATION CONFIRMING THIS MIX IS 3200 PSI TEST CONCRETE.

5. ALAYOUT OF BOTH, THE VERMEER WHEEL CUT AND 6" CUTBACK WILL BE MADE IN THE STREET UTILIZING STRAIGHT EDGES OR STRING CHUCK LINES IN GENERAL PARALLEL TO THE
CENTER LINE OR CURB LINE OF THE STREET. ANY BENDS MUST BE SQUARED OFF ON THE OUTSIDE OF THE BEND AND CUT STRAIGHT ON THE INSIDE, SO AS CREATE A TRIANGLE OR

SQUARE RESTORATION.

6" (OR VARIES) EXISTING

4" MINIMUM EXISTING ASPHALT
WEARING AND/OR BINDER COURSE

A

TRENCH WIDTH + 12"

!

6" (LL-14 STREETS ONLY)

CURB

TRENCH WIDTH

FACE | (.

|t SAW CUT FULL
—~—

DEPTH (TYP)

REFLECTIVE CRACKING MEMBRANE
(TYP) LL-14 STREETS ONLY

4" MINIMUM EXISTING ASPHALT
WEARING AND/OR BINDER COURSE

V/// /L

CHISEL CUT TO SOUND CONCRETE ON
LL-14 STREETS ONLY.

EXPOSED CONCRETE EDGES EPOXY
COATED JUST PRIOR TO CONCRETING
ON LL-14 STREETS ONLY

FULL DEPTH
NEW 3230 PSI CONCRETE

!

PIPE

N e

6" (OR VARIES) EXISTING
CONCRETE BASE

| ™ FULL DEPTH CONCRETE

(SEE NOTE 2)

COMPACT FILL
(SEE NOTE 1)

METHOD OF BACKFILL FOR CHESEL CUT

FOR LL-14 & GUARANTEED STREETS

(FORMER DWG LB-11322S)

REVISION

DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD

L.I.C.,N.Y.11101

1 | 0772013 | DR | REPLICATED IN CADD BACKFILLING
NEW YORK CITY 0 | 0311990 | GL | LB-11322S CREATED
B 8 BB | 0 | 071951 | GL| LB-113965 CREATED SCALE: | OLD DRAWING NO. DRAWING NO.
=== | 0 | 031990 | GL | LB-11323S CREATED NTS. LB-11323S MISC.018
I W’ B |[No| DATE [BY | DESCRIPTION LB-11396S, LS11322S




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

EXCAVATED
AREA

—_———®

8' CURB LINE

ONE QUADRANT

8' CURB LINE RESTORATION AREA

8' CURB LINE

8' CURB LINE

ONE QUADRANT

NOTES:

1. NORMAL LOCAL LAW 14 (LL-14) CUTBACKS ON THE BASE.

2. FULL CORNER QUADRANT RESTORATION FOR ALL QUADRANTS THAT WERE EXCAVATED

8' CURB LINE

8' CURB LINE

EXCAVATED
AREA

_———— 0

TWO QUADRANTS

RESTORATION AREA

8' CURB LINE

8' CURB LINE

TWO QUARDANTS
REVISION DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.I.C.N.Y.11101
RESTORATION AREAS OUTSIDE
PROLONGATED 8' CURB LANE
-NEW YO-RK CITY SCALE: OLD DRAWING NO DRAWING NO
== ! 0 | 07/2013 | DR | CREATED . . .
= = N.T.S. MISC-019
I W’ B |[No| DATE [BY | DESCRIPTION




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

TRAFFIC SIGNAL ON "M-2A" POLE TRAFFIC SIGNAL ON "M-2A" COMBO POLE TRAFFIC SIGNAL ON "M-2A" COMBO POLE DOUBLE ARM TRAFFIC SIGNALS ON "M-2A" POLE

WITH 15-1/2" SHAFT EXTENSION WITH 180° TWIN ARM TYPE 7' SHAFT EXTENSION
REVISION DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.I.C.N.Y.11101
SIGNALS ON "M-2A" POLES
NEW YORK CITY .
BB <8 BB | | 057075 [GPI| RePLICATED IN CADD SCALE: OLD DRAWING NO. DRAWING NO.
_= 0 | 052013 | DR | CREATED NTS. A1-001
I W B |[\O| DATE |BY | DESCRIPTION




L.I.C.,N.Y.11101
DRAWING NO.
Al-002

DECORATIVE "M-2A" POLE
OLD DRAWING NO.

DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS

34-02 QUEENS BLVD

SCALE:
N.T.S

REVISION
REPLICATED IN CADD

DR | CREATED

05/2013 | GPI
05/2013

1
0
NO| DATE |BY | DESCRIPTION

NEW YORK CITY
A
W

2A" POLE DETAILS

DECORATIVE "M

€102 JoqWaAON ‘SONIMYHA AYVANVLS TVNDIS Jl44vd L LOADAN




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

TIE ROD ELBOW
Yy E—

CONCENTRIC LINK "K2A"

SIGNAL WEATHERHEAD
= LA

SIGNAL SUSPENSION ASSEMBLY

"TWO-WAY" SPIDER ASSEMBLY "THREE-WAY" SPIDER ASSEMBLY "FOUR-WAY" SPIDER ASSEMBLY
- 4
SIGNAL WEATHERHEAD "L2A" CONCENTRIC LINK "K2A" TIE ROD ELBOW "J2A"
REVISION DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.I.C.N.Y.11101
"TWO-WAY" SIGNAL HEAD TIE "THREE-WAY" SIGNAL HEAD TIE "FOUR-WAY" SIGNAL HEAD TIE ARTICULATED MAST ARM SIGNAL INSTALLATION
(SPIDER ASSEMBLIES)

NEW YORK CITY .
BB <8 BB | | 057075 [GPI| RePLICATED IN CADD SCALE: OLD DRAWING NO. DRAWING NO.
_= 0 | 052013 | DR | CREATED NTS. AI-003
I W B |[\O| DATE |BY | DESCRIPTION




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

RIDGID MAST ARM TRAFFIC SIGNAL INSTALLATION RIDGID MAST ARM "ONE-WAY" ASSEMBLY RIDGID MAST ARM "TWO-WAY" ASSEMBLY RIDGID MAST ARM TRAFFIC SIGNAL INSTALLATION
FRONT VIEW BACK VIEW

MAST ARM CLAMP

BACK VIEW
MOUNTING ARMS FOR TRAFFIC SIGNALS
REVISION DEPARTMENT OF TRANSPORTATION
MAST ARM CLAMP BUREAU OF TRAFFIC OPERATIONS
FRONT VIEW 34-02 QUEENS BLVD L..C.,N.Y.11101
RIGID MAST ARM SIGNAL INSTALLATION
NEW YORK CITY -
BB <8 BB | | 057075 [GPI| RePLICATED IN CADD SCALE: OLD DRAWING NO. DRAWING NO.
=== | 0 | 052013 | DR| CREATED NTS. A1-004
I W B |[\O| DATE |BY | DESCRIPTION




TRAFFIC AND PEDESTRIAN SIGNALS ON "S-14A" POLE TRAFFIC SIGNAL ON "S-1a" POLE

NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

SLIPFITTER POLE SIGNAL MOUNTING ASSEMBLY "3SPA"

CLOSURE CAPS

DEPARTMENT OF TRANSPORTATION

BUREAU OF TRAFFIC OPERATIONS

-, A R e
!
L‘e. SERRATED TEE CHASE NIPPLE
o %——/;
REVISION
SLIPFITTER "1SA" SLIPFITTER "4SPA"

34-02 QUEENS BLVD L.I.C.,N.Y.11101

SIGNALS ON "S-1a" POLES

NEW YORK CITY

B o8 B | | 052073 [ GPI| REPLICATED IN CAGD SCALE: | OLD DRAWING NO. DRAWING NO.
=== | 0 | 052013 | DR | CREATED NTS. 005
I W B |[\O| DATE |BY | DESCRIPTION




MAST ARM TRAFFIC
SIGNAL HEAD "R2"

"MAW-15" SIGNAL SUSPENSION ASSEMBLY

"MAW-15" ASSEMBLY

SIGNAL WEATHERHEAD "L2A"

"WP" ASSEMBLY

WOOD POLE BRACKET "WP"

REVISION

CONCENTRIC LINK "K2A"

MAST ARM TRAFFIC SIGNAL HEAD "R2"

NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS

34-02 QUEENS BLVD L..C.N.Y.11101
SIGNALS ON WOOD POLES

052013 |GPI | REPLICATED IN CADD SCALE: | OLD DRAWING NO. DRAWING NO.

05/2013 | DR | CREATED NTS. AI-006

DATE | BY | DESCRIPTION




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

o
i SERRATED TEE CLOSURE CAP
LAWTON HUB

- _’____5_-—*0.____‘“ =
X

120° "Y" FITTING

&

r‘f»~7/

WOOD POLE BRACKETS "WP"

,f_ "WB-2P" ASSEMBLY
09—

PEDESTRIAN SIGNALS ON WOOD POLE

PEDESTRIAN SIGNAL MOUNTING ASSEMBLY "VB-2P"

REVISION DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.I.C.N.Y.11101
PEDESTRIAN COUNTDOWN SIGNAL
PEDESTRIAN SIGNALS

NEW YORK CITY .
BB <8 BB | | 057075 [GPI| RePLICATED IN CADD SCALE: OLD DRAWING NO. DRAWING NO.
_= 0 | 052013 | DR | CREATED NTS. A007
I W B |[\O| DATE |BY | DESCRIPTION




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

APS ON TYPICAL METAL POLE APS ON TYPICAL WOOD POLE APS ON TYPICAL "APS POLE" APS ON CONTROLLER CABINER

REVISION DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.I.C.N.Y.11101

ACCESSIBLE PEDESTRIAN SIGNALS

NEW YORK CITY

B o8 B | | 052073 [ GPI| REPLICATED IN CAGD SCALE: | OLD DRAWING NO. DRAWING NO.
=== | 0 | 052013 | DR | CREATED NTS. A1008
I W B |[\O| DATE |BY | DESCRIPTION




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

OVERHEAD SIGN ON "GCP" POLE OVERHEAD SIGN ON "M-2A" COMBO POLE

REVISION DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.I.C.N.Y.11101

OVERHEAD SIGN INSTALLATION EQUIPMENT

NEW YORK CITY

B o8 B | | 052073 [ GPI| REPLICATED IN CAGD SCALE: | OLD DRAWING NO. DRAWING NO.
=== | 0 | 052013 | DR | CREATED NTS. AI009
I W B |[\O| DATE |BY | DESCRIPTION




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

REVISION DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.I.C.N.Y.11101
SPEED SIGN UNIT

NEW YORK CITY -
BB <8 BB | | 057075 [GPI| RePLICATED IN CADD SCALE: OLD DRAWING NO. DRAWING NO.
_= 0 | 052013 | DR | CREATED NTS. A010
I W B |[\O| DATE |BY | DESCRIPTION




NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

R

1. SENSOR AND SHELL ASSEMBLY 2. ADJUSTING SENSOR INSTALLATION HIGHT 4. INITIAL EPOXY APPLICATION

5. PLACING THE SENSOR 6. FILLING SENSOR HOLE WITH EPOXY 7. FILLING SENSOR HOLE WITH EPOXY 8. INSTALLED SENSOR
UNTIL LEVELED WITH ROAD SURFACE

WIRELESS SENSOR INSTALLATION PROCEDURE

/ Chisel Cuts

I
1. ORIENTATION OF CHISEL CUTS TO 3. PRYING UPWARD TO LOOSEN SENSOR SHELL TOP 4, REMOVING SENSOR SHELL TOP
SENSOR
REVISION DEPARTMENT OF TRANSPORTATION
5. REMOVING SENSOR 6. REMOVED SENSOR BUREAU OF TRAFFIC OPERATIONS
34-02 QUEENS BLVD L.I.C.N.Y.11101
WIRELESS SENSOR REMOVAL PROCEDURE
WIRELESS SENSOR

NEW YORK CITY .
B 28 B | ' | 057075 | GPI| REPLICATED IN CADD SCALE: OLD DRAWING NO. DRAWING NO.
=== | 0 | 052013 | DR| CREATED NTS. AO1
I W B |[\O| DATE |BY | DESCRIPTION




SERRATED TEE CLOSURE CAP

LAWTON HUB

FLASHING SIGNAL MOUNTING ASSEMBLY

REVISION

DEPARTMENT OF TRANSPORTATION
BUREAU OF TRAFFIC OPERATIONS

NYCDOT TRAFFIC SIGNAL STANDARD DRAWINGS, November 2013

34-02 QUEENS BLVD L..C.,N.Y.11101
SCHOOL ZONE FLASHER
INSTALLATION EQUIPMENT
NEW YORK CITY
B 28 BB | | 052073 [GPI| REPLICATED IN CADD SCALE: | OLD DRAWING NO. DRAWING NO.
=== | 0 | 052013 | DR | CREATED NTS. ALO12
I W B |[NO| DATE |BY | DESCRIPTION




	NYC COVER SHEET
	INDEX SHEET 1 OF 2
	INDEX SHEET 2 OF 2
	STDDET_FOUNDATION
	F-001-Typical Foundations "S-14A", "S" & "T" for "S-14A", "S-1a" and "T-1" Poles
	F-002-Footing Details for Types "M-2A" and "S-14A" Poles
	F-003-Foundation for Ground Mount Controller Cabinet
	F-004-18" & 21" Square Precast Slabs
	F-005-"M-2" Foundation With 32" Dia. X 9" High Steel Cylinder
	F-006-Detail of Standard 2" Pipe Conduit Bend
	F-007-Standard Anchor Bolt Assemblies "B", "C" and "D"
	F-008-Foundation Grounding Detail
	F-009-Conduit Installation at "EL" Column
	F-010-Coastal Storm Foundation
	F-011-Accessible Pedestrian Signal (APS) Foundation
	F-012-NYSDOT Region 10 Traffic Signal Pole Foundation

	STDDET_POLES
	P-001_1-"M-2A" Pole With Cast Iron Casting & 20' Traffic Signal Mast Arm
	P-001_2-"M-2A" Pole With Cast Iron Casting & 20' Traffic Signal Mast Arm
	P-002-NYC Traffic Signal Pole "S-1a"
	P-003-7' Shaft Extension for "M-2A" Pole, Single & Twin Types
	P-004-15 1/2" Shaft Extension for "M-2A" Pole
	P-005-Mounting ASTC Cabinet on Traffic Signal Pole
	P-006-Controlling Cabinet Mounting Bands for "M-2A" Pole
	P-007-Controlling Cabinet Mounting Bands for "S-1a" Pole
	P-008-Type "B" Modified Pole
	P-009_1-Shoe Base for Type 10 Lamp Pole
	P-009_2-Transformer Base for Type 10 Lamp Pole
	P-009_3-Details for Shoe and Transformer Base for Type 10 Lamp Pole
	P-010-"S-14A" Shaft and Transformer Base
	P-011-Alliance Downtown New York (ADNY) Street Light/Traffic Signal Poles Type "P" & "S"
	P-012-DAVIT SHAFT EXTENSION FOR "M-2A" POLE
	P-013-NYSDOT Region 10 Traffic Signal Pole

	STDDET_MAST ARM
	MA-001-"M-2A" Pole & 20' Traffic Signal Mast Arm Arrangement Drawing
	MA-002_1-"M-2A" Pole & 20' Traffic Signal Mast Arm Assembly Drawing
	MA-002_2-"M-2A" Pole & 20' Traffic Signal Mast Arm Assembly Drawing
	MA-003-"M-2A" Pole & 20' Traffic Signal Mast Arm Details of Parts "A2", "B2", "C2", "D2", "F2A", "H2"
	MA-004_1-Traffic Signal Mast Arm Tie Rod Elbow & Signal Suspension Casting Detail - Assembly
	MA-004_2-Traffic Signal Mast Arm Tie Rod Elbow & Signal Suspension Casting Detail - "J2A" & "K2A"
	MA-004_3-Traffic Signal Mast Arm Tie Rod Elbow & Signal Suspension Casting Detail - "L2A"
	MA-005-5' Extension for 20' Traffic Signal Mast Arm
	MA-006-Traffic Signal Mast Arm for Wood Pole "MAW-15" Assembly
	MA-007-Mast Arm Traffic Signal Head "R2" & Concentric Link "K2A" Assembly
	MA-008-"M-2A" Pole Transformer Base Detail
	MA-009-"M-2A" Pole Anchor Base - Bolt Covering & Spring Nuts Detail

	STDDET_SIGNAL EQUIPMENT
	SE-001-Vehicle & Pedestrian Signals Mounted on Poles
	SE-002-8" & 12" Vehicle Signals
	SE-003-16"x16" Pedestrian Signals
	SE-004_1-Mast Arm Traffic Signal Mounting Assemblies "1MS", "2MS", "3MS", "4MS"
	SE-004_2-Mast Arm Traffic Signal Mounting Assembly "1MS" - Detail
	SE-004_3-Mast Arm Traffic Signal Mounting Assembly "2MS" - Detail
	SE-004_4-Mast Arm Traffic Signal Mounting Assembly "3MS" - Detail
	SE-004_5-Mast Arm Traffic Signal Mounting Assembly "4MS" - Detail
	SE-004_6-Mast Arm Traffic Signal Mounting Assemblies "E5MS", "E6MS"
	SE-005-Junction Boxes for Mast Arm Spider Assemblies
	SE-006_1-Serrated Connection for Signal Section Top
	SE-006_2-Serrated Connection for Signal Section Bottom
	SE-007_1-1 1/2" Die Cast Alum. Serrated Tee Detail
	SE-007_2-1 1/2" Die Cast Alum. Serrated Tee Detail Two Serrated Bosses
	SE-008-1 1/2" Die Cast Serrated Locking Ring Detail
	SE-009-1 1/2" Die Cast Chase Nipples Detail
	SE-010-1 1/2" Die Cast Aluminum Pipe Locknut
	SE-011-1 1/2" Closure Caps Detail
	SE-012-1 1/2" Pipe Nipples
	SE-013_1-Signal Head Ties for Assemblies “SP”, “SPA”, “MS”
	SE-013_2-Extended Signal Head Ties for Assemblies "E2MS”, “E3MS”, “E4MS”, “E5MS”, “E6MS”
	SE-014_1-Slipfitter Pole Signal Mounting Assemblies “1SA”, “2SPA”, “3SPA”, “4SPA”
	SE-014_2-Slipfitter Pole Signal Mounting Assembly “1SA”
	SE-014_3-Slipfitter Pole Signal Mounting Assembly “2SPA”
	SE-014_4-Slipfitter Pole Signal Mounting Assembly “3SPA”
	SE-014_5-Slipfitter Pole Signal Mounting Assembly “4SPA”
	SE-015-Die Cast Slipfitter “1SA” for Pole Mounted Traffic Signal Head
	SE-016-Die Cast Slipfitter “4S” for Pole Mounted Traffic Signal Assemblies “SPA”
	SE-017_1-Bracket Mounting Assembly for Vehicle Signals “VB”
	SE-017_2-Bracket Mounting Assembly for Vehicle Signals “2VB”
	SE-018-Lawton Hub Assembly Detail
	SE-019_1-Bracket Mounting Assembly for Vehicle Signals on Wood Poles “WP”
	SE-019_2-Bracket Mounting Assembly for Vehicle Signals on Wood Poles “2WP”
	SE-019_3-Pole Connections for Wood Pole Brackets “WP”
	SE-020-120 Degree Slip "Y" Fitting
	SE-021_1-Pedestrian Signal Mounting Assembly “VB-P”
	SE-021_2-Pedestrian Signal Mounting Assembly “VB-2P”
	SE-022-Tunnel Signal Head Visors
	SE-023_1-Louvers - 3 Degrees
	SE-023_2-Louvers - 7 Degrees
	SE-023_3-Louvers - 14 Degrees
	SE-023_4-Louvers - Geometrically Programmable
	SE-024-Mid-Mast Arm Traffic Signal Mounting Assembly
	SE-025_1-Accessible Pedestrian Signal (APS) Unit
	SE-025_2-Accessible Pedestrian Signal (APS) Mounting Information
	SE-026-Cord End Connector
	SE-027-Accessible Pedestrian Signal (APS) Pole
	SE-028-Bicycle Symbol for 12" Traffic Signal Cover
	SE-029_1-Bracket Mounting Assembly for Pedestrian Signals on Wood Poles “WB-P”
	SE-029_2-Bracket Mounting Assembly for Pedestrian Signals on Wood Poles “WB-2P”

	STDDET_MISCELLANEOUS
	MISC-001_1-Temporary Traffic Signal Concrete Pylon
	MISC-001_2-Temporary Traffic Signal Wooden Pylon
	MISC-002_1-Speed Sign Unit Only for American Signal Speed Sign
	MISC-002_2-Speed Sign Unit for Speed Check Displays
	MISC-003_1-School Zone Flasher Assembly
	MISC-003_2-School Zone Flasher on Mast Arm
	MISC-004-Overhead Sign for "M-2A" Pole
	MISC-005_1-Traffic Signals on “EL” Column
	MISC-005_2-Traffic Signals on “EL” Column Detail of Mounting Bracket
	MISC-006-Push Button Pole Mount
	MISC-007_1-CCTV EQUIPMENT MOUNTING DETAIL
	MISC-007_2-CCTV Cabinet Wiring and Service Panel Detail
	MISC-008_1-Precast Concrete Traffic Sidewalk Box
	MISC-008_2-Precast Concrete Traffic Sidewalk Box
	MISC-009-Frame and Cover for Type C Handbox Detail
	MISC-010-Traffic Signal "J" Bracket
	MISC-011-Gasket and Bolt Gasket Detail
	MISC-012-6" SQ. Flange Plate
	MISC-013-Inductance Loop Vehicle Detector Installation Details
	MISC-014-Remote Traffic Microwave Sensor (RTMS) Installation Details
	MISC-015-NEMA “R” Ground Mount Controller Cabinet Equipment Arrangement
	MISC-016_1-Monotube Overhead Sign Mast Arm
	MISC-016_2-Monotube Overhead Sign Mast Arm
	MISC-017-WIRELESS SENSOR EQUIPMENT LAYOUT
	MISC-018-BACKFILLING
	MISC-019-RESTORATION AREAS OUTSIDE PROLONGATED 8' CURB LANE

	STDDET_ADDITIONAL INFORMATION
	AI-001-SIGNALS ON "M-2A" POLES
	AI-002-DECORATIVE "M-2A" POLE
	AI-003-ARTICULATED MAST ARM SIGNAL INSTALLATION (SPIDER ASSEMBLIES)
	AI-004- RIGID MAST ARM SIGNAL INSTALLATION
	AI-005-SIGNALS ON "S-1a" POLES
	AI-006-SIGNALS ON WOOD POLES
	AI-007-PEDESTRIAN SIGNALS
	AI-008-ACCESSIBLE PEDESTRIAN SIGNALS
	AI-009-OVERHEAD SIGN INSTALLATION EQUIPMENT
	AI-010-SPEED SIGN UNIT
	AI-011-WIRELESS SENSOR
	AI-012-SCHOOL ZONE FLASHER INSTALLATION EQUIPMENT




